Lexington-Fayette Urban County &

lLexington, kenlucky
Horse Capital of the \World

Division of Central Purchasing Lit

INVITATION TO BID #167-2015

Refuse Truck Body Parts
Bid Opening Date: MNovember 19, 2015 Bid Opening
Address: 200 East Main Street, 3" Floor, Room 33B, Lexinaton, {entucky 10507
Type of Bid: Price Contract
Pre bid Meeting.  N/A Pre fud T
Address: MNA

Sdled Lrls wit be recewed In the office of tha Division of Central Furchaslrg, 200 East Mam Strest, (oo o

nrevaning Inca bme o 11/19/2015. Bids must ne reeived by the above-menticned date ano bme Ma

Division of Central Purchasing
200 East Main Street, Room 338
Lexington, KY 40507, (859) 258-3320

The: | exington-Fayette Urban County Gavemment assumes 1o responsiility for L.ds that are noi add:

abeve  Bids that are not delivered to the Division of Central Purchasing by the stated tyme and dots
must e stred and have the company name and address, bid invitabior number. and the name f the bid 1

Juds arc to include all shipping costs to the point of delivery located at: 659 Bvrd Thurman Drve Lewngtar

- Py

il h‘-\_ _'e,-i .J. FRTS

o

3l Secunly Reguired: ——_Yes X Nu Gaslyer Chedk, Certified Check, 5i¢ Bund (-vrara “ect
rerformance SBond Required: _ Yes X No
: Pronassg pelveny;
__)S_Bid Speciications Mot __Exceptions to Bid Speaficabons.  Exceptons sagl fe demize ane. fhis
_____ R Aftd e o lud L it
Procurement Card Usage—The Lexingten-Fayette Lirban County Government may be using Procurerr-=10 .
and sarvices and also to make payments. Will you aceept Procyremment ©ards” - X
submitted by:J, EDINGER & SON, INC.
Firm Name
1010 STORY AVE.
Addrass
- LOUISVILLE, KY 40206
Cirv, Sterre & Jar
Z/z_——-—‘""’_“ -
Bid must be signed: PRESIDENT
(original sgnature) Signature of Authorized Company Reprasentative - i

CHARLES R. EDINGER, IIf
Regresentative’s Name (Tvped or prnted)

502-584-3524 502-584-7067

Arez Code - Phone - txtension Fax =
charlesedinger.3@gmail.com
E-Maif Address

Panne 1 of 1}



The Affidavit in this bid must be completed before your firm can be considered for ar..»

AFFIDAVIT
Comes the Affan, CHARLES R. EDINGER, Il

anrl after being e - S v
perjury as follows:

1 Histher name rs CHARLESR_'E_DINGEB’_I“

i and he;she i the indwidual pnoott

authorized representative of __..!_E_D|NGER %SON, !NC.

the entity submitting the bil (hereinafler referred o as "Bidder”

< Biader will pay all taxes and fees, which are owed to the Lexington Fayette Urban <ount- i i 5
bid 15 submitted, prior to award of the contract and will maintair a "<urrent” statue in s 3
during the life of the contract.

3. Bidder will obtain a Lexington-Fayette Urban County Government business license, i apri ahi s

contract.

4 Bidder has authorized the Division of Central Purchasing to venly the gbove-mentioned it + i
Revenue and to disciose to the Urban County Council Lhal taxes and/ar foes are debngquen: o
not beer obtained.

% Bidder has not knowingly violated any provision of the campaign finance laws of the Come o i1« -,
the past five (5) yrars and the award of a contract to the Bidder will not violate any pros 1 e
laws of the Commonwealth,

6. Bidder has not knowingly violated any provision of Chapler 25 of the Lexington-Fayette Urbo e Lt
of Ordinances, known as “Ethics Act.”

7. Bidder acknowledges that "knowingly” for purposes of this Affidavil means, with respect I~ 1 . e bane Ao
described by a statute or ordinance defining an offense, that a percon 1s aware or shouic [ cortg o thag
conduct 15 of that nature or that the circumstance exists. &4 /?fﬂ

—Zm——
Further, Alfiant sayeth naught. MES_ R. EDJNGER, I
STATE OF _\/\“e \A.)‘ Uc.k’gz‘ )
\
COUNTY OF S e%f\r S0 ann

s,
o E ”,,
&S 950y, s,
..?\ %." "-.\O ’,‘
IR

by e\ R E A L JXNS

o Now 2015,

******

My Commussion expires:

NOTARY PUBLIC, STATE AT LARG

Please refer to Section II. Bid Conditions, Item "U" prior fo . umeis. s iprm,

Paye 2 of 1:



I. GREEN PROCUREMENT
A, ENERGY

The Lexington-Fayette Urban County Government 1s committed to protecting our o ! il
responsible o our citizens.

The Lexington-Fayette Urban County Government mandates the use of Energy star  n : u
are available in the marketplace (go to www.Enerqgystar.gov) I these produ ' : o
submitted in your priclng, your bid will be rejected as non-compliant

ENERGY STAR is a government program that offers businesses and consumer: =, o i mhatiEn
making it easy to save money while protecting the environment for future generatior
Key Benefits

These products use 25 to 50% less energy

Reduced energy costs without compramising quality or performance
Reduced air pollution because fewer fossil fuels are burned
Significant return on investment

Extended product life and decreased maintenance

B. GREEN SEAL CERTIFIED PRODUCTS

The Lexington-Fayette Urban County Government is also committed to using other o v ma - e
products that do not negatively impact our enviionment. Green Seal 1s 38 non-pres o Ve
environmental standard setting, product certification, and public education.

Go to www.Greenseal.org to find available certified products. These produdts will five- b b i
the environment and on human health. The products to be used must be pre approvec by v . [ ooier
commencement of any work in any LFUCG facility. If a Groen Seal product 1§ not availabie t FUCC ayget
prowvide a signed waiver to use an alternate product. Please provide information nr 10 oo Al nruc

being used with your bid response.
C. GREEN COMMUNITY

The Lexington-Fayette Urban County Government (LFUCG) serves as a principz!. alone with the
University of Kentucky and Fayette County Public Schools, in the Bluegrass Partnership (or a Green
Community. The Purchasing Team companent of the Partnership collaberates un cconemy of scale
purchasing that promotes and enhances environmental initiatives. Specifically. «+her applicable,
each principal is interested in obtaining best value products and/or ser:ice: hich promaote
environment initiatives via solicitations and awards from the other principals.

If your company is the successful bidder on this Invitation For Bid, do you agrec i+ exiend the
same product/service pricing to the other principals of the Bluegrass Partne:_hip ini 2 Green
Community (i.e. University of Kentucky and Fayette County Schools) if requested’

Yes X No

Hage 3of 11



II. Bid

A

B

ition
No tid may be withdrawn for a peniod ot sixty (60) days after the date and time ==

No tid may be altered after the date and lime sel for opening  In Lhe case oi b
Central Purchasing may permit the withdrawal of a bid. The dedision as 1o whe:’
shall be that of the Division of Central Purchasing.

Acceptance of this proposal shall be enactment of an (rdinan-a by the Uroan ¢ .

The bidder agrees that the Urban County Government reserves the nght to ro:
fiscal or technical reasons, and to award each part of the bid separately rr 3ll nart:

Minar exceptions may not eliminate the hidder  The decicion as to whether <y
entirely that of the head of the requisitioning Department or Division and the Uire
Purchasing. The Urban County Governmenl may waive technicalities and nformant
best serve the interests of the Urban County Government,

Manufacturer's catalogue numbers, trace names, etc., where shown herein arn +

to guide the bidder in interpreling the standard of quality, design, and performa.
construed to exclude proposals based on furnishing cther types of materals ar !~
substitution or departire proposed by the bidder must be clearly noted ana 7
assumed that the bidder intends to supply items specifically mentioned in this Inviat, 4

The Urban County Government may require demonstrations of the maten  r
acceptance of this proposal.

Bids must be submitted on this form and must be signed by the bidder o 10w
Unsigned bids will not be considered.

Bids musl be submitted prior to the date and time indicated for opening. Birds < ormier, !
he considered.

All bids mailex must be marked on the face of the envelope:

“Bid on #167-2015 Refuse Truck Body Parts”

and addressed to: Division of Central Purchasing
200 Last Main Street, Room 338
Lexington, Kentucky 40507

Wk L sl

The Lexington-Fayette Urban County Government assumes no responsibiliy cop bisd 1hal are: not
addressed and delivered as indicated above. Bids that are not delivered i iy Diviiios o Ceniral

Purchasing by the stated time and date will be rejected.

Bidder is requested to show both unit prices and Iot prices. In the event of error, the e o e Doy

A certified check or Bid Bond in the amount of _XX_ percent of the bid price mus be o
check must be made payable to the Lexington-Fayette Urban County Goverrmes: s s

the material and/or services specified herein have been dehvered in accordance vt 2 1 &

1

of falure to perform wilhin the time period st forth in this bid, it is agreed the (e e
and the funds retained by the Lexington-Fayette Urban County Government a. heanoas— - -

unsuccessful bidders will be returned when the bid has been awarded,
The deiivery dates specified by bidder may be a factor in the determination of tho <

Tabulations of bids received may be mailed lo bidders  Bidders requesting tabula'v - .
self-addressed envelope with the bid.

The Lexington-Fayette Urban County Government is exempt from Kentucky Sale< i3 e
materials purchased from this bid invitation, Matenals purchased by the biddes 0 onwv:
tax exempt and are the sole responsibility of the bidder.

Page 4 of 1°

e it

-t e I
(oS T [h‘_ ven!
£ ey

o |4 -k

el ) [ HTE



P Altmaterial furnished hereunder must be in full compliane with NSHA raadlatl

7). 1f more than one bid is offered by one party, or by ony nercn o narenang (b
shall be rejected.

R. Signature on the face of this bid by the Bidder ar his authorized represcntal ve
of and compiiance with all terms and conditions contained leran

5. The Entity (regardiess of whether construction contractor mon-corstruction « 7't a.
provide equal opportunity in emplovment for all quatified persons. to orohbi o - gt :m
because of race, color, creed, national ongin, ser or age, and - promote «jual - it Thir
continuing program from itself and each of its sub contracting agents  Thr o
opportunity shall apply to every aspect of ts empioyment policies and practees

T The kentucky Equal Empioyment Gpportunity Ad of 197R (KRS 45.560-45.6-

town, school distnct, water district, hospial district. or other political subdivicn- R

directly or indirectly publicly funded contracts for supplies materials, services |
into the following provisions:

During the performance of this cortract, the contracter agrees as 1allows:

11" The contractor will not discriminate against any emploves or 3porcan
color, refigion, sex, 3ge or nationd/l ongin:

21 The contractar will state in afl solicitations or advertisements for empioy e
contractors that alf Qualfied applicants will receive consideration for e i,
color, religion, sex, age or natonal ongin,

(3) The contractor will post NOLICEs i cONSDICLOUS places, avanable ic v o ) (/b

employment, setting forth the provisions of the Non-hscrrmnaiicn Jauses 7 ) Y

{4} The contractor will send 3 notice to cach laber umon or representativ 0° . .
collective bargaining agreement or other contract or unterstanding adve,.
regresentative of the contractor's commvtments under the nondiscrummai: »

The Act further provides:
KRS 45.610. Hiring minorities - Information required

(1) For the length of the contract, each contractor shall hire mitioritics From ~ -
area, should the umion with which he has coliective bargaining aarer
sufficient minorities to satisly the agreed upon goals and timetabic

(2) Each contractor shall, for the length of the contract, furmish such infonmass
to KRS 45.6490 and by such rles, roguiatains and Orders 1ssued pursuant = =
ta alf books and records pertamning to his employment practices g vk
and the department for purposes of investigation to ascertan comabanc: W 1
Such rules, regulations and orders issuetd prrsuant thereto,

KRS 45.620. Action against contractor - Hrring of minonty contractor or subcontrar

i1} If any contractor is found by the department to have engacex! m an viiar, S
during the course of performing under @ contract or ~ubcontract coveres - !

Lo K]
it it

mn

(LN

the department shall so certify to the contractmg agency and such certifica i it

Contracting agency unfess it is reversed i the cowrse of Judiceil review

(2] It the contractor is found ro have committed an unlawid practice unde | 5.

contracting agency may cance! or lemminate the contradd, onddioney 1 : O

cornpliance approved by the contracting agency and the departien i nl o) aoa

declare such a contractor inelgible to bid on further contracts with tha' e =
contractor comphies m fufl with the requrements of KRS 455600 (o 39 <40

Page 5of 1.

im

I

P



(3} The equal empioyment provisions of KRS 45550 (o '5.690 may pe e
subcontracting to a minorty contractor or subcontiactor. For tne prove v
minarity contractor or subcontractor shalf mear g busmess that 1 ow e,
persons disadvantaged by racial or ethnic circumsiances

KRS 45.630 Termination of existing empioyee nat required, when

Any provision of KRS 45 560 to 45.640 ACtwHPSIANAING  n. ontractny o
axisting employee upon proof that that employee was smpioyer prior to ()

KRS 45.640 Minimum skills

Nothing m KRS 45.560 to 45.6490 shali require a conlractor to P 300
minimum skills required to perform a particular iob,

It 15 recommended that all of the provisions above quoted to be included - '

contract. In the case of a contract exceeding $250,000, the contractar 1s resquy § A
work-force i Kentucky 1s representative of the available work-farce 1 the
employees, or to supply an Affirmative Action plan which wil' achieve st ref
cantract.

U Any party, firm or individual subritting a praposal pursuant to this Invitation ma " o .
requirements of the Lexington-Fayette Urban County Government regarding a0+ - Jiimih '
considered for award of this invilation and must maintain a “current” status wt e - ne
fees throughout the term of the contract. The contractor must be in compla ‘ fiiter 20 o
Code of Ordinances of the Lexington-Fayette Urban County Government ! PR st e
compliance with Ordinance 35-2000 pursuant to contractor registration wir  h S opulairn
Inspection. If applicable, said business must have a Fayette County businesc lce, | -

Pursuant to KRS 454 343 and KRS 45A.245, the contractor shall

(1} Reveal any final defermination of a violation by the contractor with.
pursuant to KRS Chapters 136 (corporation and ulifty taves) 139 (saie . 2,
taxes), 337 (wages and hours), 338 (occupational safety and heaith of =vw 1 w00 Lwemieour an
and compensation) and 342 (labor and human rights) that aoply rc the s

LI P

(71 Bein continuous comphance with the above-mentioned KRS provisions Ha. . L
the duration or the contract.

A contractor’s failure to reveal the above or to comply with such provisions for the i 1 ' .
te: graunds for canceilation of the contract and disqualificatcn of the contigre .
contracts for a period of two {2) years.

V. Vendors who respond to this invitation have the right to file a notice of conienu:
process or to file a notice of appeal of the recommendation made by the Dire ' |
resdlting from this invitation.

Notice of contention with the bid process musl be filed within 3 business day: 1 i P degmien
by (1) sending a written notice, including sufficient documentation to suppor ile - Cotelinr
the Division of Central Purchasing or {2) submitling a2 written request foi i bl the Lares
Central Purchasing to explain his/her contention with the bid procoes  * U] gllEh kR
Commissioner of Finance the Chief Administrative Officer and reviewing the J= =inv v v wnd o feapsin
the vendor. the Director of Central Purchasing shail promptly respond «n v re o fieee s th.
compliance with bid processes. 1f, based on this review, a bid process ir-adar eemed w nay
occurred the Director of Cential Purchasing will consult with the Commissieno, - : he hw
Administrative Officer and the Department of Law as to the appropriate rem: . .

Page 6 of 11



Notice of appeal of a bid recormmendation must be filed witmin 7 butinese o AT
by (1) sending a written notice, including sufficient documentation v sups o ; 1: b5
Dwision of Central Purchasing or (2) submitting @ written reguect for a nestipn s i
Purchasing to explain his appeal. After reviewing the documentation: i Pt i ' L
consulting with the Commussioner of Finance ard Lhe Chizt Admimisti ative i

Purchasing shall sn writing, affirm or withdraw the recommendation

Il Pr ent id C
A.  The terms of this agreement shall be for _1  year/s) from the date of weew. o
Lexington-tayette Urban County Government. This agreement may be autar-ah N
1 vyear(s) renewal. This contract may be canceled by either party thirh @« » R

party of written notice of intent to cancel to the other contracting party,
B Price Changes (Space Checked Applies)

(XXX) 1. Prices quoted in response to the Invitation shall be firrn prices for tne fire VsTa e
Contract. After 360 days, prices may be subject to revision and stich » hane. - } et
industry changes. Revision may be either increases or decreases and may - - bl g mptter Daft
There will be no more than one (1) price adjustnent per vear Raquert: {0 - h
received in writing at least twenty {20) days pror to the effective Jau ™ ! al it fiL
acceptance before becoming effective.  Proof of the ualidity of 2 = ' ‘hall k
responsibility of the requesting party. The Lexington-Fayette Urban Counin + @ e oo bl g0
benefit of any decline that the seiler shail offer his ather accounts.

) 2. No provision for price change is madc heroin. Prices arc to be firm for the i1
{}3 Procurement Level Contract

L It any contract item is not available from the vendor, the Lexington-Fayegs oo
option, may permit the item to be back-ordered ar may procure the item or the

D. All invoices must bear reference to the Lexington-Fayette Urban County Go - : WE M
numbers which are being billed.

F This contract may be canceled by the Lexinqton-Fayette Urban County Goverrme: @ T eecsiazi| thy
Bidder has failed to perform under the terms ¢f this agreement such cancellatie Ly sopon

of written natice of cancellation by the Bidder.

G No substitations for articles specified herain may be made withaut oner Ao
i'urchasing.

Pagc 7 of 11



LFUCG Non-Appropriation Clause

contractor acknowledges that the LFUCG is a governmental entity. and the contract vahdib
of public funding under the authority of its statutory mandate.

In the event thal public funds are unavaillable and not appropriated for the performance o «
thts contract. then this contract shall automaticaily expire without penalty tn the LFLL!
natice to Contractor of the unavailabiltty and non-appropniation of publi funds. [t 1. exree
shall not activate this non-appropriation provision for its conventence or Lo fircumvent the
but only as an emergency fiscai measure during a sutstantial fiscal —nsis which ale
wperalions,

In the event of a change in the LFUCG's statutory aulhonty, mandale and mandated fu. i

legislative or regulatery action, which adversely affects the [FUCG™ aulhorly to ~pohing
contract, then this contract shall automatically terminate without penally tn ihe LEUCC e s
of such hmutation or change in the LFUCG's legal author ly.

Page Rof 1]



EQUAL OPPORTUNITY AGREEMENT

]

Title VIT of the Civil Rights Act of 1964 (amended 1972) states tha® it 1 nnlawfut ¢
employment because of race, color, religion, sex, ace (40-70 vear<! . natenal Grian.,

Executive Order No. 11246 on Nondiscimination undei Federal contract nrohiit
contractor and sub-contractor doing business with the Federal Goverament rr recipier
was later amended by Executive Order No. 11375 1o prohibit disceimination un the bas

Section 503 of the Rehabilitation Act of 1973 states:

The Contractor wilf nat discrminate against anv employee or apolcant for on
because of physical or mental handicap.

Section 2012 of the Vietnam Era Veterans Readjustmant Act of 1973 raquires Affim i
veterans and veterans of the Vietnarm Era by contractors havina Foderal contradis

Section 206{A) of Executive Order 12086, Consviidalion of “ontract < ompnance Fo
Opportunity, states:

The Secretary of [abor may wivestigate the emplovment practices of any 1= v=e;
contractor or sub-contractor [0 determmne Whether or not the contractisd? prow i
specified in Section 202 of this order have been violated,

The Lexington-Fayette Urban County Government practices Equal Opportumty o secraiing, mara
Government's intent to affimatively provide employment opportunities for those individuale 4
allowed lo enter into the mainstream of society. Because of ils importance to the local Gover i
tuil endorsement of the Mayor, Commissioners, Directors and ali supervisory personnel, ir inl' -
tqual Employment Oppartunity and because the Government is the benefactor of the Federy ‘-
Urban County Government policy and ilfegal for the Governmenl 1o lel conirads lo i
unknowingly practice discrimination in therr employment practices. Violation of the above ment
contract to be canceled and the contractors may be declared ineligible for future consideration

Please sign this statement in the appropriate space acknowledging that you have read
cuntamed herein. Return this document as part of your appiication packet.

Budders

iy We agree lo comply with the Civil Rights Laws iistad abave that govern emploviient ta) -t
velerans, handreapped and aged persons.

/_,_______
J. EDINGER & SON, INC.

Signature Name of Busingsrs

Page 9 of 1.



GENERAL PROVISIONS OF BID CONTRACT

By sigring the betow, bidder acknowledges that it understands and agrees with the followin.  «
response and Lhe provision of any goods or services to LFUCG upon selection by LFULG Lol

10,

11.

Bidder shall comply with ail { ederal, State & Local regutations zoncerning Hus typs o
Failure to submit ALL forms and information required by | FUCG may be aruunds roi AL
Addenda: All addenda, if any, must be considered by the bidder in making ite rest:

be made a part of the requirements of the bid contract. Before uhmitting a bid res. JHT) Aty
bidder to be informed as to whether any addenda have been 1ssued, and Uhe fail [ - 4]
such addenda may result in disqualification of that response.

Bid Reservations: LFUCG reserves the nght to reject any or all bid responses, t: a: i

walve munor immatenal defects in proposals. LFUCG may consider anv alternati - -

needs.

Liabikty: LFUCG is not responsible for any cost incurred by bidder in the prenaratia 1

Changes/Alterations: Bidder may change or withdraw a proposal at any time priat

oral modifications will be allowed. Only letters, or other format written requests for m i roling
a previously submitted proposal which 1s addressed in the same mannel as the i e e
LFUCG prior to the scheduled closing time for recaipt of bids, will be accepted. i LN Lo
will then be corrected n accordance with such written request(s), provided that the wr or i S ET T

a sealed envelope which is plainly marked “modifications of bid response *.

Clarification of Submittal: LFUCG reserves the right to obtain clarification of anv i«
additional information frony any bidder.

Bribery Clause: By his/her signature on its response, bidder certities that no cmpiny: - flaa
subcantractor, has bribed or attempted to bribe an officer or employee of the LFUCT

Additional information: Whiie not necessary, the bidder may include any prosi: Sy
documentation, sample reports, or other documentation that may assict LFUCG ¢ bt © o g ipn grd
evaluating the bid response, Additional docurmentation shall not serve as a subsii i T late
which is required by the LFUCG to be submitted with the bid response.

Ambiguity, Conflict or other Errors: If a bidder discovers any ambiquity, conflict. - Nt
error in the bid request of LFUCG, it shall immediately notify LFUCG of such - fi
moditication or clarification of the dncument If aliowable by the | FUCG.

Agreement to Bid Terms: In submitting its bid response, the bidder agrees that ¢ i i.ned e
specifications and all provisions refating to LFUCG's bid request including but not liniiwe irimt
submission of its bid response, bidder states that it undersiands the meaning, ntent & o« 11 i " .
bid request and agrees to the same. The successful bidder shall warrant that it is famia + 1 1wl npcersial
provisions herein and shall warrant that it can comply with them, No additioral com: =n<i: . ' Bloae 3
authonzed for services, expenses, or goods reasonably coverrd under these proviewn * e b ik
its bud response,

Cancellation. LFUCG may unilaterally terminate the bid contract with Lhe selected » dor T L
without cause, by providing at least thirty (30) days advance written notice unlest — 2ifi oot 0

notice period is negotiated prior to contract approval. Payment for services or good- (e« T B CerrmrEi
shall be made by the LFUCG provided these goods or services were provided 1n « nes itani
LFUCG. Payment for those goods and services shall not be unieaschably withheld.

Page 10 of 1%



13

lo

17.

1B.

19.

Assignment of Contract: The selected bidder(s) shall not aseign o sybrontract ary
LFUCG without the express written consent of LFUCG, Any purported sesianmient o
shall be void. It s expressly acknowledged that LFUCG shall reve: be required
request for assignment or subcantract; and further that such refusal te Lorsent <q
within the sole discretion of LFUCG.

No Waiver' Na failure or delay by LFUCG in exercising any right remegy, [ et
single or partial exercise thereof, nor the exorcise of any othe: nght, remedy  poveer
waiver hereot or thereof. No fallure or delay by LFUCG i exercising any richt remag
m respect of this bid proposal or bict contract shall affecl the rohls. remedies
hereunder or shall operate as a waiver thereof.

Authority to do Business: Each bidder must be authomzed 1o do puciness undsr the
hentucky and must be in good standing and have full legai rapacity to provide the -
the bid proposal. Each bidder most have all necessary right and lawful authority, tr.
enter into the bid contract for the full term hercof including any necessary worporaw
the bidder to submit the bid response and aenter inlo this bid contrace. If requestc s .
with @ ¢opy of a corporate resolution authorizing this achion and/or a 'elter from a
proposer is authorized to do business in the Commonwealth of Kentucay Al bid |
duly authorized officer, agent or employee of the bidder.

Governing Law: This bid request and bid contract shall be goveried by and consti ia -
of the Commaonwealth of Kentucky. In the event of any proceeding= regarding thi r: e
the venue shall be the Fayette County Circuit Court or the U.S. Distnct Court fur the (o
Lexington Division and that the bidder expressly consents to personal jurisdiction ane
limited and sole purpose of proceedings relating to these matters or any rights or obl.s

Abitity te Meet Obligations: Bidder affimatively stales that there are no actions, surt
pending against bidder or, to the knowledge of the bidder, threatened against the -
governmental body or agency or other tnbunal or authority which woud, v oA
materially adverse effect on the authoriy or abiiity of bidder to petfonm its obligaue:
bid contract, or which question the legality, validity or enforceability hereof ar thereo

Bidder understands and agrees that its employees, agents, or subcontractors are pe
purpose whatsoever. Bidder is an independent contractor at all tmes related to the « 1

[f any term or provision of this bid contract shali be found to be illegal oi uneniu.
contract shall remain in full force and such term or provision shall be deemed stry ke

7
A
M/ 11/13/15

Signature Dat..

Page |1 0/ 1]



L.y SCOPE OF BID

L1 Ths specification describes the momuom requirenent: 1 ih
a pnce contiact for parts required in the maintenatice i ten g
ot refuse collecnion truck bodies. The ceope o this cort s e
colfecon body only,  Toansure avalabilioy of part S e
manufactiurers represented i the TFUCG eer ooarm i ;
multiple vendory

.2 Fleet Composition. The LFUCG seliee ollecnan flea

following:

1 -7 Pack Manutacturer = pubh hed
Jiscount peicent =1 21%

New Way Manutactuier . publisheds
disceunt poreent o

Heal Munutaciare « pubhish.

discount percent off

2.0 REQUIREMENTS

.1 All parts supplied under this contract shall be st arnnmal equis
or equal.  Parts supphed under this contract <hall not m an:
impact the warranty status of the equipment being repared 1
IFleet Services reserves the right o determine the sawatul of pa.s

[
~t

2 All parts supplied under tns contract shall be delivered e the L
Senvices, 009 Byrd Thurman Drive. Lexinoeton, Koniucky <073

2.5 Bud prce levels shall be based on manulacrurer « pushished Jie
~hall be submitted with bid and shall include manuizcturer « am
2.4 Bud pricing shall be manutacturer’s list price [ess discount 1t an .

d percentage: for example (deater A ¢ st munus E2%, Jealer 21 1y,
12%).



111272015 Gmail - Edinger LFUCG List.xlsx

EZ Pack
——

P~

=

54 Edinger LFUCG List.xisx
] 113K

htips:#/mail .googla.com/mail/?ui=2&ik=eaccOfc7d4&view=ptisearch=inbox&ih= 150fc0faaB55783f&sim|=1501c0{aab55763f

22



StockCode
1000857
1000916
1000918
1000920
1000924
1000926
1000928
1000943
1001019
1001026
1001202
1001303
1001393
1001448
1001572
1001580
1001582
1001589
1001703
1001714
1002162
1002218
1003267
1003444
1003459
1003466
1003549
1004612
1004613
1004634
1004644
1004900
1004901
1005226
1006406
1006448
1006454
1006455
1006457
1006458
1006459
1006462
1006465
1006466
1006467

Description

ADAPTER, STRT THRD C3269X6X4
NUT, JIC C5105X8 1/2"

NUT, JIC C5105X12 3/4"

NUT, JIC C5105X16 1"
SLEEVE, JIC C5165%8 1/2"
SLEEVE, JIC C5165X12  3/4"
SLEEVE, JIC C5165X16 1"
UNION, SMALL HEX C5305X8
11/4 F JIC SWIV CRIP HOSE END
TUBING, NYLON 1/4" BLACK
GAUGE SIGHT LEVEL OIL/TEMP
VALVE RELIEF CARTRIDGE RP60
DECAL-E-Z PACK REG
LIGHTS,GROMMET 60700 100/PK
SCREW FLHD 3/8-16 X 1 1/4
SCREW HX HD 3/8-16 X 3 1/2
LOCKNUT STOVER 3/8-16

SCREW HX PLTD 3/8-16X1-1/4GRS8
FLAP MUD 3/8X24X30 BLK W/LOGO
GREASE ZERKS 5/16"

UNION, SMALL HEX C5305X16
DECAL SMART STEEL

3/16X6X6 GUSSET

3/8X1 1/2X9 SADDLE REINFORCE
1/4X30X36 RAM FLOOR

BAR FL 3/8X3X28 WIPER BLADE
HOIST,SADDLE ASSY D.S.

TUBE RD 60D 21D 27 ROLLER

BAR RD 1 15/16x38 REAR PIN

BAR RD 2 1/2X7 PIN

BAR RD 2 15/16X14.25 CYLPIN
BARRD 2 1/2X4 1/2 PIN

BAR RD 2 1/2X6 PIN

7/16X50 1/4X72 FLOOR M75
HOIST TUBE, WHEEL ROLLER ASSY
TUBING 4X4X1/4%X34 3/4

HOIST SAD. PIN ASSY 2 1/2 X 57
BAR RD 2 1/2X57 SADDLE PIN
TUBE HOIST REAR PIVOT ASSEMBLY
3X4.6875X10.5591 PIVOT MOUNT
1X6X13 PIVOT MOUNT

BARRD 2 1/2X7 5/8

BAR RD 2X5 PIN SHEAVE

BARRD 2 1/20DX4 1/2

BAR FL 1/2X3X4 1/2

LIST
$2.38
$0.80
$1.82
$2.86
$0.52
$0.92
$1.62
$1.86
$51.60
$1.02
$54.52
$457.41
$1.22
$5.94
$0.78
$1.38
$0.24
$0.32
$34.14
$1.66
$4.84
$1.16
$42.24
$8.24
$52.82
$40.48
$605.14
$64.12
$235.48
$85.98
$58.98
$70.90
$73.14
$337.82
$384.74
$147.16
$963.66
$787.44
$8,241.36
$3,550.10
$123.66
$56.70
$50.26
$52.04
$6.54



1006468
1006474
1006476
1006478
1006480
1006481
1006485
1006487
1006488
10064859
1006490
1006496
1006614
1006615
1006620
1006634
1006712
1006808
1006850
1006853
1006967
1006968
1007813
1008007
2000542
2101036
2101043
2101051
2101052
2101058
2101086
2101087
2101095
2101100
2101101
2101102
2101104
2101105
2101108
2101173
2101211
2101220
2101222
2101224
2101225
2101226
2101227

3/4X16 1/4%X26 3/4 TP SLIDE PLT
2X3X8 ANCHOR BLOCK

BAR RD 2X4 1/2 HORIZ SH PIN
BAR RD 2 1/2X8 CYL PIN

BAR RD 2X6 SHEAVE PIN VER
BAR RD 1 1/4X4 CABLE PIN

TUBE RD 2 3/40D 2 1/16IDX1RET
BAR RD 2X7 1/4 CR ROLLER PIN
1/2X4 1/4X13 7/8 ROLLER BRKT
HOIST TUBE, 13 1/4 PIN ASSY
BARRD 2 1/2X13 3/4 CYL PIN
TUBE, RD 40D 2 1/2ID X 1 RET
TUBE ASSY EXT REV LG HOIST
TUBE ASSY RET REV SM HOIST
BAR RD 2X37 1/2 TAIL PIN
HOIST, SADDLE ASSY PASSENGER
TUBE 40D X2 1/2IDX2 1/2

10GAX8X40 CONTROL TOWER HOIST

LIFT CYL.PIN MOUNTING PL ASSY
3/4X8 3/4X14

GRAVITY LOCK ASSEMBLY

BAR RD 2X13 1/2

LT WALL ASSEMBLY 40 YD BWM
HOIST TUBE, 15 3/4 PIN ASSY

ARM WELDMENT ASSY COMM 80) STD

POST, VERT SIDE DR

CYLINDER, AIR

PLATE, LINK CONNECTING

PIN, LATCH

PIN, CONNECTING ASSY

VALVE, RELIEF 2000 P.S.1.

R/V {3500PSI) SWEEP G300/G370
ROD, ASSY CONTROL

CLAMP DUAL 1/2"

CLAMP DUAL 5/8"

CLAMP DUAL 3/4"

CLAMP DBL 1"

CLAMP DUAL 1-1/4"

CLAMP DUAL 1/2&3/4

"O" RING CONNECTOR-LONG
NUT,LOCK(K4549LDA)

SEAL KIT

SEAL KIT(K5549ADA)

SEAL KIT(K2563EDA & K2524DA)
SEAL KIT(K3033DDA & K3021LDA)
SEAL KIT

SEAL KIT(K6067GDA}

$1,367.40
$73.56
$31.24
$95.04
$60.68
$8.66
$4.32
$54.28
$33.98
$250.30
$162.16
$88.14
$241.22
$179.82
$165.00
$859.06
$3.78
$335.76
$181.52
$132.08
$98.90
$40.48
$535.72
$507.62

$19,699.32

$153.14
$466.06
$63.66
$48.54
$32.34
$239.02
$227.50
$48.16
$5.98
$5.58
$10.06
$15.66
$16.98
$5.98
$16.26
$16.72
$823.14
$688.56
$51.16
$173.98
$142.48
$270.11



2101250
2101251
2101252
2101253
2101254
2101255
2101263
2101321
2101325
2101327
2101328
2101334
2101335
2101337
2101338
2101343
2101371
2101375
2101377
2101384
2101386
2101391
2101393
2101354
2101398
2101406
2101411
2101414
2101439
2101441
2101454
2101460
2101463
2101464
2101466
2101506
2101507
2101508
2101510
2101521
2101527
2101530
2101538
2101540
2101547
2101589
2101628

BUSHING(K3516LDA-K3523FDA}
BUSHING,HARDNED STL{K4549LDA)
BUSHING,HARDNED STL(K4021NDA)
BUSHING,HARDNED STL{K4021NDA)
Bushing, Sprig Steel
BUSHING(K5549ADA) ROD END
PISTON SEAL {K4549LDA)
KIT,SEAL(K63133,167,198)
BUSHING(K63133CDA-K63167DDA)
PACKING

PACKING

RING, BEARING

RING,BEARING

RING,PISTON(4.25)
RING,PISTON(5.25)

RING,WIPER {0.D. 4")

CYL K6297DDA G300-20YD EJECT
CYL K5269DDA A300-16YD EJECT
CYL K5257DDA A300-20YD EJECT

CONTROL,PNEUMATIC SINGLE SECT.

VALVE CAP (2051040)

BOLT, STRIPPER (20-51040)
SCREW, CAP(20-51040)

SPRING GUIDE

SEAL,QUAD RING {20-51040)
SPRING, RETURN

GUSSET, SIDE

ROLLER ASSY W/ROLLER BRG.
KIT, FILTER CLASSIC HERCULES
LINER,HOPPER KIT G300/A300 1/4
DIRT ALARM & CABLE ASSY
KIT,SEAL

KIT,REBUILD

KIT,SEAL

KIT,SEAL

ROD, ASSY-LEBANON

TUBE, HP FROM FRT VALVE TO TG
RETURN TUBE TO FRONT FILTER
TUBE TG LIFT, 1/2"

PLATE, VALVE MTG
HANDLE(FOR HYD VALVE)

CYL K6042LDA 6"(G370 PACK)
90D '0' RING ELBOW

SHIM STOCK

VALVE,PILOT 0.CHECK

KIT, PARTIAL RISE

BUSHING

$16.48
$40.74
$60.46
$42.60
$63.02
$38.98
$58.06
$1,224.40
$295.90
$120.54
$76.90
$20.86
$28.32
$16.56
$20.92
$14.02
$4,752.00
$2,085.00
$4,093.80
$364.50
$9.52
$17.40
$9.52
$6.38
$5.58
$21.72
$4.14
$231.98
$202.62
$1,992.12
$197.96
$137.70
$310.32
$137.10
$75.28
$105.26
$323.02
$330.56
$159.34
$36.98
$49.12
$3,780.00
$17.86
$3.96
$602.64
$7,987.64
$30.82



2101643
2101649
2101764
2101835
2101887
2101889
2101850
2101853
2101854
2101896
2101857
2101858
2101899
2101900
2101902
2101903
2101904
21015909
2101910
2101912
2101913
2101918
2101928
2101941
2101588
2101590
2101991
2101992
2101993
2102054
2102055
2102069
2102077
2102078
2102079
2102093
2102100
2102103
2102104
2102274
2102396
2102427
2102439
2102440
2102472
2102480
2102489

ADPHYD 16MJX16FJS 455
ADPHYD 08MJX06MO STR
CIRCUIT BREAKER 15 AMP
LAMP,RUBBER MTG T-L CLR 12/PK
SEAL KIT PNEUMATIC CYL.

VALVE SECTION (20-52294) T.G.
VALVE SECTION (20-52294) EJECT
SEAL KIT BETWEEN SECT.20-52294
SEAL KIT SECTION {20-52294)
INLET SECT (20-52290)

VALVE SECTION (20-52290)
VAL.SECTION (20-52290) SWEEP
VAL.SECTION (20-52290) PACK
OUTLET SECTION {20-52290)

SEAL KIT BETWEEN SECT 20-52290
SEAL KIT SECTION {20-52290)
SEAL KIT MAIN RELIEF

RH CYL MTG PLATE

LH CYL MTG PLATE

PIN 2" X 6.4375"

BOSS, 2" PIN X 1.75"LG

TUBE, TG LIFT-FRT VALVE TO GATE
PUMP KIT-DIRECT MOUNT
TUBE,TG LIFT FRT VALVE TO GATE
CLAMP, DUAL STACKED 3/4
FILTER, RETURN LINE

O RING, 5-1/8 OD

O RING (20-52354) 3-3/4 OD
BACK-UP RING

SHEET, HOPPER

PLATE, LINER

INST HYDRAULIC BAR DUMPER
SEAL KIT K3525GDA

SEAL KIT K4538FDA

SEAL KIT-COMM (K3018FDA)

WINCH,12000# O-H(MTD.A300G300)
PKG BLADE WELDMENT(GOL.TAG 31Y

LIP BEAM WELDMENT

SILL ASSY

HOSE END,37D FM SWV 3/4H-3/4T
HOSE ASSY, 1/2" X 34"

HOSE ASSY 1/4 NPTF M X 24"
HOSE ASSY 3/8 X 93"

HOSE ASSY 3/8 X 115"

HOSE ASSY 3/8" X 18"

HOSE ASSY 1/4" X 32"

HOSE ASSY 1" X 33"

$12.84
$1.74
$23.84
$44.82
$30.06
$223.96
$508.66
$13.12
$67.96
$149.98
$1,350.34
$919.38
$919.38
$255.34
$13.98
$16.80
$31.86
$347.54
$347.54
$71.24
$68.40
$128.98
$2,548.12
$159.30
$23.40
$403.72
$1.80
$1.28
$23.24
$2,790.36
$299.64
$8,678.69
$469.20
$602.32
$227.80

$19,031.72

$2,751.90
$694.88
$804.22
$31.86
$138.74
$84.70
$183.92
$205.54
$103.82
$89.62
$252.08



2102504
2102511
2102517
2102530
2102550
2102557
2102584
2102585
2102595
2102596
2102603
2102604
2102624
2102628
2102651
2102653
2102654
2102655
2102656
2102658
2102660
2102663
2102722
2102723
2102732
2102738
2102741
2102760
2102766
2102767
2102768
2102773
2102807
2102872
2102877
2102908
2102910
2102958
2102974
2102975
2103003
2103050
2103058
2103069
2103083
2103128
2103152

HOSE ASSY 1/2" X 24"

HOSE ASSY 3/8" X 18"

HOSE ASSY 1/4" X 20"

HOSE, 3/4 NPTF M X 230"

HOSE ASSY 1/2" X 30"

HOSE ASSY .50"X18"

HOSE ASSY,{H 300) 3/4 X 30"
HOSE ASSY,(H 300) 3/4 X 18"
PLATE ASSY RH

PLATE ASSY LH

INNER PLATE WLDMT RH

INNER PLATE WLDMT LH

R/V 2200PSI MAIN G-300

HUB, PIN-SWEEP

R/V 2500PSI MAIN A300/G370
BOTTOM SHOE

PLATE, .25X3.25X54 400B
PLATE, .25X3.25X82.50 4008
DRIFT RELIEF 2100 PS| @ 1GPM
PORT RESTRICTOR

SEAL KIT (KICKOUT)

BRACKET, PUSHER

CLAMP HOSE HD P#88DB-24 1 1/2"
CLAMP, HOSE HD 2"

NIPPLE COMB. PS#0188-40-40
TUBE, SL CHASSIS FRONT 1-1/2"
TUBE, SL CHASSIS REAR 1-1/2"
KIT, SEAL

NUT, PACKING

BUSHING, BASE END (K4025FDA)
BUSHING, ROD END

TUBE, 1" HP PUMP

TUBE, HYD. 1"X.095W X 3.25"
DRIFT R/V 1900PSI@1GPM G-370
ADPHYD 08FJ CAP

CLAMP, HYD TUBE 2.5 DIA
GUSSET, UNDERRIDE

HUB, PIN-SWEEP

ADPHYD 08MJXO8FJSX08MJ TSR
KIT, CHECK VALVE AUT. LATCH
HOSE ASSY 3/8 X 36"

KIT, FAST EXT-DANA(M-150 ONLY)
R/VF (2600 PSI) SWEEP A-300
PIN

HOSE ASSY, 1/2 X 50"

HOSE ASSY 1/2 X 20"

ARM INST, 8K EXT.LEVEL/TRV UP

$225.00
$88.28
$86.58
$484.52
$126.46
$143.98
$166.70
$156.58
$441.88
$441.88
$95.78
$95.78
$227.50
$75.30
$174.00
$177.10
$61.02
$91.52
$373.08
$51.70
$20.92
$2.94
$23.14
$18.34
$24.28
$504.58
$382.40
$183.42
$86.34
$197.94
$210.00
$200.88
$4.06
$373.08
$1.02
$28.24
$20.48
$41.50
$10.54
$360.60
$135.56
$835.78
$227.50
$127.70
$188.24
$144.36
$37,887.04



2103154
2103204
2103212
2103213
2103214
2103219
2103220
2103221
2103224
2103229
2103249
2103284
2103320
2103344
2103365
2103373
2103381
2103406
2103468
2103484
2103486
2103491
2103537
2103547
2103625
2103631
2103632
2103644
2103645
2103654
2103665
2103666
2103699
2103717
2103722
2103756
2103762
21033805
2103823
2103856
2103857
2103859
2103860
2103872
2103873
2103896
2103899

FORKBOX,EXT.LEV.TRAVEL UP {FF)
SEAL KIT (KBO60CDA)(K6042LDA)
PACKING NUT {K6060CDA)

RING, WIPER (K6060CDA)

SEAL KIT {KA028LDA)
BUSHING(K4025GDA&KA4028LDA)
BUSHING {K4025GDA&K4028LDA)
STUFFING BOX (K4025GDA)

SEAL KIT (K4035LDA & K4042DDA)
BRACKET. RH BUMPER MTG 8K
HOSE ASSY 1/4" X 58"

LOWER GATE WELDMENT

INNER GATE ASSY
PIVOT PIN - ROD

PLATE, CYL. MTG FORK

BOSS, 2" PIN X .875" LG

DECAL, SIGN CLASSIFICATION
BEARING ASSY

PLATE, TIE RH G370
COVER, 7" STOP/TAIL/TURN
MOUNTING CHANNEL WELDMT
PLATE, FRONT MTG

GROMMET, PLUG

BUSHING {K3525GDA)

BEAM & WINCH BRACE ASSY
ARM.10K EXT.LEVEL/TRV UP (AE)
ARM.8K EXT.LEVEL/TRV UP (AF)
PIN, LIFT CYL BASE 10K
RETAINER, PIN 10K****
BRACKET, SIGN 1.50" X 73.25"
COUPLER, AEROQUIP MALE HALF
COUPLER, AEROQUIP FEMALE HALF
HOSE ASSY, 1/2 X 33"

SEAL KIT (K4025JDA)

SEAL KIT {K4525DA)
PUMP,35GPM,MUNCIE

IDLER ASSY

HOT SHIFT PTO

GATE PROP PLATE

CYLINDER, MODEL K3025BDA
CYLINDER, MODEL K2524DA
LATCH ASSY RH

LATCH ASSY LH

SWING BOLT MOUNTING

HOSE ASSY, 1/2 X 36"

VALVE SECTION ASSY, 6TH SPOOL
HOSE ASSY, 1/4 X 60"

$4,585.84
$412.78
$421.50
$38.86
$626.80
$80.16
$86.86
$457.62
$243.61
$108.98
$126.68
$1,609.72
$3,494.90
$65.96
$226.38
$31.40
$7.50
$2,082.66
$63.76
$9.26
$157.82
$8.04
$5.28
$92.82
$550.26
$4,451.94
$4,505.94
$105.76
$19.74
$11.88
$31.44
$69.16
$209.16
$712.84
$277.50
$2,068.66
$870.84
$3,353.16
$20.52
$1,656.42
$1,047.00
$62.34
$62.34
$3,858.90
$169.56
$841.18
$148.26



2103925
2103929
2103930
2103949
2103957
2103965
2103966
2103984
2103991
2104001
2104007
2104008
2104027
2104032
2104075
2104077
2104078
2104084
2104085
2104086
2104089
2104095
2104108
2104166
2104155
2104223
2104232
2104250
2104252
2104361
2104362
2104380
2104402
2104406
2104407
2104411
2104438
2104454
2104497
2104508
2104515
2104516
2104521
2104522
2104523
2104536
2104537

TUBE ASSY, 3/4 X 43.3125"FORKS
"Q" RING CONNECTOR
RESTRICTOR, PORT

DRIFT R/V 2100PSI@1GPM A-300
BOX, ELECT. 4 X 4 X 12"

TUBE ASSY, 1/2 X 5.75FT

TUBE ASSY, 1/2 X 5.177FT.
SHEET, GATE BOTT. RESIDENTIAL
STRIPPER BOLT

CYLINDER, M/N 3024CDA
BACK-UP RING -TEFLON
ACTUATOR, PNEUMATIC

MINI CONTROLLER

KIT, LIMIT K4025)JDA/K4525DA
POST, CENTER LH RESIDENT
COUPLER, FEMALE-HALF
COUPLER, MALE-HALF

PLATE,CYL SUPP.BOTT.3.56 HOLE
SHEET, FLOOR REAR RH RESID. FL
SHEET, FLOOR REAR LH RESID. FL
VALVE, RELIEF 2000 P.S.I.

VALVE, RELIEF{2052193)1500 PSI
HOSE ASSY, 1 X 24"

KICK RAIL {321 W.C.)

BRACKET, BREAKER MTG

PIN, 2" X 4.437"

BOSS, 2" PIN X 1.50"
TUBE,1/2%119.3155CD 2049766000
DRIFT R/V 2000 PSI@1GPM G-300
BOSS,1.937 PINX4.75" PACKER
PIN, 1.985"%X12.50" ST PROOF
BOSS, 1.937 PIN X 5.25"

SHOE, TRAILING CVR FL

BEARING, SPHERICAL (K52133DA)
RETAINING RING (K52133DA)
SEAL KIT (K52133DA)

VALVE SOLENOID 4-PORTS

CAP, DUST QUICK DISCONNECT
LATCH ASSY

DECAL, SERVICE HOIST PROCEDURE
ELBOW, 90D SPLIT FLANGE TO JIC
ELBOW, 90D SPLIT FLANGE TO JIC
FLANGE KIT- 1-1/4" CODE 61
FLANGE KIT- 1-1/2" CODE 61
FLANGE KIT- 2" CODE 61
CYLINDER, K63133DDA
CYLINDER, K63167FDA

$126.74
$14.02
$54.18
$373.08
$244.36
$122.92
$119.84
$510.32
$26.76
$327.00
$8.22
$402.36
$927.00
$1,679.10
$531.16
$50.92
$21.30
$419.98
$736.52
$736.52
$262.62
$262.02
$354.58
$26.64
$164.40
$89.48
$43.88
$144.90
$347.26
$77.18
$81.98
$117.32
$42.88
$162.78
$10.12
$506.70
$459.48
$7.77
$139.62
$5.26
$44.02
$80.04
$17.20
$24.36
$24.88
$5,430.00
$7,316.58



2104538
2104546
2104547
2104548
2104551
2104553
2104558
2104561
2104564
2104569
2104593
2104597
2104600
2104604
2104617
2104618
2104626
2104651
2104652
2104650
2104691
2104695
2104708
2104720
2104782
2104786
2104788
2104789
2104792
2104842
2104843
2104860
2104861
2104862
2104871
2104875
2104884
2104857
2104504
2104906
2104907
2104908
2104915
2104916
2104919
2104921
2104926

CYLINDER
HARNESS, TOP-BODY

HARNESS, SIDE-CLEAR

HARNESS, TAILGATE

CONTROL BOX, GOLIATH

HOSE ASSY, 3/4 X 32"

ADPHYD 24MOx20MJ STR

BAR, RETAINER

BOSS, 2"PIN X 3.75"

SHOVEL, PLASTIC

BOSS, 2"1.D. X 5" LG

VALVE SECTION

PORT RELIEF VALVE 1000PS|
STRAP, MOUNTING

PUMP COMM.30GPM

PUMP, 30GAL COMM. (KEYED)
TERMINAL STRIP 12P
LAMP-LICENSE PLATE W/PLUG
FLASHER UNIT W/PLUG

LEVER, PACKER POTENT ARM
BRACKET, MTG FORK POT

LEVER, FORK POTENT ARM

TRACK 8.50"

CONNECTOR ASSY

ELBOW

PLATE WEAR SHOE .375X5.75X17.5
CHANNEL,FORMED TOP PACK SHOE
CHANNEL,FORMED BOTT. PACK SHOE
PUMP PISTON VICKERS

HARNESS, GATE OPEN SWITCH
HARNESS, GATE OPEN SWITCH-GOL
TUBE ASSY 1/2 X 117.25"

TUBE ASSY 1/2 X 69.3125"

TUBE ASSY 1/2 X 68.50"

TUBE ASSY 1/2 X 213.50"

TUBING INSTALLATION-RESID.
SWITCH ASSY - W/PLUG

HOSE ASSY, 1/4 X 42"

KEEPER, PLATE MTG. RESID.
ANGLE, REAR EXT. GUIDE

KEEPER, SHOE RESID. FRONT
KEEPER, SHOE RESID. REAR
POTENTIOMETER (RESIDENTIAL)
ROD END BALL JOINT

PUSHROD, ARM POT (RESID.)
LEVER, ARM

VALVE, DUEL CHECK, TIPPER

$7,607.26
$491.22
$84.86
$677.44
$924.42
$211.98
$15.36
$60.64
$153.88
$75.76
$86.33
$1,059.16
$227.50
$12.76
$847.68
$1,067.08
$22.06
$29.70
$313.33
$51.34
$13.44
$50.38
$10.90
$1.66
$72.28
$144.01
$119.24
$33.34
$5,870.00
$31.02
$24.28
$143.76
$122.64
$122.64
$99.68
$1,305.90
$125.60
$107.50
$50.60
$13.06
$20.24
$20.24
$371.22
$17.56
$86.72
$33.44
$372.54



2104932
2104934
21049395
2104941
2104942
2104968
2104971
2104975
2104981
2104982
2104983
2105053
2105063
2105069
2105070
2105078
2105086
2105120
2105130
2105135
2105136
2105274
2105275
2105385
2105502
2105534
2105581
2105582
2105613
2105660
2105664
2105665
2105693
2105697
2105703
2105807
2105808
2105809
2105810
2105811
2105814
2105815
2105816
2105829
2105830
2105833
2105837

PUSHROD, FORK (RESID)

KIT, FORK POT INSTALLATION-RES
BRACKET, PUSHROD PACKER
PUSHROD, PACKER (RESID)
BRACKET, MTG PACKER POT
PUMP & DRY VALVE

PLATE, BACKING 1.25 PIN
CONNECTOR,2-PLUG IN-LINE MALE
TERMINAL, FEMALE

TERMINAL, MALE

SEAL, WIRE .122 - .080 WIRE
TERMINAL, FEMALE

FLANGE, YOKE

BRACKET, RH BUMPER MTG 8K
BRACKET, LH BUMPER MTG 8K
CHANNEL, FORMED MTG
CHANNEL, MTG WLDMT.

PLATE, 400F .1875 X 76 X 81.50
KIT, REAR HINGE

FORKBOX EXT.LEV.TRAVEL UP (FK)
FORKBOX EXT.LEV.TRAVEL UP {FL)
BEARING, BLOCK RH W/C
BEARING BLOCK W/C LH

ARM (G) 8K(CODE Al)

ELBOW, 90 SPL. FLA.

PLATE, DUMP CYL MTG

TUBE ASSY .50 X 42.75"

TUBE ASSY, .50 X 37.375"
RETAINER, GATE PIN ASSY
BRACKET, CAMERA OUTSIDE CAB
REST, ARM

BRACKET, PUMP ASSY MACK LE613
TORQUE TUBE, FORK SCALES
ARM {G) 10K (CODE AL)

HOSE ASSY, 1" X 28"

BUSHING (20-52354)

BYPASS VALVE ASSY (20-52354)
BOWL (20-52354)

FILTER HEAD {20-52353)
BUSHING (20-52353)

BOWL ASSY (20-52353)

RING, RET(20-52353)DO NOT SELL
HOSE ASSY 08 08FJX08MPX9.0
BRACKET, VALVE

HOSE ASSY, 1 X 50"

BUSHING, PIN CONTAINER

POT. HEAD ONLY (RESIDENTIAL)

$133.92
$798.74
$27.38
$90.52
$2.94
$3,672.00
$43.30
$1.66
$0.32
$0.40
50.22
$3.46
$47.82
$108.88
$108.88
$75.40
$88.46
$1,878.84
$1,111.92
$3,844.00
$5,315.16
$1,136.66
$1,136.66
$4,688.44
$90.66
$414.10
$110.46
$124.94
$430.42
$3.08
$79.20
$1,815.02
$2,801.22
$4,533.32
$268.00
$6.24
$84.54
$240.00
$882.75
$55.60
$232.98
$89.46
$112.38
52.68
$430.70
$67.58
$218.91



2105851
2105863
2105961
2106004
2106006
2106026
2106055
2106067
2106096
2106115
2106116
2106122
2106123
2106130
2106210
2106216
2106217
2106260
2106261
2106279
2106286
2106307
2106308
2106309
2106313
2106314
2106315
2106317
2106318
2106331
2106369
2106410
2106433
2106438
2106440
2106477
2106480
2106481
2106484
2106485
2106486
2106487
2106488
2106489
2106450
2106491
2106492

UBOLT 1"
BRACKET ASSY, CONTROL
ELBOW 90D W/2.5" HOSE END
CABLE, FORKS SENSOR RESID.
CABLE, PACKER SENSOR RESID
ROLLER, TRAILING COVER
FUSE 5 AMP

BODY WELDMENT HCR {381 W.C.)
CYLINDER, MODEL K63167GDA
SWITCH, TOGGLE MOMENTARY 3-P0O5
SWITCH, TOGGLE
RECEPTACLE, HD (16 PLUG)
PLUG, HD (16 PLUGS)

WASHER, RECEPTACLE
LINE, HP 1" X 75.50"
PROGRAMER, HAND-HELD
SPOOL SHIFTER RESID

SHEET FLOOR REAR RH RES 40YD
SHEET FLOOR REAR LH RES 40YD
HOSE END

POST FRONT BOTTOM 1/4 100K
COVER, POTENTIOMETER
SOCKET DEUTSCH

PIN DEUTSCH

KIT, PACKER RETURN

BRACKET LIMIT SWITCH MTG
LEVER PACKER LIMIT
SWITCH,LIMIT 8' 4 WIRE NO ENDS
BRACKET, PUSHROD PACKER
CONTROLS, RH RESID MACK
BRACKET

90 Degree "0" Ring Elbow
CONTAINER STEEL RESID.SIDE TIP
FORK ASSY RESID 8K (CODE FN)
CABLE,SENSOR RESID W/FILTER(M)
CABLE GATE MAIN RESID

TUBE ASSY .50 X 146.50"

DECAL, SERVICE HOIST PROC.RES.
SEAT R/V

POPPET R/V

SPRING SEAT

PISTON

DETENT POPPET

ADJUSTMENT SCREW

BALL

STRIPPER BOLT

PIN

$4.31
$239.12
$238.06
$117.18
$200.09
$169.92
$28.78
$39,201.64
$5,400.00
$27.60
$18.10
$37.50
$40.96
$0.86
$211.70
$1,350.00
$85.38
$1,084.22
$1,084.22
$78.22
$151.30
$2.40
$1.36
$2.02
$2,188.00
$2.94
$34.96
$552.76
$34.34
$338.06
$163.54
$18.90
$8,686.56
$5,130.08
$635.10
$552.60
$70.66
$5.83
$19.56
$8.82
$8.56
$17.92
$44.26
$21.66
$2.10
$46.60
$19.60



2106493
2106454
2106496
2106457
2106498
2106501
2106502
2106506
2106516
2106522
2106552
2106553
2106564
2106565
2106566
2106569
2106583
2106626
2106627
2106631
2106647
2106648
2106672
2106693
2106808
2106863
2107025
2107037
2107038
2107039
2107042
2107046
2107049
2107060
2107159
2107161
2107235
2107237
2107245
2107255
2107323
2107396
2107408
2107578
2107846
2107863
2107876

DETENT SLEEVE
SPRING RETAINER

CENTERING SPRING R.VALVE COMM

DETENT SPRING
SPRING R/V

PIN DEUTSCH

SOCKET DEUTSCH

TIP ANGLE

HOPPER LINER (GL370-TAG)

LINER CAP(ALT MAT'L 3/8 GR 50)

RECEPTACLE {23 PINS)

PLUG (23 PINS)

PIN 2" X 5.4375"

BOSS 2"PIN X .75"

BRACKET, CONTAINER LIGHT
ADPHYD 20MJX20MJ 90D
TUBE, WIRE HOLDER

TUBE ASSY 1.25" X 75.3125"
TUBE ASSY 1.25" X 25"

LATCH ASSY RL

"O" RING (20-48527-2101990)
GASKET (20-48527)

KIT SEAL (K63180BDA)
SHIELD, FORK POT

MAIN PIVOT ASSY (AUTO)
LEVER, LIMIT SWITCH
BEARING, CYLINDER

KIT, FILTER ELEMENTS {FLFR}
KIT, FILTER ELEMENT CUST SET
ELEMENT,RTN

FILTER, BREATHER (W/M CLASSIC)

PLATE R/R .25X4.625X93"
SHEET, .124GA 50MIN 2.12X5.0
SADDLE, TUBE SUPPORT
EXTENSION, DOOR LATCH

SWITCH, MICRO W/PACK CONN.

COVER, TRAILING STEEL

POST, VERT SIDE DR

TUBE, 3 X 2 X 10GA X 44.25"
COMPENSATOR ASSY

SEAL KIT {SINGLE SHAFT SEAL )
RING RETAINING - K3008DA
SIDE STEP ASSY

SEAL, SUMP DOOR

ADPHYD 12MJ HPL

DECAL, WARNING - KEEP AWAY
END CAP ASSY.ONLY {2104031)

$69.28
$21.16
$13.08
$8.80
$8.20
$1.20
$1.40
$216.38
$4,152.56
$296.66
$45.54
$49.22
$72.54
$75.30
$2.94
$27.36
$112.98
$275.72
$193.66
$275.00
$3.54
$3.78
$872.10
$4.92
$17,673.92
$76.24
$35.28
$171.76
$369.12
$114.00
$136.50
$127.02
$2.94
$5.84
$3.86
$90.02
$4,199.66
$147.98
$26.86
$370.66
$210.60
$3.16
$402.88
$12.70
$2.34
$5.02
$767.50



2107908
2107909
2107510
2107911
2107921
2107926
2107927
2107929
2107930
2107931
2107937
2107948
2108000
2108001
2108006
2108007
2108008
2108009
2108010
2108013
2108027
2108028
2108029
2108030
2108125
2108129
2108132
2108345
2108346
2108433
2108603
2108961
2108971
2108997
2109003
2109004
2109079
2105080
2108091
2109107
2109108
2109142
2109152
2109154
2109162
2109164
2109183

VALVE, SOLENOID HYDRAFORCE
REGULATOR, AIR LOW PRESSURE
NUT, PANEL MOUNT

VALVE, QUICK EXHAUST
CONTROL ROD

SWITCH, 2-POS ROCKER LT AMBER
SWITCH, 2-POS ROCKER LT GREEN
SWITCH,.3-POS ROCKER LOCK MN
SWITCH, 3-POS ROCKER MOMEN
BRACKET, ARM REST DUAL
PLATE, (SKID FORK ASSY)
ELBOW, 4MJx4FJS, 90 DEG.
FLOOR, REAR 1/4" 40YD RH
FLOOR, REAR 1/4" 40YD LH
TUBE ASSY, RH .75 X 4.36'

TUBE ASSY, LH .75 X 5.32"

TUBE ASSY, RH .75 X 5.32'

TUBE ASSY, LH .75 X 4.36'
INSTALL, TUBING ARM, CLASSIC
SHEET, 10GA X 2 X 44.62"

TUBE ASSY, LH .75 X 8.38'

TUBE ASSY, RH .75 X 8.38'

TUBE ASSY, LH .75 X 8.29'

TUBE ASSY, RH .75 X 8.29'
ADPHYD 12MJX12MO 45D
STAND-OFF

ELBOW, 45D STRA.THD #12X#16
TUBE ASSY, .50 X 105.375"

TUBE ASSY, .50 X 105.06"

SHT. .124GR50 2.0 X 104.5"

PIN, SAFETY SNAP

SHEET, HOPPER EXT 14" REAR
KIT SINGLE JOYSTICK (20-45618)
SHEET, 10GA100K 5.375 X 51
SHEET, 10GA100K 3 X 82

SHEET, 10GA100K 5.375 X 70
LOAD SENSE R/V (2104031)
PILOT OPER R/V (2104031)
Q-MET CHECK ASSY (2104031)
COMPENSATOR ASSY {2104031)
RAIL, LIMB 34YD BODY

END PLATE, STEP RH

PLATE .125X43.875X76"

PLATE .168X5.375X70

1/2MJIC X 1/2FJX 45D FORGED
SHEET, 12GA X 4 X 31.313

HOSE ASSY, 1" X 61"

$386.86
$117.48
$17.98
$52.00
$14.36
$97.76
$141.24
$102.00
$86.85
$2.58
$23.92
$4.60
$1,778.64
$1,778.64
$133.18
$123.40
$123.42
$133.18
$2,637.88
$13.76
$138.60
$138.60
$138.60
$138.60
$5.82
$44.16
$11.14
$138.88
$138.74
$31.06
$8.86
$257.46
$126.28
$50.06
$45.50
$69.60
$295.86
$262.62
$203.20
$188.94
$84.92
$32.09
$593.18
$81.06
$3.04
$13.30
$495.56



2109184
2109228
2109239
2109240
2109242
2109243
2109287
2109290
2109292
2109310
2109316
2109380
2109392
2109395
2109410
2109416
2109417
2109418
2109422
2109430
2109434
2109441
2109454
2109503
2109626
2109627
2109629
2109634
2109758
2109767
21097638
2109771
2109772
2109778
2109779
2109780
2109801
2109815
2109821
2109980
2110004
2110009
2110011
2110012
2110042
2110043
2110046

HOSE ASSY, .75" X 61"
CYLINDER ASSY, K4025KDA
SOLENOID ASSY

SEAL KIT (2104031)

SEAL KIT Q-MET (2104031)
SEAL KIT (2104031)

ENDCAP SEAL KIT (2104031}
AIR CYL, 2.5 X 8 DIA

R/V PLUG SEAL KIT (2104031}
ARM WLDMT, SWINGING (AFL)
SPRING, 1 X 12 TENSION
GUSSET, LIMB RAIL 45YD
CONTROLS, RIGHT PANEL WXLL
SWITCH, PRESSURE PACKER
CONNECTOR,PRESSURE SWITCH
CONECTOR, ELEC 3 POS PLUG
CONNECTOR, ELEC 3 POS RECEPT
CONNECTOR, ELEC 4 POS PLUG
CONNECTOR, ELEC 8 POS PLUG
LOCK, SECONDARY PLUG 4 POS
LOCK, SECONDARY PLUG 8 POS
TUBE ASSY, 1.25" X 63.5"
BRACKET, GUARD RH PETE

KIT, TIPPER INSTALL (PERKINS)
PUMP MUNCIE

PUMP MUNCIE

KIT PUMP MLSM 40 GPM
PUMP.35GPM,MUNCIE

KIT DRIVELINE 1310

FLANGE, COMPANION (DRILLED)
SPLIT FLANGE ADAPTER

KIT PUMP BRACKET MACK MR
KIT PUMP BRACKET WX64
HARNESS D {AFL)

HARNESS B {AFL)

HARNESS A

SHIM (2104031)

CAP ONLY (2104031)

KIT, REAR UNDERRIDE

PLATE FLAT .25X2.125X16
ARM ASSY 8K EXT LEVEL. (AR}
BOSS 4.25" FOR 2" PIN

HOSE ASSY .25" X 78"

HOSE ASSY .25" X 68"

VALVE, FRONT A300/G300
ALARM BACK-UP

WASHER FLAT 1/4 PLATED

$267.18
$1,487.40
$339.96
$56.82
$81.06
$35.64
$122.08
$297.00
$12.72
$288.70
$44.52
$12.02
$391.10
$154.43
$41.64
$3.00
$3.34
$3.00
$6.76
$0.90
$1.80
$262.12
$2.94
$13,671.64
$2,708.80
$3,012.54
$6,278.36
$2,569.24
$753.12
$58.50
567.86
$1,864.94
$1,479.22
$380.08
$780.30
$267.74
$16.54
$90.60
$363.83
$7.60
$6,791.08
$167.62
$64.66
$86.94
$1,121.08
$120.88
$0.40



2110048
2110049
2110050
2110051
2110052
2110055
2110059
2110060
2110061
2110069
2110070
2110071
2110072
2110073
2110076
2110082
2110083
2110086
2110099
2110114
2110115
2110117
2110121
2110125
2110142
2110145
2110147
2110149
2110159
2110167
2110183
2110186
2110188
2110195
2110196
2110197
2110203
2110215
2110230
2110272
2110312
2110313
2110314
2110321
2110343
2110345
2110355

WASHER FLAT 3/8 PLATED
WASHER PLAIN 1/2 PLATED
WASHER PLAIN 5/8 PLATED
WASHER FLAT 3/4 PLATED
WASHER FLAT 1 PLATED

LOCK WASHER 3/8 PLATED
WASHER LOCK 1 PLATED
LOCKWASHER INT TOOTH .25-28 ZP
LOCKWASHER INT TOOTH .312-247ZP
NUT LOCK HEX 3/8-24 UNF ZP
LOCK NUT HEX 1/2-20 UNF ZP G8
NUT LOCK HEX 5/8-18 UNF ZP
LOCK NUT HEX 3/4-16 UNF ZP
NUT- HEX, LOCK, 1-14 UN, ZP

NUT HEX 3/8-24 UNF ZP

SCREW CAP 1/4-28X3/4 UNF ZP
SCREW CAP HEX 1/4-28X1 ZINC P
SCREW CAP 1/4-28X1-3/4 UNF ZP
SCREW CAP HEX 5/16-18 X 11/4
SCREW CAP 3/8-24X3/4 UNF ZP
SCREW CAP 3/8-24X1 ZP

SCREW CAP 3/8-24X1-1/2 UNF ZP
SCREW HEX 3/8-24X2-1/2 PLATED
SCREW HEX 38-24 X 3.5PL

SCREW HEX 1/2-20 X 3.5PL
BOLT.50X4.5 ZP UNF

SCREW CAP 1/2-20X5-1/2 UNF PLT
SCREW CAP-1/2-20x6 1/2 UNF, ZP
BOLT HEX HEAD .625"X2.5"UNF ZP
SCREW HEX 5/8-18 X 5 PL

SCREW HEX HEAD CAP 3/4-16X2.25
BOLT .75-16X3 ZP UNF

SCREW HEX 3/4-16 X 3.5 PL

BOLT HEX HEAD .75"X6.5"UNF ZP
SCREW CAP 3/4-16x7.0L,GR8, ZP
SCREW CAP HEX HD 3/4X7-1/2
SCREW CAP 1-14X2 UNF ZP
SCREW-CAP, 1-14x8" LONG

LIGHT RED LED 2.5 DIA
MOUNTING CHANNEL WELDMENT
HINGE ASSY LONGIT

HINGE SUBASSY LH

HINGE SUBASSY RH

PIN LIFT CYL./PUR.2113078 2PCS
ADPHYD 32M5X40MHB 45D
LADDER ASSY

PLATE LATCH ASSY FL

$0.08
$0.18
$0.44
$0.76
$1.98
$0.08
$0.90
$0.04
$0.04
$1.16
$0.68
$0.48
$1.04
$4.53
$0.14
$1.04
$0.32
$0.48
$0.46
$7.70
$0.34
$0.44
$0.68
$1.16
51.40
$2.60
$3.04
$4.52
$2.26
$4.20
$7.56
$3.24
$3.66
$7.08
$12.48
$9.10
$4.42
$36.60
$30.02
$142.98
$207.86
$483.24
$561.96
$105.58
$166.36
$455.40
$227.24



2110364
2110365
2110368
2110391
2110497
2110518
2110535
2110536
2110577
2110616
2110653
2110655
2110661
2110676
2110735
2110895
2110897
2110924
2110934
2110935
2110978
2110979
2110983
2110989
2110991
2111030
2111031
2111064
2111069
2111083
2111086
2111089
2111126
2111130
2111131
2111132
2111136
2111137
2111138
2111145
2111167
2111183
2111197
2111206
2111290
2111328
2111330

SPRING MTG WELDMENT
RETAINING PLATE

MOUNTING FLANGE

TORQUE TUBE BRG.BLK 10-13/16LG
GUSSET FRONT XMBR

REINF BEARING BLOCK
TIPPER CART PERKINS
TIPPER CART BAYNE
JOYSTICK WITH CONNECTORS (AFL)
BLADE TYPE FUSE PANEL {AFL)
TAILGATE SHELL WELDMENT G370
ADPHYD 12MIX12FJS90S
CYLINDER K5040BDA 99 SL PCKG.
KIT MLSM HARDLINE {MACK ONLY)
BRACKET MUD FLAP

LENSE AMBER

LENSE WHITE

CAP REGULATOR 10 PSI

WEAR PLATE HOPPER

WEAR PLATE CENTER

PIN PACKER CYLINDER

PIN PACKER CYL

SHOE CENTER

PLATE WEAR

RETAINER PIN

CAM FOLLOWER,2"

FOLLOWER COVER SLB S5CD2112580
SEAL SUMP DOOR

RETAINER COVER PIN

FOLLOWER COVER PIN

FOLLOWER COVER MOUNT SLB
WIPER RETAINER

PROXIMITY SENSOR WITH PLUG
PIVOT ACTUATOR MICRO
ACTUATOR ASSY

SWITCH LIMIT 84"CABLE NO ENDS
BEARING FLANGED

BEARING FLANGED

WASHER FENDER

BODY HYDRAULICS 25YD
BUSHING REDUCER 3/4-1/4 150PS!
BRACKET JOYSTICK MACK LE STD
ADPHYD 06MOX04MP STR

KIT MOUNTING A300

ADPHYD 20MOX20MJ STR

PIN PIVOT

SLIDING FORK ASSY (FP) (KIT)

$149.08
54.14
$127.74
$808.76
$10.54
$13.72
$7,290.00
$6,821.94
$2,720.26
$32.88
$20,005.04
$6.18
$8,391.00
§$5,537.92
$60.72
$1.26
$277.20
$139.96
$187.28
$438.70
$134.46
$104.84
$115.00
$50.84
$78.90
$113.08
$1,103.08
$58.85
$62.74
$81.98
$321.00
$86.08
$340.06
$52.04
$100.66
$276.48
$6.16
$46.32
$0.60
$5,470.32
$2.66
$30.78
$3.68
$2,911.40
$6.84
584.59
$11,633.40



2111345
2111359
2111363
2111368
2111371
2111372
2111398
2111444
2111447
2111460
2111480
2111519
2111522
2111523
2111524
2111566
2111574
2111576
2111587
2111612
2111614
2111619
2111626
2111627
2111631
2111636
2111643
2111649
2111652
2111653
2111654
2111655
2111660
2111666
2111672
2111693
2111654
2111655
2111749
2111750
2111751
2111752
2111754
2111755
2111756
2111757
2111833

SPLASH BAFFLE

AMBER STROBE LIGHT

RELAY CIRCUIT CARD

HARNESS H

AIR LINE BUNDLE MATERIAL
WOBBLE STICK/CH LIMIT SWITCH
TUBE ASSY .75" X 142.8"

3 VALVE MANIFOLD SSCD 2116900
VALVE SINGLE 4WAY

SOLENOID {ON PUMP 2104263)
SWITCH SEALED LIMIT CPI AFL
HOIST PIN

HYDRECO VALVE REPLACEMENT KIT
BUSHING HYD TANK

WASHER TANK SQUEEZER

DECAL NOTICE

DECAL TIPPER OPERATIONAL
DECAL KIT 99 SIDE LOADERS
PACKER GUIDE SLB

SCREW 10-32X1"BUTTON SOCKET HD
BRACKET PACKER POS SWITCH
VALVE DIVERTER (SLB)

BOOT

BOCT

HINGE WELD ON

PLUG

KIT PACK SWITCH S5CD 2112576
HARNESS RES OPTIONAL

NUT LOCK 8-32

SCREW CAP SOCKET HD 8-32x2.25L
CABLE CAB TO UNDER W/O FILTER
SWITCH LIMIT W/8 PIN CONNECTOR
SHEET 10GA 100KX5.375X52
SCRAPER CENTER LEFT

SOLENOID, COIL & CART MUNCI
SPILL GUARD

SPLASH GUARD REINF

MTG TONGUE
TARGET ASSY PROX SWITCH
CABLE UNDERSTRUCTURE
HARNESS GATE

ARM INSTALL COMM 8K

ARM WELDMENT - HERCULES (AP)
FORKBOX ASSY RESIDENTIAL (FQ)
FORKBOX ASSY COMM. (FR) 60"
HUB BOLT ON

CABLE DIN CONNECTOR

$32.16
$263.16
$523.08
$940.50
$429.00
$65.58
$197.06
$913.18
$156.36
$146.58
$141.47
$95.86
$4,216.14
$5.38
$64.32
$1.16
$10.50
$456.56
$414.88
$0.18
$2.94
$1,623.96
$2.70
$4.50
$4.96
$1.80
$804.72
$274.86
$0.10
$1.26
$457.62
$358.60
$50.84
553.18
$275.28
$160.04
$56.68
$3.60
$49.18
$541.42
$1,894.68
$31,280.76
$4,527.16
$4,815.60
$3,598.00
$312.66
$30.72



2111845
2111848
2111855
2111876
2111877
2111878
2111887
2111925
2111948
2111950
2111980
2111982
2112026
2112044
2112048
2112056
2112075
2112090
2112118
2112120
2112121
2112142
2112143
2112201
2112222
2112228
2112233
2112236
2112292
2112337
2112375
2112376
2112380
2112386
2112393
2112401
2112402
2112408
2112425
2112426
2112427
2112428
2112429
2112430
2112431
2112432
2112433

45D SWIVEL ELBOW
BRACKET PROX SWITCH MTG
SCREW HEX HD CAP 5/8-18X12
BLADE PACKER (FLFR 34YD) ASSY.
PLATE SUPPORT TOP

PLATE SUPPORT BOTTOM
BLADE,PACK RES. 40YD

WIRING INSTALLATION GATE 99
NUT HEX JAM 7/8-14

COLLAR CAM FOLLOWER
BRACKET ASSY DECEL MTG RH
LEVER ASSY DECEL VALVE

1/2-13 unc x 1-1/4" FLATHEAD
KIT PACKER POS SWITCH SUB
BOX CNTRL FL (TSD)

ACCESS COVER

TUBE ASSY .50" X 72.68"

COVER TRACK UPPER

HOPPER LINER FORWARD(GL370)
HOPPER LINER REAR (G370)
HOPPER LINER KIT G370 1/4"
TUBE ASSY 1.25 X 44.75

TUBE ASSY 1.25 X 92

PANEL INDICATOR

BRACKET VALVE EXTENSION -AFL
PIN REAR HINGE****
BEARING{167GDA/5040BDA/133ADA)
SEALKIT

LINER SLB HOPPER FLOOR

LATCH

KIT MTG LOAD SILL DUAL TIPPERS
STOP .375X.375X1

PLUNGER SPRING

E-STOP SWITCH W/RESET

LOAD SILL BUILD UP

KIT MTG LOAD SILL SINGLE TIP.
KIT MTG LOAD SILL DUAL TIPPER
KIT MTG LOAD SILLSINGLE TIPPER
SWITCH PLUG

ROCKER SWITCH ON-OFF

SWITCH CONNECTOR

ROCKER SWITCH ON-ON

ROCKER SWITCH ON-OFF-ON
ROCKER SWITCH GUARD ON-OFF-ON
START SWITCH GREEN

CONTACT BLOCK N.O.

SWITCH STOP BUTTON RED

$34.20
$9.58
$56.02
$10,436.08
$369.52
$225.96
$10,289.04
$4,375.34
$2.70
$64.96
$254.98
$23.06
$1.64
$3,162.74
$3,672.00
$1,391.92
$124.48
$25.36
$770.68
$1,252.76
$4,539.74
$225.72
$302.36
$182.70
$2.94
$49.39
$193.86
$288.48
$638.26
$126.72
$6,158.32
$2.32
$11.70
$537.90
$1,744.88
$5,976.28
$6,292.56
$6,014.36
$8.86
$36.00
53.06
$30.46
$27.34
$38.68
$19.00
$27.12
$52.44



2112434
2112435
2112442
2112443
2112444
2112453
2112454
2112459
2112460
2112474
2112479
2112482
2112483
2112491
2112521
2112529
2112561
2112564
2112578
2112579
2112580
2112583
2112626
2112628
2112651
2112686
2112714
2112738
2112735
2112773
2112820
2112845
2112846
21128738
2112889
2112891
2112892
2112893
2112907
2112956
2112973
2112975
2112976
2112977
2113004
2113007
2113009

CONTACT BLOCK N.C.

BUZZER ALARM

FLOOR SCRAPER RH

FLOOR SCRAPER LH

FLOOR SCRAPER 2

LIGHT RED CLEAR 2.5 DIA 100/PK
LIGHT RED S/T/T 4.0 DIA

LIGHT YELLOW MT/CLR OVAL 48/PK
LIGHT CLEAR BACK-UP 4.0 DIA
CYLINDER MODEL K6067JDA
BRACKET SPRING MOUNT
VALVE CONTROL 55P/CC/PC25
VALVE DECEL

KIT,SEAL,DECEL

LIMIT SWITCH W/4 PIN CONNECTOR
WELDMENT BATTERY BOX LID
SHEET SIDE FRONT LH 27.625 10G
BEARING MACHINED {AFL}

HUB PIN KEEPER AFL

EXTENSION PIN

FOLLOWER COVER ASSY. SLB
FLAT 7GAX3X18.875

CAN AIR-LATCH ASSY

SPACER BUMPER

HYD/ELECT SYSTEM (DECEL)
TUBE ASSY 1" X 75.125" SSCD TO
KIT ARM POSITION SWITCH
BEARING TORQUE TUBE AFL
ARM WELDMENT AFL 2000
SWITCH MOMENTARY DPST.(TSDBOX)
HYDRAULIC DUMPER ASSY
CHANNEL FORMED

TUBE RECT 3X1.5X.188WX39.20
BOLT IN PLATE
SCRAPER SLB PACKER

TUBE 1.75X.25WX6

WIPER FORMED

SHEET 7GAGR50X4.5X68

TUBE ASSY 1" X 82,937"

TORQUE TUBE ASSY.-5/8" WALL
KIT RUB-A-FENDER

KIT W/PIG TAIL - SERV ONLY

KIT PACKER POSITION SWITCH
Limit Switch Lever Kit

TUBE ASSY 1.25" X 146.875"
ADPHYD 24FIX16MJTER

TUBE ASSY 1.25" X 75.5"

$24.12
$57.42
$21.16
$21.16
$11.68
$8.92
$16.82
$7.36
$11.68
$4,912.50
$208.38
§7,138.12
$1,424.08
$29.62
$555.00
$290.72
$599.48
$198.82
$78.66
$71.68
$1,264.68
$13.02
$342.88
$107.60
$36,499.88
$208.52
$1,100.84
$134.06
$8,102.88
$31.60
$4,574.56
$472.38
$67.22
$200.02
$487.24
$14.54
$111.46
$62.94
$220.72
$2,140.48
$2,007.90
$667.44
$638.52
$50.10
$390.40
$33.90
$275.50



2113010
2113114
2113206
2113250
2113280
2113299
2113310
2113312
2113322
2113345
2113346
2113349
2113363
2113372
2113375
2113389
2113391
2113392
2113402
2113407
2113456
2113458
2113460
2113478
2113479
2113492
2113483
2113569
2113577
2113606
2113609
2113610
2113611
2113612
2113613
2113638
2113639
2113640
2113662
2113665
2113666
2113706
2113707
2113709
2113710
2113727
2113728

TUBE ASSY 1.5" X 78.5"
WELDMT,TQ TUBE, 5/8W, 3 TARGET
BRACKET ASSY DECEL MTG. RH
CHANNEL FORMED RUBRAIL LK
FENDER SKIRT LB 31YD

PLATE PACKER WIPER SL

KIT PACKER POS SLB

HARNESS CONTAINER LIGHT COMM
PLATE TIPPER SUPPORT SINGLE
ROD ALLTHD 4-40 X 36"

KIT RESID AUTO CONTROLS LT
BEARING TORQUE TUBE FL

ARM WELDMENT K {CONDOR] (AS)
PIN TAILGATE LATCH WO/BALL
FORKBOX ASSY COMM. {Fs} 60"
PACKER & FOLLOWER COVER ASSY

PIN FOLLOWER COVER ATTACHMENT
WELDMENT FOLLOWER COVER PIVOT

FOLLOWER PANEL ASSY
SUPPORT PACKER CYLINDER
BRACKET MUD FLAP

KIT MUD FLAP F.O.T.

WASHER SHIM 3/4 BOLT
LONGIT HOPPER RH W/SUMP
LONGIT HOPPER LH W/SUMP
CURVED FLOOR REAR RH 40YD
CURVED FLOOR REAR LH 40YD
UPPER FRONT POST LH

RELIEF VALVE

PACKER BLADE FL BUSHING CYLS
SWITCH CPI TIPPER TANDEM
SWITCH SIDE DOOR

SWITCH HOPPER DOOR

SWITCH LH TAILGATE

SWITCH RH TAILGATE

UNION

RUBRAIL 34YD LH

RUBRAIL 34YD RH

FLOO BASIC BODY 40YD

ANGLE FORMED PACKER RAIL 40YD
ANGLE FORMED PACKER RAIL 45YD
ANGLE GUIDE RAIL TOP 40YD
ANGLE GUIDE RAIL TOP 45YD
SHEET .25X5.38X65.44 100K
SHEET .25X5.38X85.44 100K
TUBE ASSY .75" X 69.3125"
TUBE ASSY .75" X 68.5"

$352.88
$3,342.96
$377.76
$90.54
$381.26
$13.66
$747.28
$30.52
$72.04
$8.86
$8,443.08
$1,291.09
$6,701.36
$22.96
$4,500.00
$29,656.56
$120.52
$633.28
$1,406.68
$6,443.36
$153.30
$805.14
$1.74
$198.03
$260.88
$1,688.02
$1,688.02
$51.58
$234.76
$10,463.32
$437.00
$194.35
$244.40
$244.40
$244.40
$21.70
$104.88
$104.88
$48,615.24
$187.18
$240.72
$178.12
$246.62
$109.72
$133.58
$126.96
$126.96



2113731
2113737
21137596
2113805
2113868
2113968
2114005
2114090
2114096
2114113
2114118
2114129
2114150
2114169
2114177
2114178
2114194
2114197
2114198
2114234
2114382
2114388
2114393
2114397
2114398
2114414
2114423
2114424
2114451
2114476
2114526
2114537
2114596
2114597
2114602
2114607
2114680
2114688
2114742
2114745
2114801
2114804
2114805
2114831
2114832
2114838
2114839

KIT EXTENDED HINGE BOLT ON
CONTROL MOUNT WELDMENT
LATCH PLATE ASSY LH

BODY SIDE ASSY RH FLFL 34YD
PLATE WEAR SHOE

ARM WELDMENT "L" ARM/CODE{AV)
CAB SHIELD ASSY W/EXT

DOOR HOPPER EXT

INSTALL HOPPER DOOR

VALVE REGEN

VALVE-SEQUENCE

BAR VALVE MOUNT

KIT HOSE & HARDLINE

TAILGATE PROP ASSY FL
GUIDE TOP LEFT FRONT
RETAINER CUROTTO CAN

SHEET SUMP FRONT

SUMP BOTTOM LEFT

SUMP BOTTOM RIGHT

KIT CAMERA SINGLE

LOWER REWORK PLATE LH
WASHER LOCK 3/8 HI-COLLAR
COVER SHEET FOLLOWING COVER
WELDMENT FOLLOWER TRACK LH
WELDMENT FOLLOWER TRACK RH
GATE ASSY 5.6YD 10GA ALLIED
WELDMENT BUMPER EXTENSION
KIT FORK BUMPER EXTENSION
HOSE ASSY 1 X 50" DEKALB

LIGHT HALOGEN TRAP
HYD/ELECT SYSTEM DECEL (ALLIED
BRACKET TIPPER SWITCH MTG
KIT TORQUE TUBE SUPPORT
SUPPORT TORQUE TUBE

GUSSET SUPPORT BLOCK

FORK BOX WELDMENT

SINGLE POINT FORK ASSY (AX}

KIT SPRING MOUNTING

LIGHT LED 4.0 DIA RD RED

LIGHT LED OVAL AMBER

SNAP PIN

TUBE ASSY .50"X158"

TUBE ASSY .50"X198"

LABEL PTO/PUMP LIGHT

LABEL REAR FLOODLIGHT

CAP, END W/BREATHER PLUG MACH.
SCREW, SOC HD 2 3/4" LONG

$4,494.20
$216.52
$292.47
$7,480.64
$110.58
$5,206.28
$3,860.56
$2,024.00
$6,717.68
$761.76
$147.90
$70.02
$5,966.40
$515.62
$213.76
$135.48
$56.50
$106.50
$106.50
$777.00
$103.74
$0.16
$504.80
$518.02
$518.02
$10,038.04
$430.10
$883.94
$431.16
$25.36
$36,652.96
$2.58
$3,208.50
$1,163.44
$31.80
$3,592.00
$12,372.44
$1,338.50
$25.24
$106.92
$4.06
$112.10
$179.64
$1.62
$0.86
$151.26
$12.24



2114840
2114859
2114875
2114876
2114917
2114918
2114927
2114928
2114944
2114947
2114958
2114964
2114565
2114966
2114567
2114987
2114950
2115045
2115051
2115120
2115125
2115266
2115267
2115268
2115269
2115274
2115281
2115282
2115583
2115642
2115685
2115812
2115817
2115829
2115883
2115998
2116021
2116023
2116207
2116209
2116324
2116442
2116498
2116579
2116586
2116592
2116628

KIT VALVE SERVICE

LONGIT REAR RH 40YD

RUBRAIL LH 34YD
RUBRAIL RH 34YD

SECTION PC55 VALVE

SECTION PC55 VALVE
GUIDE RAIL RH 40 43YD

GUIDE RAIL LH 40 43YD

SHEET 10GA .135X2X118 50K
CHANNEL FORMED GR 40 YD

FL PACKER BLADE COMM

INST TAILGATE 5.6
INSTALL GATE 3.75YD

GATE ASSY 5.6YD 10GA
GATE3.75YD

KIT HOPPER LINER G370

HYD SYSTEM 5SP/0C

SEAL KIT (C4028MDA)

TUBE ASSY 1.25X37.625

KIT MTG FLOO J OC

INSTALL LADDER
DECAL, T.G. PROP

HARNESS, GATE MAIN

HARNESS, GATE TOP

HARNESS, GATE BOTTOM
DECAL, WARNING, STEPS

LIGHT LED CLEAR 4.0 DIA BACKUP
LIGHT, AMBER STROBE, OVAL
GUSSET, CYL MTG TO ARM BAR
CYLINDER C4025RDA

KIT LIGHTS LED (ALLIED)

PLATE .25X2X48.75 400BN
PLATE .25X1.5X46.5 400BN

FORK ASSY COMM 1X60
RETAINER RING_SNAP

PACKING BLADE WELD. A300/G300
ASSY, CART TIP PERKINS

KIT, DUAL CART TIPPER HYD
BALL JOINT 5/16 FEMALE

PUSH ROD ASSY

SEAL KIT FOR P/N 2115644
BEARING, SPHERICAL
KIT-SEAL, CYL 2115642,C4025RDA
DECEL VALVE KIT

AIR SOLENCIUD VALVE KIT
CYLINDER-HYDRAULIC M53180 DA
ASSEMBLY-LONGITUDINAL 25 YD

$116.24
$630.00
$138.70
$138.70
$1,795.44
$1,870.86
$342.80
$248.64
$54.65
$422.06
$11,475.68
$16,733.20
$12,180.00
$9,506.28
$7,937.40
$2,859.79
$13,413.64
$189.68
$113.82
$10,954.88
$395.28
$3.24
$620.08
$360.12
$297.28
$1.62
$59.80
$256.98
$12.20
$1,804.02
$4,062.60
$51.12
$34.74
$4,031.70
$17.67
$4,131.72
$7,715.40
$3,573.00
$15.52
$109.30
$61.23
$186.12
$211.28
$7,921.80
$1,014.02
$7,425.00
$631.22



2116631
2116656
2116671
2116672
2116721
2116728
2116751
2116752
2116791
2116830
2116898
2116900
2116901
2116902
2116903
2116904
2116922
2116924
2116980
2116988
2116989
2116992
2116993
2116994
2117001
2117046
2117047
2117090
2117141
2117143
2117150
2117157
2117158
2117193
2117196
2117250
2117251
2117258
2117266
2117277
2117280
2117281
2117282
2117283
2117284
2117285
2117286

ASSEMBLY-LONGITUDINAL 31 YD
SWITCH-SWM-43, NC/NO

MTG PLT, CAB SHIELD

MTG SHIM, CAB SHIELD
EXT-FOLDING SIDE LADDER
QUICK PIN ASSY, SPRING LOADED
SCREW-HEX SOCKET SHOULDER
NUT-HEX 3/8-16, FLANGE LK, ZP
BODY ASSEMBLY

STOP-CYL CA525BDA TO C45221DA
SIDE DOOR ASSEMBLY
ASSEMBLY-3 VALVE MANIFOLD
VALVE-4 STATION AIR
SUBASE-MANIFOLD
VALVE-PARKER. SINGLE SECTION
KIT-SEAL (2116900}
WELDMENT-STIFF ARM

CYL STOP, K4525ADA TO K45225DA
SIDE STEP, BOLT ON

VALVE & CONTROL-GOLIATH
FRONT HEAD PARTIAL ENCL /G370
CONTURA SWITCH
CONTRA Il ACTUATOR, HARD
ALARM-DIRT, NEW 50 PsI

SEAL KIT-C4549NDA

BUSHING, CYLINDER

BUSHING, CYLINDER
KIT-INTEGRATED CONTROLS
ADPHYD O6MJ x 08MO STR
FITTING-SWIVEL NUT RUN TEE
FITTING-ORFICE.015

PIN, WELDMENT, ROD END

PIN, WELDMENT

SYSTEM-REAR VISION

COVER, PUMP SHAFT

CYL, EJECT G370 G400 25YD
CYL-HYD, L74162BDA

CYL-HYD, L3015ADA
KIT,SEAL,DUMPER CYL.

CYL, G300 EJECT 25 YD

CYL, A300/G300 T/G LIFT-AUTOLK
CYL, A300/G300 T/G SWEEP

CYL, A300 T/G PACKER

CYL, G300 T/G PACKER

CYL T/G SWEEP G370 G400
CYL-HYD, L6042ADA

CYL, FL TAILGATE LIFT

$760.44
$61.32
$62.62
$51.20
$191.72
$24.20
$2.84
$0.58
$33,197.28
$114.60
$740.20
$950.00
$1,174.84
$162.96
$243.54
$26.28
$553.24
$78.58
$245.28
$1,125.02
$881.88
$27.28
$5.00
$170.73
$162.84
$247.26
$78.30
$9,492.28
$1.56
$3.46
$10.98
$44.46
$30.06
$2,175.00
$237.50
$3,208.57
$5,802.00
$993.96
$64.36
$4,017.00
$1,494.00
$1,560.00
$1,896.00
$2,130.00
$1,269.00
$2,562.12
$1,112.10



2117288
2117289
2117290
2117295
2117296
2117383
2117387
2117398
2117411
2117418
2117418
2117422
2117423
2117424
2117457
2117459
2117461
2117463
2117466
2117467
2117472
2117487
2117497
2117499
2117500
2117501
2117502
2117504
2117505
2117506
2117507
2117509
2117511
2117515
2117516
2117524
2117536
2117537
2117539
2117549
2117574
2117577
2117582
2117591
2117592
2117593
2117594

CYL, FORKS-8K
CYL, FORK 8K W/FORK STOPS
CYL FORK 10K

CYL, FL ARMS-8K

CYL, FL ARMS-10K

INSTALL-CAB SHIELD EXT/AUTOCAR
INSTALL-CAB SHIELD EXT-PTRBLT
PIN QUICK RELEASE

KIT, FILTER ELEMENT CUST SET
ASSY, HIGH PRESS FILTER
ELEMENT, HIGH PRESS FILTER
KIT, CUROTTO CAN ADDITION
COUPLER

COUPLER, PARKER

KIT, SEAL

KIT, SEAL{L3031ADA)&(L3089ADA)
KIT, SEAL (L4538ADA)

KIT, SEAL (L3033ADA)
FITTING-BULKHEAD 06MPTX08JIC
KIT, SEAL (LA549ADA)

TUBE ASSY-1" 90DEG,6.5"x14.25"
PLATE-HYD CONN COVER

7/8" X 80'6" CABLE

1/2" X 56'6" CABLE

1/2" X 35'6" CABLE

CYL CART TIPPER-D6500 PERKINS
7/8" CABLE CLAMP

7/8" X 77' CABLE W/1" HOOK
FERRULE, BLACK L7

# 7 WEDGES FOR 2117505 FERRULE
TARP, 12'x26' PVC BLACK MESH
KIT,SEAL, L5549ADA

7/8" X 96' CABLE

CLAMP, 5/8", CABLE

CABLE,7/8 X 30,W/BUTTON
SENSOR PROXIMITY FLAT

HOSE KIT- G370 TAILGATE

F/L HOSE KIT-VALVE & PACKER
F/L HOSE KIT-ARMS

FACTORY MT F/L AND ASL UNITS
CYL-HYD FL ARM W/CUSH PISTON
FORK ASSY-CUROTTO CAN
PLATE-SWITCH MTG
ANGLE-PACKER POS PROX MTG
TRIP TARGET BRACKET
COVER-PACK POS PROX SW
PLATE-TG PROX SW MTG

$1,442.10
$1,425.00
$1,401.00
$1,785.00
$2,910.00
$1,027.70
$1,033.34
$71.02
$172.38
$758.52
$46.83
$12,244.92
$127.54
$47.14
$90.36
$88.30
$156.24
$99.64
$10.24
$168.12
$42.42
$48.08
$423.36
$396.70
$384.35
$3,216.00
$44.04
$519.98
$82.90
$73.98
$132.00
$178.56
$408.76
$23.74
$169.20
$124.86
$475.38
$428.26
$428.22
$38,417.80
$1,518.00
$7,074.60
$29.00
$20.00
$7.30
$3.96
$4.44



2117596
2117597
2117598
2117603
2117604
2117609
2117620
2117621
2117622
2117626
2117631
2117634
2117635
2117636
2117637
2117646
2117647
2117651
2117661
2117679
2117682
2117689
2117693
2117694
2117737
2117738
2117742
2117746
2117747
2117759
2117805
2117812
2117874
2117876
2117877
2117885
2117888
2117894
2117895
2117896
2117897
2117898
2117900
2117923
21173930
2117931
2117933

SCREW-SHCS #8-36x9/16L

HOSE KIT-FL CUROTTO CAN ADDITN
HARNESS- Y ADAPTER
RELAY-12VDC DPDT 40A
BASE-RELAY

WELD ASSY-PACK POS PROX MTG
GUTTER SEALANT-FR/L TAILGATE
KIT, FILTER ELEMENT CUST SET
ADAPTOR-20MOx16MJx45 DEG
G370 FRONT BODY LiMB GUARD
STEP, BATTERY BOX-BOLT ON
LIGHT-LED 4"RD AMB STROBE/TURN
LIGHT-LED 4"RD AMB STROBE/TURN
LIGHT-LED 6"OVALAMBSTROBE/TURN
LIGHT-LED 6"OVALAMBSTROBE/TURN
LIGHT-LED, 4"RD AMB STROBE/TRN
LIGHT-LED, 4"RD AMB STROBE/TRN
KIT-SEAL

ASSY-EXHAUST TUBE (AUTOCAR)
NUT,GLAND,HYCO L4028ADA
KIT-WASHOUT TANK, 75 GAL ALUM
CYL-HYD, F6042ADA

KIT-COMB, PROX SW FOR PKR & TD
KIT-COMB, PROX SW FOR PKR & SD
CONTROL BX COMP W/PROS SW
HARNESS-GATE MAIN-PROX SW
KIT-FL ELEC JOYSTICK W/PROX SW
KIT-INTEGR CTRL ASSY W/PROX SW
HARNESS-PROX SW, FIELD CONV.
KIT-PROX PACKER POSITION SW
TUBE ASSY-AC PRES. LINE
KIT-AUTOCAR 2008 MLSM PUMP BKT
DECEL VLV INSTALL KIT-GENERIC
CYL FL EJECT 40/44YD

CYL FL PACKER 35/37YD
FITTING-16FIx08M)

SPECIAL TEE-RTN LINE

ADPHYD 20MJx20FISx20MJ TBR
URETHANE,BUMPER PAD

TUBE 1 1/4 x12"L

KIT-SEAL

KIT, SEAL FOR 2117284

KIT, RESID AUTO CTRL(LOW TECH)
KIT-2ND SET 2-LEVER CONTROLS
CYLINDER-GLADIATOR,23YD,HEIL,P
CYLINDER-GLADIATOR,28YD,HEIL,P
CYLINDER-GLADIATOR,44YD, WITTKE

$0.22
$404.58
$57.04
$29.38
$17.86
$99.58
$47.98
§252.16
$19.90
$416.62
$410.28
$100.72
$100.72
$130.54
$130.54
$100.72
$100.72
$181.17
$292.69
$147.52
$2,551.80
$2,164.00
$1,740.46
$1,891.76
$3,000.00
$666.48
$8,747.28
$1,991.16
$500.70
$1,375.00
$155.16
$2,217.80
$7,699.20
$5,422.84
$6,294.00
$12.82
$165.00
$33.42
$76.80
$31.10
$80.38
$141.76
$11,103.96
$2,662.20
$4,590.00
$4,776.00
$7,857.00



2117952
2117953
2117954
2117963
2117965
2117985
2118040
2118042
2118083
2118106
2118107
2118109
2118112
2118113
2118152
2118179
2118188
2118200
2118201
2118202
2118203
2118204
2118205
2118206
2118207
2118208
2118209
2118210
2118211
2118212
2118213
2118214
2118215
2118216
2118217
2118218
2118219
2118220
2118221
2118222
2118224
2118225
2118226
2118227
2118228
2118229
2118230

BUGGY,FILTER,SCHROEDER $3,000.00

FILTER,BUGGY,SCHROEDER $171.00
PUMP,FILTER BUGGY,SCHROEDER $594.54
PANEL-INDICATOR $84.00
ADPHYD 16FJ5x16MO STR $6.46
BOWL-FILTER FOR P/N 2117418 $228.00
INSTALL, LADDER EXT. WASTE MGM $950.50
SIDE ACCESS DOOR LADDER/WMI $1,355.58
PLATE-JS MTG-AC $72.40
DOCK BUMPER SPACER $59.98
SUPER DOCK BUMPER/EZ RETRO KIT $825.80
SPILLKIT - FL $73.50
JOYSTICK-SINGLE LEVER-5" RDMTG $618.46
JOYSTICK-SINGLE LEVER 4.25" $606.36
CC- MTG BRACKET $137.78
ADPHYD 32MSx32MHB 90DD $230.28
PUMP-HYD VANE CCW ROT 12V $3,975.00
HYDRAULIC SUCTION STRAINER $64.90
27" K SIZE CARTRIDGE ELEMENT $143.64
CARTRIDGE HYDRAULIC ELEMENT $17.64
AIR BREATHER W/ STRAINER $40.54
CARTRIDGE HYDRAULIC ELEMENT $12.94
CARTRIDGE HYDRAULIC ELEMENT $20.80
CARTRIDGE HYDRAULIC ELEMENT $72.16
CARTRIDGE HYDRAULIC ELEMENT $84.12
CARTRIDGE HYDRAULIC ELEMENT $17.02
CARTRIDGE HYDRAULIC ELEMENT $16.72
CARTRIDGE HYDRAULIC ELEMENT $33.40
CARTRIDGE HYDRAULIC ELEMENT $34.02
CARTRIDGE HYDRAULIC ELEMENT $39.40
CARTRIDGE HYDRAULIC ELEMENT $45.70
HYDRAULIC SPIN-ON ELEMENT $10.72
CARTRIDGE HYDRAULIC ELEMENT $101.56
CARTRIDGE HYDRAULIC ELEMENT $107.10
CARTRIDGE HYDRAULIC ELEMENT $66.78
CARTRIDGE HYDRAULIC ELEMENT $66.78
CARTRIDGE HYDRAULIC ELEMENT $129.78
CARTRIDGE HYDRAULIC ELEMENT $69.30
CARTRIDGE HYDRAULIC ELEMENT $189.00
HYDRAULIC ELEMENT (SPIIN-ON}) $70.56
CARTRIDGE HYDRAULIC FILTER $158.76
CARTRIDGE HYDRAULIC ELEMENT $124.74
CARTRIDGE HYDRAULIC ELEMENT $99.54
CARTRIDGE HYDARULIC ELEMENT $60.48
CARTRIDGE HYDRAULIC ELEMENT $56.70
CARTRIDGF HYDRAULIC ELEMENT $85.68
HYDRAULIC SUCTION STRAINER $48.84



2118233
2118316
2118321
2118325
2118326
2118328
2118329
2118330
2118331
2118333
2118335
2118337
2118345
2118350
2118371
2118385
2118386
2118387
2118388
2118405
2118413
2118415
2118416
2118417
2118418
21184185
2118420
2118421
2118432
2118433
2118435
2118436
2118437
2118440
2118450
2118457
2118471
2118491
2118495
2118510
2118515
2118516
2118519
2118520
2118543
2118561
2118563

CARTRIDGE HYDRAULIC ELEMENT
SIDE ACCESS DOOR LADDER ON R/L
VALVE,RELIEF,PACK CYL

KIT, RBLD KIT FOR 2116903
PTO,MUNCIE

CYL PACKING NUT FOR L6042ADA
CYLINDER GLAND FOR L4028ADA
GSKET, VLVE BLEEDER{L55180ADA)
SCRW, VLVE BLEEDER(L55180ADA)
KIT,SINGLE CAMERA,DVR
READER,HARD DRIVE

ALUMINUM MANIFOLD BLOCK
VALVE, HYD CONTR, ASL ARM

CYL HYD- ASL EJEC

CYLINDER-HYD, PACKER EJECT

CYL ASL DUMP

CYL, HYD ASL REACH

CYL ASL LIFT

CYL ASL GRABBER

EZ RAIL

VALVE, MAIN CONTROL-ASL

CAM FOLLOWER, (4")

CAM FOLLOWER (2"}

SPHERICAL BEARING 2"

NUTS ( 1 1/2-12) FOR S128LW
WASHER {1 1/2 ID) FOR 5128LW
NUTS (7/8-14) FOR RBC2

WASHER (7/8 D) FOR RBC2

KIT GRABBER 60-90 GAL. ASL R&L
KIT-ASL ARM ASSY HOSE

GRABBER GEAR SET

NUT-CASTLE, 1"-14 ASL
WASHER-3 1/20Dx1"1D ASL

ASSY, LOWER RAIL ASL

CABLE TRAY ASSY

ASSY, CARRIAGE

ASSY, LONG ARM ASL

ASSY, DUMP ARM ASL
ASSY.-CLAMP

1410 DRIVELINE KIT

TRIP ARM PROX SW (VERTICAL)
TRIP ARM-PROX SW {(HORIZONTAL)
ASL ROCKER BOX # ASL-RB-V2
HARNESS, HOSE TROUGH

FRONT LOADER T.G. SEAL
CYL-HYD, R6060ADA

CYL, T/G LIFT G370/400 AUTO/L

$132.00
$1,636.32
$251.58
$59.02
$2,064.96
$211.06
$493.05
$3.88
$0.32
$3,285.00
$450.00
$911.16
$6,846.66
$5,195.00
$5,844.00
$1,037.15
$1,794.00
$1,388.25
$988.57
$57,363.08
$10,701.78
$246.60
$75.60
$51.77
$18.68
$5.82
$1.38
$1.38
$2,230.56
$818.16
$1,238.57
$8.26
$9.76
$5,044.56
$298.46
$5,522.00
$4,005.36
$2,373.06
$235.80
$552.00
$27.77
$27.76
$915.00
$1,035.00
$204.18
$3,322.80
$1,023.33



2118573
2118574
2118575
2118576
2118577
2118584
2118600
2118644
2118645
2118651
2118652
2118677
2118681
2118682
2118683
2118716
2118740
2118744
2118750
2118751
2118752
2118753
2118777
2118780
2118782
2118795
2118801
2118819
2118320
2118821
2118836
2118837
2118851
2118852
2118961

2118853
2118854
2118856
2118857
2118871
2118872
2118886
2118889
2118900
2118905
2118906
2118907

CYL T/G SWEEP G370/400

CYL, PACKER G370/400

CYL FL TAILGATE LIFT

CYL, HOPPER DOQR

CYL, FORKS 8K

CYL FL ARMS 8K

HD COLOR CAMERA 3RD EYE
PACKER GUIDE-RH ASL

PACKER GUIDE-LH

ASL JOYSTICK
CONTROL OPT, Y ADAPT DUAL CONT
ASSY, PACKER BLADE ASL
GUIDE, SIDE EJECTOR, ASL
COVER, RIB SUPPORT ASL
COVER ASSY, ASL

TUBE ASSY-1/2", GRAB CYL BOT
PIN, WA

PROX SW MTG BRACKET

ANGLE BRACKET

TRIP CAM-GRAB-LEVEL

LOWER ARM PIN
SWITCH-PRESSURE

PROX SW MTG BRACKET
KIT-ASL DECAL

KIT-REACH ASSEMBLY, ASL ARM
PACKER COVER

VALVE BRACKET

ASL EJECTOR & SHIELD HOSE KIT
TUBE KIT-ASL ARM

4" CAM FOLLOWER ASSY
HARNESS, UPPER ARM
HARNESS, ARM SOLENOID

MAIN HARNESS

POWER HARNESS ASL

BUMPER SMALL {GBA-10_
BATTERY/IGNITION RELAY
GRAB OPEN TIMER MODULE
HARNESS-FILTER IND. Y CONNECT
ASL STANDARD CONTROL BOX
DIN CONN.W/LED & VOLTAGE SUPP.
CLAMP, LATCH, DESTACO# 344
SCREW-PHIL HD 1/4-20x.75L-SS
7" HEAVY DUTY SINGLE COLOR
KIT-HOSE/ ASL GREASE EJT &SHLD
HYD PARTS-ASL ARM ASSY

RH GRABBER ARM ASSY

LH GRABBER ARM ASSY

$1,274.29
$2,553.00
$735.00
$1,290.00
$1,236.00
$1,870.00
$491.40
$145.62
$145.62
$1,935.00
$120.00
$17,180.52
$24.84
$46.66
$4,730.59
$46.46
$28.26
$25.96
$20.85
$2.04
$46.65
$249.00
$40.44
$275.76
$786.00
$342.07
$51.96
$181.26
$288.80
$327.09
$525.00
$599.96
$1,605.00
$1,035.00
$117.42
$120.00
$1,008.00
$95.94
$2,880.00
$26.68
$102.34
$0.32
$1,785.00
$400.12
$592.10
$1,115.28
$1,115.28



2118909
2118910
2118913
2118917
2118942
2118943
2118944
2118950
2118957
2118958
2118959
2118960
SP2119130
2118962
2118969
2118982
2118983
2118584
2118992
2118993
2118994
2118996
2118997
2118998
2118999
2119000
2119004
2119011
2119012
2119013
2119014
2115016
2119017
2119018
2119019
2119027
2119028
2119050
2119069
2119070
2119082
2119084
2119096
2119097
2119098
2119131
2119132

GRABBER BELT

GRABBER ROLLER ASL

GRABBER SPRING

HARNESS-MAIN HARNESS TO BODY
MODULE-PACK CONROL RELAY
MODULE-LIFT CONTROL RELAY
MODULE-INTERLOCK CONTROL RELAY
BRACKET

Washer, 7/8 X 2-1/2

BUMPER LARGE (GBA-13)

Bearing Holder 7/8 X 2 1/2

Bearing Holder, 7/8 X 2

BUMPER SMALL (GBA-10_

Bearing, 7/8 X 1-1/8
SWITCH-COVER-CONTRAII{NO LENS)
CONTURA SWITH BODY DPDT ON-OFF
CONTURA SWITCH BODY DPDT (ON)-
E-STOP-ON SWITCH ASSY.

KIT, CYL REBUILD

KIT-SCRAPER ASSY (2118350 CYL)
SPHERICAL BEARING (2118350)
THREADED EYELET WITH BEARING
KIT, SEAL FOR 2118386 CYLINDER
KIT, SEAL FOR 2118387 CYLINDER
KIT, SEAL FOR 2118388/2118385
HOSE END-32Fix32MHB STR
ADPHYD 24MJx32MHB STR

12VDC SOLENOID FOR 2118345 VLV
SOLENOID 0-RING / 2118345 VLV
SOLENOID NUT

MTG. VLV O-RING FOR 2118345
VALVE, PILOT RELIEF CARTRIDGE
CARTRIDGE VALVE, PO CK.

VALVE, CARTRIDGE {RV3 & RV4)
MANIFOLD-CUSTOM ASL

TUBE ASSY-3/4" CC-FEED FRONT
TUBE ASSY-3/4" CC-FEEDREAR

KIT- CONSTANT MESH PTCO

HOPPER LINER

HOPPER LINER

CHAIN-SAFETY, 1/4"x240"LONG
ARM MTG. BRKT

BACKER PLATE

KEEPER PLATE

WIPER PACKER ASL

PUMP, HYD PISTON CW ROT

HOSE ASSY-3/4x53.5L 1x3/4 FSWV

$34.20
$17.56
$26.92
$981.82
$855.00
$1,150.00
$940.00
$234.00
$27.18
$133.98
$37.08
$33.16
$117.42
$20.26
$5.38
$13.48
$13.48
$291.00
$1,058.40
$1,477.53
$312.00
$229.32
$148.14
$133.02
$137.70
$214.48
$234.12
$231.96
$6.90
$8.86
$3.90
$89.92
$90.72
$99.76
$1,692.00
$77.14
$82.15
$1,442.04
$745.62
$654.71
$17.72
$87.54
$65.28
$102.26
$146.14
$5,946.00
$108.10



2119133
2119145
2119146
2119153
2119154
2119171
21159194
2119232
2119239
2119257
2119258
2119311
2119342
2119357
2119422
2119423
2119440
2119457
2119463
2119483
2119498
2119510
2119511
2119547
2119631
2119772
2119774
2119783
2119862
2115863
2119866
2119867
2119876
2119877
2119962
2119993
2120025
2120067
2120074
2120075
2120076
2120162
2120192
2120194
2120351
2120352
2120368

HOSE ASSY-1"x53.5L 1x1 F SWV
ASL LADDER LOWER ASSY
PRESSURE SWITCH ASL

ASSY-LH ARM MTG BRKT

ASSY-RH ARM MTG BRKT

HOSE ASSY-1/2x28.375Lx90DXSWVL
BELT-GRABBER HD

HOSE ASSEMBLY

DECAL-CAUTION VEHICLE

COIL-12V W/WEATHERPACK, VANE P
CARTRIDGE-VALVE,VANE PUMP 2W2P
TUBE ASSY-3/4" AUX FEED

LOAD CELL MOUNTING ASSY
BRKT-ASSY-GRIP SW MTG.
PUMP-HYD CW 12V REVERSE
PUMP-HYD VANE CCW 12V
HARNESS-SIMULT PACK CONVERSION
HARNESS, GRIP OPEN SW ASL
SOLENOID VLV SECT-SOFTSHIFT 1
RADIUS CAB SHIELD ASSEMBLY
MANIFOLD-VANE PUMP

PIN-STOP RH

PIN-STOP LH

SWEEP PANEL

TUBE ASSY-1" G400 RL

PRESSURE SWITCH

ARON MAGNETICAL COIL TUBE
FILTER, RETURN

TUBE ASSY-RL TIPPER CS

TUBE ASSY-RL TIPPER CS

TUBE ASSY-VLV TO BULKHEAD

TUBE ASSY-VLV TO BULKHEAD
TUBE ASSY-3/4" G400 RL

TUBE ASSY- 3/4" GA0O RL

12,0004 BLOOM WINCH
DEFLECTOR ASSEMBLY F/ ASL ONLY
KIT, SEAL FOR 2117876

STOP

"0" RING, (2119783)

BUSHING, (2119783)

BOWL, (2119783)

HOSE ASSEMBLY-1/2"x36"

4" x 5" ROUND ROLLER
WASHER-1.506 ID x 2.50 OD

CYL, FL CNG TG LiFT

PUMP, DUAL VANE - CW FL

ASL OPTION DUMP 3 "N" PACK

$120.12
$288.14
$161.56
$117.48
$117.54
$65.88
$63.75
$333.42
$216.72
$60.00
$139.74
$55.93
$423.48
$1.62
$3,147.00
$3,147.00
$2,624.00
$113.22
$1,150.46
$2,333.40
$942.42
$357.20
$357.20
$2,293.36
$114.22
$453.00
$88.26
$761.38
$69.46
$69.46
$69.46
$69.46
$111.78
$112.80
$5,400.00
$810.76
$1,058.40
$11.08
$1.70
$63.03
$219.93
$71.92
$85.68
$4.42
$846.00
$11,489.22
$570.00



2120406
2120407
2120424
2120438
2120457
2120458
2120462
2120466
2120467
2120471
2120534
2120546
2120547
2120553
2120639
2120641
2120642
2120643
2120650
2120661
2120687
2120697
2120737
2120781
2120810
2121035
2121117
4120084
4120085
4120132
4120133
5000831
5002246
6000526
6000762
6000763
6000830
6000897
6000900
6000205
6000206
6000507
6000909
6000912
6000931
6000934
6000940

FILTER ASSEMBLY

FILTER SERVICE ELEMENT
GRABBER GRIP BELT

CHIME FOR 2118857 C'TRL BX
ROLLER

ROLLER SHAFT ASSY
INTEGRATED CONTROLS PROX SW
KIT-REPLACEMENT ROLLERS

KIT, SEAL FOR HYD CYL#2117928
ANTISEIZE LUBRICANT, 4 OZ.

F/L LONGITUDE FIELD FIX KIT
OUTSIDE LONG MEMBER CVR PL
F/L LONG MEMBER FAILURE KIT
PISTON PUMP COMPENSATOR FL
KIT, WIPER & WEAR PAD REBUILD
KIT, GRAB GEAR REBUILD
J-CASE STYLE FUSE, 30A

ADPHYD 40SFx40MHB 45D

ROD END FOR 2118387 CYL
CLAMP, LOADER ARM HOSE TROUGH
ALARM, ARM/GRIP

65 FT CAMERA CABLE

ARM MTG. BRACKET ASL

COIL STEM

ARM MOUNT ASSY ASL

KIT, SEAL FOR 2048538000 VALVE
RELAY-WEATHERPROOF

SLEEVE, QUICK PIN

QUICK PIN, SPRING LOADED
HOSE ASSY- 1/2"x19" LONG

HOSE ASSY-1/2"x18" LONG

BOLT ON CYL SUPPORT ASSY
LADDER, STD. 6-RUNG

TUBE 4X4X1/4X60

FLIP UP STOPS ASSY OR

FLIP UP STOPS ASSY 10

21/2X23 3/4RD PIN
ROLLER PLATE 1/2X4X7 1/2
ROLLER PIN ASSY

HYD TUBE 1"X184" HOIST

HYD TUBE 1"X97" HOIST

HYD TUBE 1"X79" HOIST

HYD TUBE 1"X194 3/4" HOIAT
CYL ACT ROD 6 1/4X80 1" PORTS
BRONZE BUSHING 30DX2.5IDX3LG
ICC BUMPER ASSY

SHIM 1/2X2 9/16X3 3/4

$620.00
$98.56
$84.06
$43.20
$70.14
$48.76
$5,900.00
$514.06
$1,473.80
$31.56
$269.16
$38.82
$383.28
$951.94
$220.97
$335.28
$9.99
$228.27
$820.00
$24.68
$74.90
$150.00
$132.00
$231.96
$92.00
$553.80
$39.99
$7.56
$7.56
$79.62
$75.58
$170.90
$674.36
$256.46
$692.44
$804.40
$260.18
$22.50
$365.06
$347.36
$238.42
$215.88
$372.92
$3,000.00
$67.54
$746.90
$9.62



6000941

6000944

60005957

6000958

6001047

6001050

6001051

1001018000
1003934000
1005226000
1005363000
1007444000
1007730000
1007814000
1007832000
1007834000
1008196000
1008198000
1009447000
1010089000
1010629000
1011441000
1011710000
1013139183
1016014000
1016019000
1016220388
1016359000
1016370031
1016370035
1016720233
1016736208
1016740115
1016740179
1016792010
1016806012
1016807011
1016807040
1016810035
1016840011
1016867015
1016888036
1016947014
1016956013
1017036017
1017036021
1017044025

SHIMM 1X2 9/16X3 3/4
CARTRIDGE HYDRAULIC ELEMENT
TUBE 3X2X1/4X22 7/16

ICC MOUNT 7/16X8 1/4X5 3/4
ELEMENT, SCHROEDER 181210
CYLINDER SEALKIT 6 1/4X80
CYLINDER REBUILD KIT 6 1/4X80
SPCR PIPE 1.55TD P&O&CX1.43
LOCK NUT 1/4-20 "KEPS NUT" CAD
STOP RING

PACKING SUPPORT RING

BUZZER

SHIM

ADPHYD 12MJX12MO 90D

MALE CONNECTOR

1" MJIC X 1" MP FORGED

WIRE CABLE THIMBLE

WIRE ROPE CLAMP 7/16" {NLA)
ADPHYD 12MJX12MP 90D

BLACK LEVER GRIP VALVE 1" DIA.
PMP HNGR ANG FLT .50X4X17.19
BUTT HINGE

SCREW HEX CAP HT8 3/4-10X5
ANG 2X2X.25X21

ADPHYD 16MJX16MO 90D
ADPHYD 20MJX20MO 90D

SH 10GA50 2X134

ADPHYD 16MIX16FP STR

RD CRS 1.25X3.62

RND CRS 1.25X3.25 SSCD 2109988
PL .25PL50 8X17

SH 8GAS50 5.75X7.75

SH 10GAS50 10X82

SH 10GAS50 2.75X40

SQUARE BAR -, SUPCD TG 2112376
RND HRS .38X5.5 C1015

RND HRS .50X5.25 M1015

RND HRS .50X4.62 (M1015)
RND HRS .75X7

RND CRS .75X1.62 C1018

FLT .25X1.75X3.93

FLT .50X2X6.5

TUBE CDS 1.50DX.22WX1.5
TUBE CDS 2"ODX.44WX2

BP .755CH40X3

BP .755CH40X6

CONTAINER RETAINER PIPE

$21.44
$75.60
$11.32
$3.78
$162.00
$175.46
$248.02
$9.20
$0.08
$73.74
$67.72
$25.12
$3.78
$5.82
$4.84
$7.14
$5.46
$18.18
$4.78
$9.90
$40.72
$10.38
$4.48
$21.58
$9.16
$15.72
$38.10
$9.34
$15.36
$14.58
$38.00
$14.50
$120.44
$16.28
$2.54
$10.54
$0.92
$12.14
$10.76
$12.70
$0.58
$5.42
$8.72
$11.82
$1.06
$2.12
$119.74



1017045010
1017117011
1017208000
1017313000
1017337000
1017544000
1017545000
1017546000
1017730000
1017851000
1017852000
1018882000
1019162013
1015166000
1019369018
1015448018
10159486011
1015973000
1015974000
1020921028
1020931015
1021007014
1021080019
1021258000
1021787000
1023880000
1025440000
1025501000
1026918000
1027120000
1027245000
1027997000
1028567000
1028757000
1028901000
1025038000
1029075000
1029167000
1029284000
1029351000
1029902000
1030055011
1030055014
1030874000
1031111000
1031321000
1031322010

BP 2"SCH40X1.5
ADAPTER M-F 1/8" 9205 2X2
SCREW SET SQHD CUPT

CH CLMP GATE RND .25X4.5
HNG SHFT R TUBE 2.5X.38WX5.75
BUSHING

YOKE PIN

YOKE

YOKE PIN

ADPHYD 16MJX16MIX16MO TBR
REDUCER

KNOB

WIRE, 14GA {16 COND} X 300"
RUBBER GROMMET

TUBE CDS 2.50DX.22WX5.38
TUBE DOM 3"0DX.25WX1
RND CRS 1.94X16.5 {(C1045
REDUCER

UNION EL-FORGED 90D

TUBE CDOM .750DX11GAWX1.5
WIRE ROPE 7/16 DIA

BAR RND CRS 1.5X7.5

FLT .19X1.5X15.19
BUMPER PIVOT TUBE SUPPORT
END GATE SEAL 15 FT LG
SWITCH SPDT

AIR RELEASE VALVE

SPRING, 1.25X4"
GATE VL 2 BRASS

ADPHYD 16MOX12FP STR
VALVE,NEEDLE 1/4 NPT #133
HINGE, STRAP [LOWER)

EYE BOLT 1/2-20X4-13/16LG
FRONT PIN

BUSHING SLEEVE-TOP
BUSHING

OIL SIGHT GAUGE

PTO AIR SW MTG BRKT
ELECTRIC VALVE (N.C.)

TIE ROD PIN

TUBING NUT ANCHOR

CLAMP 1.56" INSULATED
CLAMP .812" INSULATED
ROLLER

'O' RING CONNECTOR

CLAMP BRACKET

CHAIN #20 BALL X 12

$9.12
$3.30
$2.57
$3.78
$62.28
$65.70
$0.76
$8.34
$3.10
$16.90
$5.34
$3.84
$323.56
$0.60
$24.35
$13.52
$115.00
$3.04
52.74
$12.66
$3.76
§27.52
$2.68
$113.68
$90.70
$11.38
$18.00
$33.08
$120.24
$7.84
$23.62
$13.96
$27.76
$55.38
$99.50
$55.40
$30.22
$1.70
$437.74
$53.96
$0.98
$3.54
$3.42
$189.48
$4.62
$2.94
$5.98



1031554000
1031686000
1031687000
1031748000
1031819000
1032101000
1032480000
1032777014
1032868000
1032882026
1032994000
1032995000
1033085000
10330390000
1033165000
1033352000
1033353000
1033676000
1033788000
1034028000
1037008000
1037541000
1037593000
1037600000
1037606000
1037627000
1038004000
1038005000
1038007000
1038030000
1038065000
1038074000
1038435000
1038621012
1038621015
1038657000
1038677000
1038757000
1038766000
1038770000
1038775000
1038789000
1038750000
1038936000
1042550014
1043134000
1043180010

HINGE PIN

UPPER PIN-DUMP CYL

LOWER PIN-DUMP CYL
ADPHYD 08MIX12MP 90D
UNION TEE

BUMPER PAD MTG PL

SUMP SEAL

FLT 1X2.5X39.5

ELBOW PIPE M/FEM90DEG 1/2"
TUBE RECT 4X3X.19WX80
BOSS

FRT PIVOT PIN 6.31" X 3"
BEARING SHIM

BEARING SHIM

PIN LOCK

PIN

UNION

RUBBER BOOT

THIMBLE-WIRE ROPE-9/16
LEVER NUT

SCREW HEX HD SELF TAP12-14X3/4
HOOK

SUPPORT BUSHING TAPPED
ADPHYD 04MJX04MP STR
SPLELBOW

UNION TEE

SPLIT BUSHING (3/4 TUBING)
SPLIT BUSHING

CLAMP .50" INSULATED

UNION TEE

SPLIT BUSHING 1"-1" CSB 16-16
90D UNION EL-FORGED

'0' RING CONNECTOR
TUBE-MECHANICAL ****
TUBE,MECH .8125D X.5731DX2.25"
GUIDE SHOE

BOSS

COVER

RETAINER STRIP-SIDE
RETAINER STRIP BTM

CYL BOSS

COLLAR

HINGE PIN

PIN RETAINER

UNION, ADAPTOR 90DEG 1/8
GUIDE PLATE

TUBE CDS 4-1/40D X 9/16W X 1

$108.34
$32.02
$32.38
$4.68
$14.94
$28.76
$44.58
$181.56
$4.14
$221.32
$17.60
$63.68
$3.86
$3.86
$6.78
$36.52
$3.18
$10.18
$8.16
$24.34
$0.20
$35.80
$198.58
$3.06
$34.64
$3.66
$2.02
$2.28
$3.32
$22.26
$2.34
$4.54
$4.66
$2.08
$6.46
$64.12
$46.84
$17.20
$9.76
$26.60
$39.06
$22.64
$68.04
$18.86
$3.20
$14.50
$29.62



1043368000
1045001010
1045001021
1045047000
1045075000
1046245000
1046246000
1046550000
1046643029
1046709000
1046755000
1046822000
1046823010
1046879000
1047224000
1047240000
1047254000
1047460000
1047568000
1047604000
1047662000
1047664000
1047666000
1047672000
1047673000
1047674000
1047693000
1048292000
1048641000
1048647000
1048681000
1048690000
1048795000
1048822000
1048827000
1048966000
1048991000
1048993000
1045012000
1049299000
1049309000
1049311000
1049766000
1051972024
1052065000
1052104019
1052347000

HOOK

PL.25PL80 2X69.75

PL.25PL80 2X81.75

RETAINER

DFSL BAFFLE CHANNEL

PIN RAM

PIN CRUSHER

BOSS

TUBE RECT 3X2X.19WX35

NIPPLE CLOSE (BRASS) 1/4"
STREET TEE BRASS 1/8-1/8
ADPHYD 24MJX24MJ STR
ELBOW,SW 45DEG 1/8"M-NPT #3107
MOUNTING PLATE

SHAFT LEVER

BRACKET,SWITCH
BEARING-NYLINER 3/8

FLANGE YOKE

PIN, BOTTOM T/G LATCH CYL RL
DECAL,CAUT.-KEEP CLEAR AT ALL
DECAL-DANGER
DECAL,DANGER-STAND CLEAR MOTIO
DECAL,NOTICE-DO NOT ALLOW MATL
DECAL,WARNING-STOP ENGINE
DECAL,CAUTION-KEEP CLEAR
DECAL,CAUTION-KEEP ACCESS DR C
DECAL, SAFETY INSTRUCTION
DECAL, OPERATION

BRKT,SENSOR MOUNT
DECAL,OPERATION OF BODY PRQOP
CLAMP GATE SEAL
COVER END TUBE RH

SPRING 4"X2"

DECAL, THROTTLE ADVANCE
DECAL,CAUTION-WEAR EYE & FACE
TUBE

LATCH PLATE

RING

CLEANOUT COVER SEE

HANDLE

SWIVEL RUN TEE

'0' RING CONNECTOR

RP RH .25PL50 25.16X52.5

FLT 3/16X2X51

DECAL CONTAINER DUMPER OPERATI
TUBE SO 2X2X.19WX78.12

WIPER

$302.16
$40.20
$45.82
$4.70
$23.00
$79.64
$67.16
$57.36
$56.22
$3.06
$2.46
$23.80
$2.60
$1.24
$24.34
$125.72
$4.92
$91.68
$31.56
$1.52
$4.20
$1.62
$0.86
$2.34
$3.06
$2.24
$1.52
$1.88
$18.86
$3.12
$24.34
$18.04
$19.90
$2.88
$2.30
$153.04
$141.64
$7.82
545.46
$12.74
$27.46
$7.36
$405.50
$18.64
$3.00
$115.78
$60.18



1052637011
1052637012
1052637013
1052678000
1053687000
1053688000
1053838000
1053920000
10539539000
1054006028
1054157000
1054158000
1054164000
1054168000
1054178000
1055499000
1055944000
1055968000
1056717000
1057018000
1057687000
1057688000
1058258000
1058766000
1058832000
1058863000
1058898000
1058899000
1058970000
1058977000
1059010000
1059070000
1059102000
1059452000
1059480000
1059481000
1059484000
1059696000
1059807000
1059808000
1059924000
1059963080
1060259000
1060300000
1060305000
1060360000
1060361000

CLAMP, BAND HD 2"

CLAMP, BAND HD 2.5625"

CLAMP, BAND HD 3.0625"
MAGNETIC DRAIN PLUG W/HEX SOC
DECAL HYD OIL CLEV

DECAL BUZZER CLEV

BEARING

PIN

RETAINER

1.5 MJICX 1.5 FP 90D FORGED
SHIM, TORQUE TUBE SSCD 1060300
MOUNT-ARM

PIN,DUMP CYL BASE

BUMPER DOCK

TUBE

DECAL,CAUTION-HCSL

ADPHYD O8FJX06MJ TER
TUBE,PIVOT

PLATE HINGE SUMP CLAMP

PLATE BEARING CAP

CAM,FORK KEEPER

SPRING,FLAT (.262)

ROLLER HOPPER DOOR

POST, FRONT LH

ST THREAD CONNECTOR, TAPPED
GUSSET 3/8 X 3-3/4 X 8-1/2

PIN BOSS,SWEEP

PIN HUB,STIFF ARM

COVER

TIE PLATE

R GUS BRG .50PL30 2.75X10

MTG LOQOP

PIN QUICK REL & HITCH

DECAL, OPERATION
DECAL,NOTICE-GATE LOCKED-CURBS
DECAL,NOTICE-GATE LOCKED-STREE
SUPPORT,SWEEP PIN

THIMBLE-1/2" WIRE ROPE

BOTTOM TAB****

TAB

CAP,BEARING

SH 10GA80 47.75X76

BEARING TORQUE TUBE-660 CAST B
SHIM-TORQUE TUBE

SWITCH,STOP LIGHT

PIN-HOPPER DOOR (ORDER 1060361
RETAINER

$9.16
$22.12
$20.44
$12.76
$3.30
$2.60
$20.76
$27.78
$1.94
$40.20
$81.74
$1,481.44
$12.10
$48.90
$2.68
$1.44
$2.70
$77.52
$3.18
$11.04
$58.88
$9.94
$185.30
$191.54
$34.18
$13.72
$48.26
$32.30
$43.80
$116.84
$11.32
$36.62
$23.68
$1.44
$0.72
$0.72
$6.16
$8.16
$5.90
$19.96
$787.94
$645.24
$90.00
$2.30
$18.82
$20.24
$1.02



1060363000
1060364000
1060365000
1060405000
1060558000
10609390000
1061062038
10610839000
1061502000
1061756000
1061757000
1061759000
1061760000
1061816000
1061866000
1061955000
1061956000
1061989000
1062271013
1062287000
1062310000
1062336000
1062338016
1062338024
1062338036
1062359000
1062361000
1062363000
1062375000
1062390000
1062391000
1062419000
1062420000
1062451000
1062922000
1063184000
1063262000
1063317000
1063530000
1063536000
1063594000
1063555000
1063815000
1063817000
1064057000
1064062000
1064167000

PIN-UPPER-FORK CYL 3.43" X 1.5
PIN (MUST ORDER 10-60365)
RETAINER (MUST ORDER 10-60364)
RP LH 8GAS0 21X41.37
DECAL,INSTRUCTION

IBEM 7"@15.3#X106.88

ADPHYD 32MIX32MP 90D
DECAL-WARNING-O'ALL HEIGHT
GUSSET

PIN-SHEAVE X 3-9/16 LG****
PIN-SHEAVE X 11-3/8 LG****
PIN-ROLLER X 2-3/4 LG****
ROLLER
DECAL,OPERATION-GATE PROP
BRACKET,CHECK MTG

BUSHING

PIN X 14-3/4 LG
WASHER,NYLON 1/21DX1-1/80DX.06
BOSS 2-1/20DX1/2WALLX1/2"LG
PLATE LATCH

LH LIFT ANGLE

ADPHYD 24MJX24MJ 90D
ADPHYD 08MJX08MO STR
ADPHYD 12MJX08MOQ STR

'0' RING CONNECTOR

BOSS

END PLATE-CYLINDER SUPPORT
PLATE CYL SUPP.BOT. 4.125"HOLE
PIN-STABILIZER

GUIDE RAIL RH

GUIDE RAIL LH

HUB-CYLINDER

PIN-CYLINDER

SWITCH,ROCKER

PIN 1.50 X 6.437 C1144

LATCH PIN

HOPPER LINER FRONT {GL370)
SILL BACK-UP PLATE

HUB,ARM

RH LEVER,T'OVER

FLOOR REAR RH

FLOOR REAR LH

RETAINER SEAL

CLAMP SEAL GATE

FITTING 90DEG ADAPTER 1" W/3/8
DECAL,NOTICE-PACKING

PLATE MTG DUMP CYL

$50.42
$9.04
$91.94
$90.54
$3.06
$94.30
$78.90
$4.06
$80.36
$65.62
$148.72
$13.38
$7.54
$1.98
$2.94
$189.90
$129.54
$0.86
$48.26
$169.52
$60.08
$29.62
$1.70
$3.54
$14.22
$168.32
$34.14
$344.22
$229.18
$184.92
$184.92
$173.74
$105.90
$101.20
$35.68
$40.12
$2,178.52
$479.92
$134.96
$177.38
$1,331.38
$1,331.38
$6.96
$26.92
$53.82
$1.26
$166.24



1064344000
1064591000
1064683000
1064779000
1064780000
1064893000
1065189000
1065279000
1065305000
1065803000
1065881013
1065889000
1066021000
1066048000
1066049000
1066174000
1066176000
1066215004
1066216008
1066216009
1066217004
1066217005
1066374000
1066375000
1066381000
1066388000
1066463000
1066473000
1066493000
1066561000
1066827000
1066976000
1067070000
1067155022
1067177000
1067178000
1067221000
1067225000
1067226000
1067223000
1067331000
1067332000
1067338000
1067339000
1067344000
1067362000
1067414000

PIN 5" X 1.5"

PIN,HINGE GATE

FLSPRT LH CHAN 4" @4.5#X12.12
SHiIM W/NOTCH-HERCULES ARM
SHIM-HERCULES ARM

TAILGATE SEAL-15 FT G370/400
PIN,SWING BOLT

WASHER 3/4 2.500D
GAUGE,PRESSURE (25 PSlI)

CYL GUIDE CAP
SWIVEL SAE (JIC) 37D

ADPHYD 16MIX16MO 45D
ADPHYD 06MOXO08FO STR

BRKT SWIVEL MTG 1"
BRKT,SWIVEL MTG 1-1/2"
SWITCH

SWITCH, TOGGLE-VALVES

1/4" UNION TEE PUSH TO CONNECT
CONN,MALE (PUSHIN) #W6&8PLP-4-2
CONN,MALE {PUSHIN) #68PL-4-4
ELBOW,MALE (PUSHIN})

ELB,M (PUSHIN) #169PLNS-4-4
LOWER POST RH

LOWER POST LH

CROSS TUBE

GUSSET

BRKT,CYL MTG

VALVE LEVER

RETAINER STRIP-SIDE
FILLER,END

DECAL,OIL LEVEL

COMPANION FLANGE
SCREW,LINKAGE ADAPTER
ADPHYD 20FJX16MJ TER

RELAY

MODULE

LEVER

CONTROL ROD-PACKING
CONTROL ROD-SWEEP
BRKT,SWITCH

PIN,PACKER END

BOSS

KEEPER PLATE MTG

CHANNEL FORMED SHOE MTG
QUAD-VALVE MTG BOX

BOSS

OPERATING INSTRUCTIONS PLATE

$22.72
$37.22
$34.22
$3.24
$11.60
$66.00
$16.28
$4.74
$70.44
$16.20
$44.82
$12.18
$3.10
$3.22
$51.90
$19.80
$104.68
$19.44
$3.36
$6.60
$8.52
$6.54
$115.74
$115.74
$400.26
$13.12
$71.30
$29.36
$4.38
$1.70
50.72
$214.88
$77.42
$9.58
$6.00
$5.36
$26.22
$13.80
$13.72
$1.48
$115.42
$115.74
$61.92
$86.66
$30.50
$93.06
$9.76



1067415000
1067468000
1067469000
1067531000
1067533012
1067625000
1067646000
1067745000
1067757000
1067813000
1067828000
10678339000
1067852000
1067854000
1067863000
1067864000
1067867010
1067887000
1068142010
1068143010
1068260000
1068268000
1068292000
1068294000
1068372000
1068426000
1068432000
1068433000
1068785000
1068897000
1068910000
1068993000
1065419000
1069420000
1069421000
1069474000
1069475000
1069495000
1069567000
1069576000
1069642000
1069645000
1069965000
1069969000
1069970000
1070051000
1070052000

OPERATING INSTRUCTION PLATE
BOSS

PIN ROD END

HUB,PIN

TUBE,MECH 6X4X3/8W X 77.3125"
GUIDE, TOP

SHAFT

SPACER

SPACER

CHAN FORMED SEAL MTG
VALVE BRACKET

HUB,ARM-10K

FRONT PIVOT PIN-10K
PIN-10K-4-1/4" LG

DOOR SUMP

LATCH BAR SUMP

BOSS 5/8" LG

DOOR SIDE ONLY HERC. (39"HIGH)
BOSS 3-1/20DX2-1/16ID X 4-1/4"
BOSS 2-3/40D X 21D X 4-3/4
SUCTION STRAINER

GUIDE TOP REAR-32YD

DECAL, OPERATION
VALVE,SHUTTLE

BOSS 1-1/2 PIN 1-5/8 LG

WEAR STRIP

SUCTION STRAINER

PIN,REAR HINGE

BRACE,RH SUPCD TO 2110502
DECAL-CAUTION-CONTAINER LATCHE
DECAL,NO TOWING

SCREW-HEX 3/4/10x5.5 GR8 ZP
PLATE, CYL MTG

PLATE, CYL MTG RH

PLATE, CYL MTG LH

BLOCK CYLINDER MOUNTING
PIN-RAM

PIN, BODY LIFT

BEARING

PIPE, PIVOT ON GATE
BEARING-OILITE

PLATE CYLINDER PIN

ANGLE GUIDE RAIL 90

ANGLE FORMED 54

ANGLE, GUIDE RAIL BOTT
STRAINER 100MESH

MAGNET PLUG 1-1/4NPT

$17.20
$186.30
$127.06
$60.36
$609.36
$144.44
$121.58
$35.02
$14.26
$34.04
$66.24
$114.82
$139.24
$54.46
$41.68
$8.74
$44.68
$128.86
514876
$81.60
$85.68
$125.04
$1.52
$25.92
$66.34
$223.94
$212.52
$264.18
$18.40
$3.00
$2.88
$5.26
$153.10
$233.46
$233.50
$90.34
$77.34
$71.26
$19.78
$28.12
$13.74
$72.96
$121.22
$113.62
$129.56
$36.10
$179.14



1070126000
1070220000
1070221000
1070334000
1070346000
1070357000
1070360000
1070558000
1070565000
1070568000
1070635000
1070667000
1070673000
1070674000
1070675000
1070726010
1070765000
1070792000
1070915000
1071059000
1072047000
1072056000
1072057000
1072076000
1072077000
1072101000
1072192000
1072193000
1072232000
1072434000
1072439000
1072453000
1072560000
1072561000
1072562000
2022272000
2022643000
2022644000
2022834000
2022959000
2023650000
2023854000
2024547000
2024760000
2024996000
2026598000
2028246000

BOSS 3-1/200 X 2-17/32ID X 4-7
KEEPER SHOE

KEEPER SHOE

WASHER

CROSS SHAFT

RING, LOCK

CONTAINER SUPPORT

SCREW HEX CAP HT8 1-8 X 3-1/2
HANDLE

ANGLE

BRACKET, VALVE-HUMPHREY
BAR,COVER MTD

KEEPER,PIN PACKER

SEAL,GATE 13 FT LONG FL {(NLA)

CHAN,ROLL FORMED 1.14 IDX(81")

CHANNEL ROLLEX X 18
COVER PULL

ROLLER

PIVOT

BUSHING,END LUG ASSY
PIN 1-1/4C1018

RH LIFT RATE NARROW
LH LIFT RATE NARROW
LINER,HOPPER
LINER,HOPPER G370
HOPPER SHEET-GOLIATH
RUB RAIL 30YD RH

RUB RAIL 30YD LH

REINF XMBR 8GA
ADPHYD 12MJX16MO STR
ROLLER

BUSHING

ELEMENT,RTN (20-52353)
ELEMENT, HI-PRES

FILTER BREATHER

LIFT ARM ASSY WELDED
ROLLER & BUSHING-5YD({NLA)
CARRIER PIN ASSY(NLA)
ROLLER & BUSHING ASSY
RELIEF VALVE ASS'Y.
LONGIT HINGE ASSY
SWITCH,PUSH BUTTON
Light,Forward,Clear,Par 36 Rub
7 POST JUNCTION BOX
BREATHER CAP ASSY
SWITCH/W/BUTTON CAP
WIRING HARNESS

$115.24
$133.82
$65.78
$10.50
$333.92
$138.52
$14.58
$7.50
$69.10
$10.96
$0.42
$10.76
§7.78
$112.46
$100.92
$27.00
$3.82
$79.18
$22.64
$28.36
$59.44
$105.40
$105.40
$276.74
$229.96
$2,189.46
$163.40
$163.40
$36.52
$4.62
$129.93
$16.50
$84.54
$82.28
$16.66
$344.08
$593.49
$240.06
$414.74
$352.98
$141.74
$11.46
$21.70
$34.74
$30.36
$13.78
$14.72



2028814000
2028834000
2028839000
2030113000
2030716000
2031020000
2031529000
2032012000
2032252000
2032611000
2035164000
2035337000
2035578000
2035579000
2035735000
2035736000
2035764000
2036508000
2037015000
2037019000
2037020000
2037032000
2039025000
2035049000
2039082000
2039247000
2039250000
2039260000
2039306000
2039308000
2039341000
2039364000
2039506000
2039555000
2039643000
2039644000
2039731000
2039959000
2039960000
2040091000
2040108000
2040126000
2040213000
2040709000
2040710000
2041115000
2041397000

ADPHYD 12MOX08FO STR

PIN ASSY-PKG CYL

HINGE PIN ASSY

PRESSURE GAUGE KIT

1-1/4 SAE FLANGE TO 1 1/4" PIP
CHECK VALVE 1/4 IN

ADPHYD 08MIJX08MO 90D
DELCO CONTROL RELAY 12 VOLT
JUNCTION BOX

VALVE PRESSURE PROTECTION 1/4
SWING BOLT

PUSH BUTTON CONTACT SWITCH UNI

AIR SOLENOID VALVE (N.O.)
OCTAL PLUG IN CONTROL RELAY
CYL PIN ROD

CYL PIN ASSY BASE

INDICATOR LIGHT, RED

FRT PIVOT PIN ASSY
VALVE,SELECTOR

LICENSE PL BOLT & RECPT
LAMP LICENSE PLATE 100/PK
ADAPTER STEEL HYDRAULIC
FILLER-BREATHER

9/16 CLAMP G-450 CROSBY OR EQ
MTG BRKT ASSY

TUBE BODY RETRACT

BODY RETRACT TUBE

SAFETY STRUT ASSY

DO NOT USE!!!! SEE 2118753
PALM SWITCH-RED

PIN ASSY, CYL

PIN ASSY-CYL UPPER

VALVE CYLINDER COMBINATION
SHAFT & BOSS ASSEMBLY

MAC AIR VALVE

RV-1 REDUCING VALVE
VALVE,SKINNER (N/C) HIGH TEMP.
GUIDE WELDED ASSY LH HC250
GUIDE WELDED ASSY RH HC250
TUBE ASSY .50" X 23.50"
SWITCH,CONTROL

CONTROL BOX ASSY

CONTROL HANDLE ASSY
THROTTLE LIMIT {(MACK MR)
AIR CYLINDER

SWITCH, TOGGLE DPDT
RETAINING PIN

$4.02
$45.22
$135.94
$259.40
$40.98
$59.87
$3.34
$112.54
$86.44
$42.76
$283.01
$289.30
$264.66
$41.18
$6.96
$9.66
$20.32
$96.46
$363.78
$3.68
$4.18
$6.96
$25.08
$23.04
$179.96
$299.06
$265.14
$152.72
§327.41
$343.20
$39.74
$42.14
$304.56
$290.36
$101.26
$79.12
§271.20
$3,745.42
$3,745.42
$102.90
$12.78
$806.24
$25.30
$2,098.20
$109.86
$51.70
$12.76



2041794000
2041837000
2042300000
2042793000
2042754000
2042876000
2042911000
2042914000
2042958000
2043025000
2043030000
2043040000
2043189000
2043564000
2044276000
2044289000
2044313000
2044319000
2044323000
2044325000
2044326000
2044328000
2044331000
2044332000
2044347000
2044348000
2044352000
2044366000
2044385000
2044390000
2044391000
2044421000
2044533000
2044541000
2044561000
2044630000
2044649000
2044693000
2044694000
2044695000
2044656000
2044697000
2044698000
2044708000
2044733000
2044797000
2044850000

FILTER,AIR MINIATURE

PIN ASSY,PIVOT

WIPER WELDMENT

SPRING GUIDE-OUTSIDE
SPRING GUIDE-INSIDE

PIN-LIFT CYL BASE END

PIN ASSY HCSL

ADPHYD 16MJX16M} SBH

TUBE 3/4"-CYL DUMP LH IN
TUBE 1"-BCDY RETRACT

TUBE 1-1/2"-BODY EXTEND
GROMMET

DECAL KIT,SIDE LOADER-HCSL"A"
CHECK VALVE ASSY (NLA)
SWIVEL NUT ELBOW, TAPPED
TUBE 1/2"-GATE LIFT EXT RH
EJECTOR ASSY (G370}

ADPHYD 08MJXO08FJS 905
ADPHYD 12MJX12MJ 98H
PLATE ASSY

RADIUS ARM WELDMENT (G370}
PIN WELDMENT

PIN, 2118573 ROD END

1" TUBE,PKG RET-LH

CONTROL ROD

HANDLE WELDMENT

STEP WELDMENT

CONTROL BOX WELDMENT
WINCH,BLOOM 10,000 POUNDS
ADPHYD 12MJX12MJ SBH
ADPHYD 12MJX12MOQ STL
DECAL KIT,GOLIATH G-300
FALLBACK SHIELD WELD
VALVE,CHECK POPPET

MTG CHANNEL WELDMENT
LIMIT SWITCH

WINCH,12,000 LB

SELECTOR ROD ASSY

LATCH ASSY

LIFT ARM ASSY

SILL EXT.INSTL-POCKET W/LATCH
SIDE PLATE ASSY. LH

RH SIDE PL ASSY

ADPHYD 04MJX04MO STR
ADPHYD 06MJX06MO 90D

PIN ASSY CAM

RETAINING,PIN 1/20X3-1/2#98320

$75.24
$27.00
$105.34
$172.22
$107.74
$30.18
$50.74
57.24
$174.44
$223.94
$369.24
$0.90
$333.14
$197.20
$30.92
$111.84
$4,602.32
$3.16
$8.80
§75.22
$182.22
$17.08
$23.80
$159.62
$224.12
$63.44
$197.44
$209.42
$5,731.44
$13.78
$11.22
$285.52
$4,797.80
$69.00
$140.54
$355.26
$5,339.40
$125.04
$109.62
$476.24
$3,598.40
$133.32
$133.32
$0.94
$9.90
$260.60
$5.94



2044852000
2044881000
2045087026
2045087030
2045227000
2045316000
2045411000
2045424000
2045490000
2045491000
2045499000
2045503000
2045531000
2045618000
2045619000
2045629000
2045671010
2045671026
2045673012
2045673014
2045684014
2045722000
2045724000
2045729000
2045731000
2045760000
2045765000
2045766000
2045869000
2045874000
2045949000
2046048000
2046065000
2046237000
2046238000
2046246000
2046286000
2046400000
2046402000
2046461000
2046495000
2046507000
2046508000
2046509000
2046510000
2046511000
2046516000

PROP WELDMENT
ADAPTERS FORGED STEEL HYDRAUL
ADPHYD 16MOX12FQ STR
ADAPTER

DRIVE LINE SHORT 1280

PIN ASSY

TANK, OIL (G370)

DIFFUSER 2"

RH LATCH PLATE ASSY

LH LATCH PLATE ASSY

SHEAVE ASSY 6"DIA

SHEAVE BRACKET ASSY FRONT RH
VALVE,CHECK-PLUNGER OPER
CONTROL,JYSTK SINGLE LEVER{RD}
JOYSTICK, AIR DUAL LEVER
SHEAVE BRACKET ASSY FRONT LH
TUBE ASSY 1/2" X 31.25"

TUBE ASSY 1/2 X 47-5/8"

TUBE ASSY 1" X .083W X 38

TUBE ASSY 1" X .083W X 3-1/4
SWIVEL JOINTS JIC 37DEG

DOOR SIDE ASSY HERC.(31"HIGH)
STABILIZER-HERCULES

GUIDE ASSY-HERCULES

LATCH PLATE ASSY-HERCULES
PACKING BLADE WELDMENT({G370)
TUBE ASSY 1"-LIFT EXT

TUBE ASSY 1"-LIFT RET
ORFICE-1-3/4 REDUCER

BALL VALVE 2-1/2NPT-LOW

FORK BOX (CODE FA)

GATE ASSY 5.6YD 10GA(L/WIRING)
SILICON RECTIFIER,DIODE

FORK BOX & BUMPER 8K {CODE FB)
TORQUE TUBE-8K SSCD 70 2112956
PIN ASSY,SWEEP (6.00 X 1.50)

CYL MOUNT WLDMT

CABLE REEVING CYL HOIST G370
SHEAVE BRKT & RAIL ASSY
MERCURY SWITCH

ARM SOLID-HERCULES (CODE AB)
TUBE 1/2"-DUMP

RH TUBE 1/2"-DUMP BASE

LH TUBE 1/2"-DUMP BASE

RH TUBE 1/2-DUMP ROD

LH TUBE 1/2-DUMP ROD

RH CONTROL ROD HALF ASSY

$202.40
$13.92
$6.04
$12.28
$510.84
$61.50
$1,221.08
$89.62
$88.14
$88.14
$222.76
$48.62
$99.90
$176.10
$416.32
$48.62
$106.26
$113.44
$164.68
$121.08
$417.06
$473.02
$4,725.50
$112.18
$297.08
$3,427.60
$230.56
$233.08
$68.00
$260.04
$7,473.48
$7,400.48
542.81
$4,364.16
$1,301.52
$28.90
$662.36
$17,362.00
$804.64
$86.83
$5,366.72
$96.42
$115.38
$115.38
$117.30
$117.30
$50.78



2046555000
2046628000
2046632000
2046650000
2046768000
2047016000
2047038000
2047039000
2047040000
2047146000
2047353000
2047354000
2047405000
2047413000
2047565000
2047565000
2047680000
2047695000
2047888000
2047889000
2047908000
2047905000
2048002000
2048022000
2048079000
2048105019
2048200000
2048212000
2048213000
2048240000
2048276000
2048299000
2048300000
2048305000
2048306000
2048385000
2048527000
2048538000
2048544000
2048546000
2048557000
2048560000
2048581000
2048652000
2048669000
2048863000
2049045000

1-1/2" NPT SWIVEL JOINT ASSY
WASHOUT TANK ASSY (50 GALLONS)
FILTER,PALL HIGH FLOW ROTOLOK
CONTROL BOX ASSY
LONGITUDINAL HINGE ASSY

HUB ASSY

LATCH ASSY RH

RH BRACKET ASSY,SWING BOLT
LH BRACKET ASSY,SWING BOLT
3/4-1" STR THD CONN-TAPPED
LATCH ASSY, CAB SHIELD

CAB SHIELD ASSY LESS EXTENSION
TUBE ASSY .50" X 237.50"
ADPHYD 08MJX08MJ 9BH

PIN ASSY,PKG CYL

REINF ANGLE ASSY

HOP DOOR ASSY-HERC W/LIMB RAIL
STGHT THD ELBOW TAPPED-1/8NPT
LONGITUDINAL ASSY RH (34YD)
LONGITUDINAL ASSY LH (34YD)
LONGITUDINAL ASSY RH {40YD)
LONGITUDINAL ASSY LH {40YD)
SWITCH, THROTTLE ASSY

LEVER SUPPORT

SPOOL SECTION ASSY-HUSCO
ADPHYD 16MJX16FIS S05
CONTROL ANGLE ASSY

STOP BUTTON ASSY

START BUTTON ASSY
PACKER-HERCULES-SE
SWITCH,MICRC SWM-44

REAR HINGE ASSY RH

REAR HINGE ASSY LH

ARM SOLID-HERCULES {CODE AC)
FORKBOX 8K EXT. LEVELING {FC)
SPROCKET ASSY
RETURN LINE FILTER
VALVE,5-5POOL-COMM

HUB ASSY-10K

FORK & BUMPER 10K {CODE FD)
TUBE 1/2"-SWEEP CYL

TUBE 1/2"-SWP CYL EXT-REAR-CUR
DOOR SIDE ASSY HERC.(39" HIGH}
EJECTOR ASSY. A300

COMM PUMP 27GPM-MACHINING DWG

KIT,SAFETY DECAL-HERCULES FL
REAR CROSSMEMBER ASSY-E-Z-PACK

$1,151.28
$2,397.00
$1,852.66
$270.66
$153.10
$251.86
§71.02
$140.48
$140.48
$36.40
$52.66
$1,984.27
$197.02
$9.76
$28.98
$328.58
$2,328.84
$46.84
$481.86
$338.48
$683.66
$689.40
$30.52
$26.96
$591.60
$9.24
$11.68
$166.54
§72.42
$7,630.76
$76.08
$239.66
$239.66
$5,410.04
$4,736.84
$202.04
$320.68
$3,216.70
$271.68
$4,299.64
$129.04
$315.02
$333.40
$7,535.20
$1,474.94
$114.08
$777.22



2049139000
2049427000
2049428000
2049429000
2049523000
2045651000
2049743000
2045766000
2049769000
2049809000
2049853000
2045871000
2049891000
2049920000
2049953000
2049961000
2049967000
2049968000
2049973000
2049976000
2049996000
2050047000
2050067011
2050067013
2050067015
2050067023
2050068010
2050068011
2050068012
2050068021
2050069012
2052045000
2052073000
2052093000
2052168000
2052170000
2052174000
2052193000
2052210000
2052212000
2052216000
2052220000
2052221000
2052237000
2052247000
2052255000
2052256000

L
TUBE 1"-CHASSIS RET LINE-WHITE

RH CYLINDER SUPPORT WELDMENT
LH CYLINDER SUPPORT WELDMENT

KIT,GATE SEAL

CLAMP,HOLD DOWN-MODIFIED
VALVE ROD ASSY

ROLLER ASSY

TUBE 1/2" DUMP

KIT SHOE (RAISED TRACK)
EJECTOR ASSY (G300)

VALVE SOLENCID SKIN

TIE BRACKET ASSY
EXTENSION,SILL INSTALLATION
EXTENSION,CAB SHIELD
COVER ASSY,CLEAN-OUT
DOOR HOPPER EXTEND

GATE PROP KIT

KIT,SWITCH MOUNT

EJECTOR BASE ASSY-31YD

AIR CYL W/CLEVIS & BRKTS
TUBE ASSY 1/2"-DUMPER CART
ROLLER ASSY W/SLEEVE BRG.
CLAMP, SGL CUSH 1/2" OD TUBE
CLAMP,SGL CUSH 3/40D TUBE
CLAMP,SGL CUSH 1" OD TUBE
CLAMP, SGL CUSH 2"0D TUBE
CLAMP, HYD TUBE 1.0 DIA
CLAMP, HYD TUBE 1.25 DIA
CLAMP HYD TUBE 1.5 DIA
CLAMP, HYD TUBE 1.75 DIA
CLAMP-1 1/2" SINGLE STAUFF
SILL ASSY

LATCH ASSY

TUBE 1/2 GATE UNDERST. 30YD
STIFF ARM WELDMENT (G370)
STIFF ARM W.A_, RH A/G300
WIRING INSTALLATION

VALVE, COMMERCIAL
TRAILING COVER WLDMT{HCR)
MOUNTING PLATE WLDMT
DOOR WLDMT TOP RH

TRACK WLDMT RH

TRACK WLDMT LH

TUBE (3/4 PACK)

LIFT PIN WLDMT

LIFT LINK ASSY

ROD END ASSY LH THREADED

$347.58
$880.96
$880.96
$135.84
$383.92
$123.66
$95.68
$94.68
$996.00
§7,711.84
$990.00
$100.92
$3,853.88
$931.72
$81.76
$2,955.81
$1,504.90
$308.20
$1,302.68
$187.92
$126.78
$148.68
$6.34
$6.72
$6.34
$8.38
$10.24
$13.44
$22.68
$56.14
$13.24
$796.36
$67.26
$191.22
$410.28
$599.06
$3,355.38
$4,510.20
$578.54
$63.16
$6,299.88
$519.02
$519.02
$139.84
$21.68
$706.52
$90.80



2052257000
2052261000
2052262000
2052275000
2052286000
2052250000
2052291000
2052294000
2052308000
2052344000
2052345000
2052347000
2052353000
2052362000
5501097000
5501860000
5501861000
5501509000
5501910000
5501911000
5501912000
5501918000
5501927000
5502245000
5504927000
5505295000
5505350000
5505352000
5505354000
5505388000
5505397000
5505398000
5505403000
5505404000
5505406000
5505687000
5505688000
5505734000
5505807000
5505854000
5505872000
5505900000
5506020000
5506021000
5801024000
5802135000
5802479000

ROD END ASSY THREADED RH
PROP POCKET WLDMT RH
PROP POCKET WLDMT LH
CONTAINER LIFT ASSY

VALVE, HOC 55P00L

VALVE, REAR

LADDER ASSY

VALVE, FRONT

HOOK SLIDE WLDMT

HYD CYL.K4549LDA 1.5" PIN
MNK3516LDA CYL({PAIRS}
CYLINDER MN K3033DDA-COMM
RETRN FIL ASSY/USE P/N 2119783
CYLINDER MN K2563EDA-COMM
CHECK CAP

BOOT FOR DUAL JOYSTICK
BOOT FOR SINGLE JOYSTICK
BACKUP RING

O-RING

O-RING RING

SPRING

PNEUMATIC ACTUATOR ASSY
O-RING COM.,

RELIEF

SPOOL CAP

SOLENOID {20-39506)

SAE "O" RING #8

SAE "0" RING

SAE "O" RING #16

Valve Cap

SPRING GUIDE

PLATE

O RING

O RING

SPRING

SEAL KIT - IQYSTICK {20-45619)
REPAIR KIT-JOYSTICK {20-45619)
RET. FILTER ELEMENT PALL
ELEMENT, 10 MICRON

RELIEF VALVE (2000 P.S.1.)
SPOOL SECTION ASSY

RELIEF VALVE 2500 P.S.I.
GASKET

WASHER NYLON
BLUE LOK HEXNUT

COLLAR

COLLAR

$90.80
$159.32
$159.32
$8,202.24
$2,775.00
$2,593.40
$231.76
$2,747.50
$21.94
$2,184.10
$1,579.66
$4,524.00
$1,105.04
$2,335.96
$35.52
$83.95
$150.36
$12.10
$4.86
$6.22
$1.70
$289.06
$1.74
$56.02
$152.26
$70.48
$0.52
$3.88
$4.62
$29.58
$31.32
$20.76
$3.00
$3.54
$22.14
$144.00
$241.78
$215.26
$12.94
$89.70
$761.92
$566.02
$25.44
$0.22
$11.88
$102.84
$165.13



9101621000
2104537-H

2105135-NO FORKS

2112866L

2117284 - GLAND

2117876-1
2117876-2
2118413-1
2118413-2
2118413-3
2118491-1
2118996-1
2R04537
2R04792
2R06096
2R18573
C2002591
G01104000
G06055000
G06107000
G06212000
G06263000
G06369000
G07004000
607022000
G0B009000
G08012000
G08208000
G08258000
G08262000
G08308000
G08358000
G08400000
G08402000
G08413000
GO8417000
G08420000
(08444000
G08463000
G08483000
G08736000
G09025000
G09027000
G09035000
G09077000
G09078000
G09125000

CYL.PACKING KIT (C5292-FDA}
CYLINDER, 40YD,HYCO

FORK BOX, (FK), SCALE READY
PIN,1.5DIAX 111G
GLAND,L4028ADA, HYCO
BEARING, SPHERICAL
RETAINING RING

SEAL KIT COMPLETE ASL
INLET REBUILD KIT

VALVE SECTION, REBUILD KIT

OUTSIDE MACHINING/DUMP ARM WA

SPHERICAL BEARING

REBUILT CYL M/N K63167FDA
REBUILT VICKERS PUMP
REBUILT K63167GDA

REBUILT CYL- (R4028ADA)
NUT-HEX JAM 1/4-20 316SS
SCREW LAG 3/8X2

PIN COTTER 3/32X3/4

PIN COTTER 1/8X1

PIN COTTER 3/16X1.75

PIN COTTER 1/4X2

PIN COTTER 3/8X4

GREASE FTG STR 1/8NPTX9/16
GREASE FTG 90DEG 1/8THDX27/32
PIPE PLUG HEX SOC F STL 1/8"
COUPLING PIPE 1/8"

PIPE PLUG SQ HD C1 3/4

PIPE PLUG,SQ HD CI 1"
COUPLING PIPE, 1"

PIPE PLUG,5Q HD CI 1-1/4"
PIPE PLUG,SQ HD Cl 1-1/2"
ELBOW PIPE, 90DEG MI 2
PLUG,PIPE-HEX SOC F STL-2"
NIPPLE,PIPE CLOSESTD 2 X 2
NIPPLE,PIPE STD 2 X 2-1/2 P&O
NIPPLE,PIPESTD 2 X 4 P&0O,C
COUPLING,HALF PIPE-2"
NIPPLE,PIPE CLOSE STD2-1/2X2-1
ELBOW PIPE,90DEG RED 2-1/2 TO
NUT-BEX NYLOC #4-40
NUT,HEX FIN 1/4-20

NUT,HEX REG 1/4-28
NUT,CENTER LOCK-CP-1/4-28
NUT,HEX REG 5/16-24
NUT,HEX REG JAM 5/16-24
NUT,HEX FIN 3/8-16

$64.90
$4,176.00
$3,182.56
$33.76
$821.26
$312.00
$9.93
$1,124.30
$48.36
$163.26
$3,127.32
$18.00
$3,051.00
$4,853.20
$3,838.50
$234.60
$0.46
$0.68
$0.06
$0.04
$0.44
$0.26
$1.40
$0.68
$1.20
$2.18
$2.16
52.86
$3.10
$5.56
$3.84
$5.24
$20.26
$25.84
$6.36
$9.28
$6.46
$8.56
$14.62
$56.10
$0.06
$0.16
$0.08
$0.32
$0.10
$0.08
$0.32



G09135000
G09177000
609225000
G09227000
G09236000
G09311000
G09335000
G09475000
G09486000
(18080000
G18114000
18131000
G18133000
(18154000
G18220000
(G18229000
G18230000
G18231000
G18234000
G18235000
G18235000
G18241000
(18307000
G18330000
G18331000
G18372000
(18384000
G18401000
G1865%000
G20202000
G23110000
G23111000
G23339000
G23431000
G31202000
G31204000
(39035000
G39325000
G39350000
G39425000
39525000
(G35538000
G39675000
639775000
G35777000
(G39825000
G41028000

NUT,CENTER LOCK-CP-3/8-24
NUT,HEX REG 7/16-20

NUT,HEX FIN 1/2-13

NUT,HEX REG 1/2-20

NUT,CENTER LOCK-CP-1/2-13
NUT,MACHINE HEX NF 10-32
NUT,CENTER LOCK-CP-5/8-18
NUT,HEX FIN 1-8

NUT,CENTER LOCK-CP-1-8

SCREW HEX CAP 5/16-24 X 1-1/4
SCREW HEX CAP 3/8-16 X 3-1/2
SCREW HEX CAP 3/8-24 X 1-1/2
SCREW HEX CAP 3/8-24 X 2
SCREW HEX CAP 7/16-14 X 1
SCREW HEX CAP 1/2-13 X 5
SCREW HEX CAP 1/2-20X 1
SCREW HEX CAP 1/2-20 X 1-1/4
SCREW HEX CAP 1/2-20 X 1-1/2
SCREW HEX CAP 1/2-20X 2-1/4
SCREW HEX CAP 1/2-20 X 2-1/2
SCREW HEX CAP 1/2-20 X 3-1/2
SCREW, HEX CAP .500-20 X 4 LG
SCREW HEX CAP 5/8-11 X 1-3/4
SCREW HEX CAP 5/8-18 X 1-1/4
SCREW HEX CAP 5/8-18 X 1-1/2
SCREW HEX CAP 3/4-10 X 5-1/2
SCREW HEX CAP 3/4-16 X 2-1/4
SCREW,HEX HD CP 3/4-16 X 6-1/2
HEX CAP PLTD 1/2-20 X 3-1/2
SCREW DRCD PL#6X 1/4

SCREW MACH RHD #4-40 X 1"
SCREW MACH RHD #4-40X1-1/8
SCREW MACH RHD #10-32X1-3/4
SCREW MACH RHD 1/4-28X1/2
SCREW SET,SQHD,CUPT,1/2-13x3/4
SCREW SET,SQHD,CUPT,1/2-13x1
WASHER 2.50Dx1.31 IDx.165AE,ZP
WASHER,PLAIN REG .281ID 1/4 BO
WASHER,LOCK REG .523ID 1/2 BOL
WASHER,PLAIN REG .406!D 3/8 BO
WASHER FLT REG .531ID 1/2 BO
WASHER,PLN REG ZNC.5311D 1/2
WASHER,PLAIN REG .813ID 3/4 BO
WASHER, REG 1.063ID 1" BO SAE
WASHER,PLAIN HVY 1.063ID 1" BO
WASHER,PLAIN REG 1.188ID 1-1/8
O-RING 1-3/4 OD X 1/8D 70DU

$0.14
$0.26
$0.28
$0.66
$0.44
$0.44
$6.96
$2.10
$3.76
$0.48
$1.04
$0.72
$0.90
$0.46
$2.22
$0.70
$0.72
$0.98
$1.20
$1.16
§2.34
$1.98
§1.78
$1.20
$1.62
$5.56
$5.70
$7.34
$2.34
$0.14
$0.14
$0.12
$0.14
$0.30
$2.10
$4.29
$0.96
$0.10
$0.14
$0.16
$0.34
$0.46
$0.46
$1.98
$2.34
$1.80
$0.36



G41072000

G46193000

G46233000

G46235000

G72005000

5P1006136000
SP1011315000
SP1013901012
5P1013943038
5P1013961264
5P1016719103
5P1016719138
SP1016719139
5P1016719143
5P1016723035
5P1016745034
SP1016759016
SP1016807015
SP1016807027
SP1016810036
5P1016978010
SP1017031015
5P1017044027
SP1017200000
SP1017204041
5P1017351040
SP1017449041
SP1017500000
5P1017852000
5P1015141010
SP1019369018
5P1019427025
5P1019448012
SP1019486013
5P1019612029
5P1019703034
5P1019703035
5P1020961016
SP1020961017
5P1028885000
SP1031791000
5P1032007000
SP1032016000
5P1033517000
5P1037001000
SP1038621012
SP1038784000

O-RING 8 OD X 1/4D 70DU
PIN,ROLL 1/4 X 1-1/8
PIN,ROLL 5/16 X 2-1/2
PIN,ROLL5/16 X 3
CLAMP,CONDUIT & PIPE STL 1"
REAR HINGE SHAFT WASHER
CYL LOC PIN RVT BUT HD 1/2X5
FLT .25X2X6

FLT .25X3X37.62

PL .25PL50

PL.19PL50 2X2

PL .19PL50 6X6

PL .19PL50 5X6

PL .19PL50 39.87X79.75

PL .50PL50 6.25X79.93
LOWER WEAR SHOE

ANG 8X4X.50X79.93

RND HRS .50%2.25 M1015
RND HRS .50X1.38 M1015
PIN RND HRS .75X1.75

TUBE CDS 3.50DX.75WX56.75
PIPE .38" X-STR P&0O&C X 1.56
PIPE 1-1/2 X-STR P&O X 68.50"
XMBR BR .25PL50 3.44X5.62
TUBE SQ 1.5X1.5X.12WX22.25
ANG HRS 2X2X.19WX60

FLT .25X4X12

BACKING STRIP FOR MUD FLAPS
ADPHYD 16FJX12MJ TER

WIRE #12 SOFT STEEL X 10
TUBE CDS 2.50DX.22WX5.38
TUBE 5Q 3X.25WX4
CONTAINER DUMPER TUBE
RND CRS 1.94X10.62 (C1045
CHAN 6" @12#X232.56

TUBE RECT 4X2X.25WX144
TUBE RECT 4X2X.25WX70.75
SQ HRS .5X.5XX84.25

SQ HRS .5X.5X87.25

BRACKET PUMP

GUSSET 2-1/4 X 2-1/4

CLEVIS LOCK EAR

TUBE LIFT ARM

LFT LNK RD HRS .62X12.5
LATCH HANDLE

TUBE,MECH.81250DX.573IDX1-1/2"

GRAB HANDLE

$6.04
$0.48
$0.72
$0.96
$3.06
$24.64
$10.50
$48.16
$25.02
$12.52
$0.60
$5.62
$4.66
$413.50
$207.74
$85.34
$721.92
$0.42
$15.28
$15.78
$2,039.32
$14.96
$133.22
$4.32
$18.58
$37.50
$15.88
$9.16
$5.34
$0.22
$26.64
$10.12
$552.32
$67.02
$1,254.10
$265.96
$180.92
$26.00
$26.78
$295.50
$3.18
$3.18
$19.38
$3.32
$10.02
$9.62
$49.00



5P1043133000
SP1043152000
5P1046790011
5P1047569000
5P1047603000
SP1048995000
5P1049013000
5P1049117000
SP1053659000
SP1054165000
5P1058681000
SP1058687000
5P1058692000
SP1058697000
5P1058703000
SP1058706000
S5P1058707000
5P1058865000
S5P1058866000
SP1058880000
SP1058887000
SP1058897000
5P1058502000
SP1058938000
SP1058939000
SP1058940000
5P1058991000
5P1059335000
5P1059367000
S5P1059377000
5P1055493000
5P1059801000
SP1059807000
SP1059946000
$P1060113000
SP1060192000
SP1060300000
5P1060306000
SP1060361000
SP1060885000
SP1061698000
5P1061699000
5P1061739000
SP1061740000
SP1061747000
SP1061756000
5P1061759000

CONTROL HANDLE

DOOR LATCH

TUBE DOM 4.50DX7/32WX.50
LATCH PIN

TRACK

PIVOT PLATE-INBOARD

TANK REINF RING
HANDLE,CONTROL

GUARD CLEV

ANGLE,BUMPER MTG

PIN 2.5DIA X 7.19

END PLATE

PIN,TOP EJECT CYL G370 G400
PIN,LOWER EJECT CYL G370 G400
GUSSET,REAR POST

SUPPORT ANGLE{FORMED)
REAR APRCN

BUSHING

BUSHING

PIN BOSS

PIN HUB,PKG CYL

PIN HUB,SWEEP

PIN, PKG CYL BASE END G370/400
SWEEP BEARING

SHIELD BEARING

SWEEP BEARING

TOP SHT

GUSSET

PIN,BLADE PIVOT 3" X 11-13/16
PIN-1" X 5"

FENDER SKIRT RH
PIN,TRUNION

TAB

WEAR PLATE

LIFT PIN SEE

LATCH

SHIM-TORQUE TUBE

BRACKET SWITCH MTG
RETAINER

ANGLE, TANK MTG

RH LATCH PLATE

LH LATCH PLATE

BUSHING

BRACKET

BOSS-PIN X 1-1/2 LG
PIN-SHEAVE X 3-9/16 LG
PIN-ROLLER X 2-3/4 LG

$44.68
$18.68
$4.56
$89.80
$142.60
$10.12
$34.28
$4.98
$14.10
$94.26
$33.28
$14.64
$144.22
$99.10
$29.36
$213.82
$231.94
$97.52
$66.76
$18.00
$11.04
$103.28
$60.72
$41.86
$12.34
$67.44
$290.78
$2.94
$143.60
$33.54
$69.18
$186.86
$§17.20
$141.36
$9.72
$5.70
$2.88
$0.60
$1.02
$30.82
$58.42
$58.42
$147.30
50.24
$9.26
$196.24
$29.08



SP1061761012
SP1062282000
SP1062283000
SP1062284000
SP1062286000
SP1062291000
SP1062357000
SP1062400000
SP1062418000
SP1062848000
SP1063120000
SP1063182000
5P1063183000
S$P1063185000
5P1063186000
SP1063241000
SP1063527000
SP1063576000
SP1064779000
SP1064780000
SP1064802000
SP1066191000
SP1066198012
SP1066770000
SP1066771000
SP1066774000
SP1066873000
SP1067312000
SP1067335000
SP1067343000
5P1067427000
SP1067625000
SP1067669000
SP1067725000
SP1067850000
SP1067853000
SP1067996000
SP1068114000
SP1068151000
SP1068290000
SP1068291000
SP1068516000
SP1068754000
SP1068875000
SP1069020000
SP1069470000
SP1070456000

WIRE,CABLE 9/16 DIA X 740
BOSS-GATE HINGE
PIN-HINGE GATE
BOSS-GATE

PLATE LATCH REINF

PLATE LATCH 1/4X5-5/8X16-5/8
REINF CYL SUPPORT

HINGE GATE

COVER

FILLER REAR POST

RADIUS ARM (G300-A300)
RH LATCH PLATE,INNER

LH LATCH PLATE,INNER

RH LATCH PLATE,OUTER

LH LATCH PLATE,OUTER
PIN,BLADE PIVOT

PLATE SWITCH

PIN,RADIUS ARM

SHIM W/NOTCH-HERCULES ARM
SHIM-HERCULES ARM
SWITCH BRACKET
GUIDE,ARM HERCULES

OIL LEVEL CHECK TUBE X 13-3/4
ANGLE-GATE SEAL
KEEPER,PROP

SKIRT,REAR

RETAINER

STOP,FORKS

ANGLE FORMED-SHOE MTG PACKER
PLATE FACE PACKER
GUSSET

GUIDE, TOP

GUSSET

REINF PACKER

PIN LOCK

PIN, UPPER-FORK CYL
APRON

BUSHING

PIN

PLATE,FRONT MTG

MTG LOOP

GUARD

RETAINER, SEAL

PIN,LIFT

HOPPER SHEET

ANGLE (FORMED)

FILLER RAILEND

$314.40
$127.34
$105.76
$33.04
$23.42
$36.02
$30.82
$339.90
$18.04
$25.76
§72.22
$29.36
$29.36
$24.30
$24.30
$77.98
$2.58
$20.66
$11.42
$7.64
$26.50
$30.50
$5.48
$9.66
$2.94
$379.50
$13.86
$16.38
$359.26
$625.60
$55.54
$144.44
$12.83
$33.18
$5.00
$40.00
$249.84
$124.80
$79.96
$36.66
$50.06
$4.88
$9.16
$23.28
$3,677.98
$30.36
$25.58



SP1070512000
SP1070524000
SP1070525000
SP1070722000
SP1070723000
SP1070725000
SP1070727000
SP1070856000
SP1070872000
5P1070873000
SP1070874000
SP1072085000
5P1072050000
5P1072101000
5P1072255000
SP1072285000
SP1072286000
5P1072287010
5P1072372000
SP1072547000
SP1072571000
5P2036981000
SP2044271000
5P2044275000
SP2044286000
5P2044287000
5P2044288000
5P2044289000
5P2044290000
5P2044291000
5P2044252000
5P2044298000
SP2044299000
5P2044333000
5P2044335000
5P2044336000
5P2044337000
5P2044341000
5P2044343000
5P2044344000
SP2044345000
SP2044346000
5P2044352000
SP2044421000
5P2044557000
SP2044558000
SP2044838000

FLOOR RUNNER
RH TIE PLATE

LH TIE PLATE

PIN,BOSS

FILLER, GATE SEAL

FILLER GATE SEAL
FILLER,CORNER GATE SEAL
BOSS,PIN-SWEEP
HUB,PIN-STIFF ARM
HUB,PIN-SWEEP
HUB,PIN-STIFF ARM
BRACKET, SEAL MTG. LH
BRACKET, SEAL MTG. RH
HOPPER SHEET-GOLIATH
BRACE GATE BOTT 5.6
GUIDE SHOE

FILLER PLATE

RECT TUBE-4x3x1/4Wx43.813
PLATE, PIVOT OUTSIDE

BAR, COVER MTG

BRKT, FILTER SCHROEDER
SWITCH

TUBE ASSY .50" X 158.78"
TUBE 3/4"-EJECTOR EXTEND
TUBE 3/4"-GATE PRESSURE
TUBE 1"-GATE RETURN
TUBE 1/2"-EJECTOR RETRACT
TUBE 1/2"-GATE LIFT EXT RH
TUBE 1/2"-GATE LIFT EXT LH
TUBE ASSY, LH 1/2 X 3.88 FT
TUBE 1/2"-GATE LIFT RET RH
TUBE 1/2"-GATE LIFT EXT LH
TUBE 1/2"-GATE LIFT RET LH
1" TUBE,PKG EXT-LH

3/4" TUBE,SWEEP-LH

3/4" TUBE,SWEEP-RH

1/2" TUBE,SWEEP RET
BEAM WELDMENT

RH PLATE ASSY

LH PLATE ASSY

FRONT POST ASSY RH
FRONT POST ASSY LH

STEP WELDMENT

KIT, DECAL GOLIATH G-300
REAR CORNER POST ASSY LH
RH REAR CORNER POST ASSY
KIT, GATE SEAL INSTL

$11.22
$269.20
$269.20
$5.98
$2.94
$2.94
$15.48
$22.54
$78.94
$127.28
$10.12
$23.92
$55.34
$3,677.98
$458.12
$47.56
$2.94
$133.86
$68.04
$3.04
$106.72
$67.90
$512.72
$33.68
$200.28
$199.32
$83.53
$111.84
$115.83
$118.36
$122.14
$118.36
$120.89
$258.48
$106.77
$106.77
$114.82
$605.92
$349.52
$349.52
$201.94
$201.94
$348.36
$297.06
$235.16
$235.16
$227.00



SP2044851000
5P2045148000
SP2045159000
5P2045160000
SP2045233000
5P2045248000
5P2045669010
SP2045671024
5P2045673026
S5P2045673029
5P2045760000
5P2046067000
5P2046625000
SP2047221000
5P2047405000
SP2047835000
SP2048326000
5P2048521000
5P2048540000
SP2048696000
SP2048767000
5P2048768000
5P2049063000
5P2049589000
SP2049920000
SP2049962000
SP2050002000
SP2052167000
5P2052254000
5P2052372000
5P2101093
5P2101359
SP2101477
SP2101478
5P2101509
SP2101526
5P2101601
S5P2101611
SP2101936
SP2101937
5P2101945
SP2101969
5P2102061
5P2102383
SP2102389
S5P2102414
SP2102505

GATE PROP ASSY

CYL MTG ASSY

RH FENDER SKIRT ASSY

LH FENDER SKIRT ASSY

TUBE ASSY .50" X 198.78125"
TUBE 3/4"-GATE PRESSURE-188.25
TUBE ASSY 3/4" X 23

TUBE, 1/2 X .065W X 25"

TUBE ASSY, 1 X 34.50"

TUBE ASSY, 1 X 8.5"

PACKING BLADE WELDMENT{G370)

KIT, DECAL HERCULES

MOUNT TORQUE TUBE
TRACTOR LIGHT KIT

TUBE ASSY 1/2" HOPPER DR EXT
DRAIN COVER ASSY

TUBE ASSY-HOPPER
LONGITUDINAL WELDMENT
KIT, T/G SEAL G370 G400
KIT,DECAL-APOLLO

LH SIDE PLATE ASSY

RH SIDE PLATE ASSY
LONGITUDINAL WELDMENT
TANK, HERCULES 1/4" SHELL
EXTENSION,CAB SHIELD
SUPPORT ASSY

KIT, FLT/G SEAL

END LUG ASSY

TUBE ASSY

KIT, FILTER H.P.

BRACKET, VALVE

KIT, LIGHT SIDE MTG

TUBE ASSY-1"HP GATE CROSSOVER
TUBE ASSY-1" RET. GATE CRSOVER
TUBE ASSY, 1/2 X 63.25"

HOSE ASSY, 1" X 50"

TUBE RETURN TO FRONT FILTER
TUBE, RETURN TO FRONT FILTER
TUBE, SWEEP CYL EXTEND
TUBE, SWEEP CYL EXTEND
TUBE, LIFT CYL CROSSOVER
TUBE, PACKING CYL-ROD END

BRACKET,PROXIMITY SWITCH MTG.

HOSE ASSY, 1/2" X 30"
HOSE ASSY, 1/2" X 90"
HOSE ASSY,3/4" X 30"
HOSE ASSY 3/8" X 37"

$447 .44
$979.98
$203.38
$203.38
$92.78
$192.00
$25.12
$16.74
$161.78
$127.70
$3,954.62
$209.04
$2,555.86
$64.22
$86.12
$492.94
$264.18
$436.08
$151.62
$281.24
$224.58
$224.58
$362.54
$4,234.56
$931.72
$846.68
$379.62
$206.72
$34.60
$1,908.40
$65.42
$396.24
$273.84
$169.42
$120.38
$408.54
$310.32
$269.80
$118.64
$100.92
$121.08
$154.10
$50.00
$98.72
$229.64
$166.48
$138.46



S5P2102556
SP2102578
SP2102677
SP2102678
5P2102926
SP2102999
5P2103074
SP2103075
SP2103245
SP2103469
5P2103470
SP2103488
SP2103489
SP2103490
SP2103560
Sp2103747
SP2103793
5P2103911
5P2103919
SP2103920
SP2103921
5P2103922
5P2103931
SP2103959
S5P2104110
5P2104120
5P2104303
5P2104304
SP2104305
S5P2104381
5P2104391
SP2104392
5P2104457
SP2104510
5P2104555
SP2104564
SP2104565
5P2104593
SP2104594
5P2104595
SP2104781
SP2104784
SP2104786
SP2104787
SP2104788
SP2104789
SP2104852

HOSE ASSY .50"X50"

HOSE ASSY 1" X 23"

TUBE ASSY 1/2"

TUBE, GATE 1/2"

CORNER REINF.

PIN, SWEEP (1.50DIAX7.5

HOSE ASSY, 3/8 X 34"

HOSE ASSY, 3/8 X 42"

REAR SHEET ASSY G-370

PLATE, TIE RH G370

PLATE, TIE LH G370

LOOP, MOUNTING

KIT, TEETH INSTALL

TOOTH, LOAD RETAINER

PLUG AND CHAIN ASSY

TUBE RTN ASSY 1.50"X66.5625"
BRACKET-SCHROEDER FILTER
HOSE ASSY, 1/2 X 44" 3500 PSI
TUBE ASSY, 1 X 51.1875" (ARMS)
TUBE ASSY, 1 X 55.75" (ARMS)
TUBE ASSY, 1/2 X 53.25" H-DOOR
TUBE ASSY, 3/4 X 47.4375"
ADPHYD 16MJX16M)J 9BH
BRKT,FILTER SCHROEDER

TEE, 1/2 TUBE, 1/8 ORFICE

HOSE ASSY, 1/4 X 96"

BRACKET, PUMP SHIELD RH
BRACKET, PUMP SHIELD LH
PLATE, PUMP SHIELD

TUBE ASSY, 1 X 54.875"

TUBE ASSY, RH 3/4 X 46"

TUBE ASSY, LH 3/4 X 46"

TUBE ASSY 1.50" X 61.125"

HOSE ASSY, 1/4 X 20"

HOSE ASSY, 3/4 X 29"

BOSS, 2"PIN X 3.75"

BOSS, 2' PIN X 4.75" PACKER
BOSS, 2"1.D. X 5" LG

TUBE ASSY, 1 X 48.9375"

PIN, HERC EJECT

HOSE ASSY, 1/2 X 40"

GUARD, PUMP INST'L WX64
PLATE WEAR SHOE .375X5.75X17.5
HDWES00 375X5.75X95"WEAR PLATE
CHANNEL,FORMED TOP PACK SHOE
CHANNEL,FORMED BOTT. PACK SHOE
TUBE ASSY RH 3/4 X 90.3125"

$123.60
$209.44
$117.10
$115.32
$15.88
$70.78
$63.12
$71.94
$299.14
$90.72
$90.72
$44.68
$1,579.10
$20.76
$35.64
$155.14
$17.02
$153.60
$144.35
$148.21
$120.56
$130.08
$69.18
$12.38
$13.44
$87.72
$265.88
$265.88
$32.20
$185.70
$128.66
$117.48
$315.16
$88.38
$126.60
$153.88
$173.80
$178.76
$142.49
$79.24
$222.04
$1,376.42
$144.02
$302.53
$75.44
$69.74
$136.07



5P2104853
5P2104854
5P2104855
SP2104856
5P2104857
5P2104858
SP2104859
5P2104871
SP2104877
5P2104903
SP2104909
SP2104910
SP2104911
5P2104912
SP2104918
5P2104922
5P2104927
SP2104532
SP2104933
5P2105017
SP2105121
SP2105214
SP2105353
SP2105354
SP2105360
SP2105361
SP2105510
SP2105512
SP2105519
5P2105627
SP2105833
SP2105836
5P2105858
S5P2105862
5P2106104
5P2106165
SP2106202
5P2106289
SP2106332
5P2106342
S5P2106370
SP2106453
5P2106480
SP2106581
SP2106704
SP2106714
SP2106771

TUBE ASSY LH 3/4 X 90.3125"
TUBE ASSY RH 3/4 X 89.375"
TUBE ASSY LH 3/4 X 89.375"
TUBE ASSY RH 3/4 X 85.8125"
TUBE ASSY LH 3/4 X 85.8125"
TUBE ASSY RH 3/4 X 63.875"
TUBE ASSY LH 3/4 X 63.875"
TUBE ASSY 1/2 X 213.50"
HOSE ASSY, 3/4 X 39"
SHOE, TOP RESID.
CHANNEL, SHOE MTG RESID
HDWE 500 SHOE .375 X 3 X 48"
HDWE 500 .375 X 3 X 54"
HDWE 500 .375 X 3 X 84"
BRACKET, PUSHROD

TUBE, PUSHROD FORKS
RAMP, WEAR BAR
PUSHROD, FORK {RESID)
CAM, FORK POT

GUSSET

PLATE, 400F .25 X 76 X 81.50"
LIFT LUG ASSY

HOSE ASSY, 1" X 60"

KIT, FILTER HP RESID.

HINGE, GATE W.C.

HINGE, TAILGATE W.C.

HOSE ASSY 1.25 X 15"

HOSE ASSY, 1.25 X 66"

TUBE, SUCT LN 2.5" X 100"
SCREEN FRONT FL
BUSHING, PIN CONTAINER
SUPPORT, CLEAN QUT

TUBE, CONTOL/ARM REST MTG
BRKT, CONNECTOR MTG
ANCHOR, PUMP

BRACKET PUMP
GUARD TOE (PUMP)

SPACER HYDRAULIC TANK FL
PLATE FILLER

KIT HIGH MOUNT LIGHTS MACK

GUSSET PUMP BRACKET MACK LE

TUBE ASSY .50 X 81.50"
TUBE ASSY .50 X 146.50"
TUBE ASSY .50 X 65"

KiT, CAMERA MOUNT
BAR, WIPER PACKER BOTT
SEAL CLAMP

$136.07
$136.07
$136.07
$133.54
$133.54
$125.95
$125.95
$186.44
$131.94
$49.08
$239.90
$164.14
$94.38
$138.29
$19.60
$89.52
$30.14
$133.92
$87.26
$25.08
$3,139.88
$75.54
$448.04
$1,962.28
$46.56
$101.34
$391.42
$837.94
$244,58
$318.10
$67.58
$36.20
$21.98
$30.18
$105.52
$43.62
$3.82
$7.50
$9.66
$205.86
$17.20
$105.80
$157.42
$122.50
$121.30
$60.78
$21.34



SP2106772
SP2107241
SP2107480
5P2107481
SP2107579
SP2107842
SP2107880
SP2108003
SP2108013
SP2108096
SP2108097
SP2108135
5P210828

5P2108362
SP2108430
5P2108942
SP2108943
$P2109151
SP2109368
5P2109369
5P2109391
SP2105402
SP2109466
5P2109471
SP2109477
SP2109486
SP2105758
SP2109811
SP2109812
5P2109818
5P2109823
SP2109921
SP2109922
SP2109983
SP2109985
5P2109986
5P2109991
5P2109995
SP2109996
SP2109557
SP2109998
SP2110038
SP2110281
5P2110284
SP2110288
SP2110300
SP2110301

SEAL CLAMP

DOOR, SIDE SLIDING
SUPPORT, PIN BOSS
SUPPORT, PIN BOSS

DOOR, SUMP

TUBE, RH ARM ELECT. WIRING
TUBE, SLIDING SIDE DOOR
TUBE ASSY 1"X2.9' FORK EXT
SHEET, 10GA X 2 X 44.62"
BRACKET, SADDLE

SADDLE, RETURN LINE

TUBE ASSY 1.25 X 61"
ELBOW,HYD,LEACH
JUNCTION BOX ASSY

SHT. .124GR50 2.75" X 191.5"
PLATE, TANK BACKING UPPER
PLATE, TANK BACKING LOWER
SHEET 0.135X47.75X 76
TUBE ASSY, .75" X 46.4375 RH
TUBE ASSY, .75" X 46.4375 LH
PLATE, .25 X 16 X 83 100K
SHT. .098X3.625X5.625 50K
TUBE ASSY, 1.25" X 21.12"
SHEET, .124X12X53

PIN 1.5 X 8.625 CR1144
BRACKET, CONTROL MTG. AIR
KIT DRIVELINE

SEAL CLAMP

SEAL CLAMP

FILLER, GUIDE RAILEND CAP
ANGLE UNDERRIDE MTG

CHAIN 11LINKS 14"LG 1004TEST

TUBE ASSY 1.25"X69.5" MACK
FLAT BAR .25X1X20

KIT TANK CLASSIC

KIT TANK RESIDENTIAL

FLAT CRS .375X.5X4.875

MACHINED ROLLEX 39.5" CHANNEL

PLATE .1875X4.5X13

PLATE FLAT .1875X1.75X41.5
PIN 1.25DIAX3.25 1018
HEADER .25 PL

TUBE ASSY 1" X 162.438"

SHIELD ASSY CAMERA/LIGHT MTG

POST MID-BODY LH
NEW INBOARD CYL BOSS
OUTBOARD CYL BOSS

$9.16
$175.72
$38.10
$49.64
$65.78
$181.42
$30.68
$130.55
$13.76
$2.56
$107.96
$252.36
$72.04
$842.04
$60.78
$3.18
$3.18
$641.66
$129.04
$117.70
$310.00
$2.58
$187.46
$71.08
$57.04
$11.92
$753.12
$42.26
$22.36
$4.10
$19.88
$9.56
$265.98
$5.30
$7,633.08
$8,281.52
$11.00
$75.10
$9.12
$15.24
$14.94
$298.86
$294.08
$183.14
$442.24
$91.82
$73.20



SP2110302
SP2110303
SP2110304
SP2110305
5P2110308
SP2110309
SP2110311
SP2110324
5P2110352
SP2110357
SP2110363
5P2110381
SP2110512
SP2110514
5P2110645
5P2110648
5P2110654
SP2110674
SP2110711
5P2110712
5P2110713
SP2110735
5P2110738
S5P2110501
SP2110920
SP2111032
5P2111130
SP2111234
5P2111324
SP2111325
SP2111326
5P2111327
5P2111328
SP2111329
5P2111336
5P2111420
SP2111497
$P2111632
SP2111655
SP2111704
SP2111765
5P2111766
SP2111773
5P2111783
5P2111785
SP2111790
5P2111854

INBOARD MTG PLATE
OUTBOARD MTG PLATE
PLATE, SUPPORT

TURN SIGNAL BRKT
SPACER CYL MOUNT LH
SPACER CYL MOUNT RH
HINGE ASSY BOLT ON
SPACER CYL MTG FRONT
TUBE ASSY 1" X 196.438"
LADDER BRACKET

KIT SPRING MTG
RETAINER BOLT ON HINGE
PLATE .235X14X79.50 100K
TUBE HARDLINE 1.50"

HOPPER SHEET LOWER 1/4 100K

LOWER PANEL

BRACKET ARM REST

TUBE 2.50 MACK MR MLSM
TAILGATE LOWER SHEET 10 GA
TAILGATE UPPER SHEET 10 GA
TAILGATE SHEET 5.75 YD 10 GA
BRACKET MUD FLAP

HOSE ASSY .25" X 48"

LINER HOPPER A300-G300
SHEET SIDE LOWER
FOLLOWER COVER HINGE
PIVOT ACTUATOR MICRO
WEAR STRIP GUIDE

BOSS INBOARD MTG PLATE
BOSS OUTBOARD MTG

BOSS CYL OUTBOARD

BOSS CYL INBOARD

PIN PIVOT

PIN CYLINDER

KIT GATE MTD MUD FLAP
SHEET .25X2.50X82

LATCH SUMP COVER

COVER PACKER CYL

SWITCH LIMIT W/8 PIN CONNECTOR

BRACKET SOLENQID MTG
PLATE CYL REINF

BOSS ARM CYL

HUB FLANGE

PIN ARM CYL (RETAINER 2103645}

BRKT SIDE DOOR LIMIT SWITCH
ELBOW BULKHEAD UNION 1"
KIT FORK PROXIMITY SWITCH

$118.60
$86.12
$144.54
$4.66
$191.88
$24.98
$2,116.10
$14.86
$261.14
$11.64
$501.96
$11.68
$259.86
$377.02
$1,132.62
$142.10
$10.64
$131.42
$830.08
$830.08
$370.30
$31.42
$63.72
$579.38
$1,050.00
$214.04
$76.00
$49.14
$137.04
$66.48
$64.26
$108.66
$108.80
$64.06
$249.50
$83.64
$98.68
$55.66
$338.64
$6.54
$96.00
$19.92
$122.42
$38.46
$2.94
$50.32
$569.94



SP2111858
5P2111979
5P2112062
SP2112073
SP2112228
5P2112335
5P2112341
SP2112342
SP2112447
S5P2112476
5P2112477
SP2112480
SP2112552
SP2112604
SP2112659
SP2112715
SP2112716
5P2112781
5P2112821
SP2112829
SP2112832
SP2112866
5P2112885
SP2112886
5P2112977
SP2113143
5P2113252
SP2113253
SP2113286
SP2113295
5P2113296
5P2113297
SP2113298
SP2113301
SP2113313
SP2113314
5P2113349
SP2113350
SP2113354
SP2113406
5P2113414
SP2113425
5P2113465
SP2113466
SP2113474
5P2113475
5P2113480

HOSE ASSY .50" X 46"
BRACKET STRIKER DECEL
ELBOW SWIVEL NUT 1"

TUBE ASSY .50" X 36"

PIN REAR HINGE

SPACER W/TAP

BAR LOCK

PIN LOCK BAR

KIT LOW MOUNT STROBE
TEETH RETAINER
INSTALLATION RETAINER TEETH
GREASE MANIFOLD

SHEET SIDE FRONT LH 59.375 7GA
KIT CYL PIN GREASE

TUBE ASSY 1" X 68.062"
LEVER ARM SWITCH
BRACKET SWITCH MTG LIMIT
LEVER FORK

LIFT ARM ASSY

STEP SIDE DOCR

STIFFNER

PIN, BASE END PIVOT
CHANNEL WLDMT RH
CHANNEL WLDMT LH

Limit Switch Lever Kit

KIT LH JOYSTICK CONTROLS
PIN 2 DIA X 8.35"

COLLAR PIN RETAINER
FENDER SKIRT ASSY

PLATE OQUTER RH

PLATE QUTER LH

STIFFNER PLATE RH
STIFFNER PLATE LH

BRACKET ARM FORK CONTROL
LIGHT TRACTOR W/CONN

KIT CONTAINER LIGHT COMM
BEARING TORQUE TUBE
BRG.ASSY TORQUE TUBE 14"-LG
END PLATE CYL SUPPORT
BOSS 2" PIN X 5.375"

FRONT CHANNEL FORMED
BRACKET STEP

TUBE ASSY .75" X 195.125"
TUBE ASSY .75" X 185.875"
PIN GATE LATCH (KEEPER)
KEEPER PIN QUICK

REINF LONGI RH

$120.20
$1.16
$50.52
$108.38
$53.96
$14.12
$2.94
$3.22
$28.02
$149.74
$299.46
$6.44
$869.96
$480.56
$158.88
$52.30
$15.36
$50.38
$384.16
$30.74
$27.88
$50.60
$196.28
$196.28
$99.14
$2,466.06
$85.52
$41.14
$202.86
$57.82
$57.82
$10.86
$10.86
$8.46
$36.06
$164.74
$2,160.58
$1,450.62
$51.66
$124.02
$277.52
$19.78
$234.06
$227.42
$24.00
$51.44
$166.16



SP2113481
5P2113484
5P2113485
SP2113534
SP2113561
SP2113564
5P2113600
SP2113601
SP2113704
SP2113726
SP2113728
SP2113742
5P2113744
5P2113784
SP2113796
SP2113797
SP2113949
SP2114019
5P2114100
SP2114102
S5P2114116
SP2114166
SP2114475
5P2114481
SP2114537
SP2114863
5P2114864
S5P2114866
5P2114877
SP2114878
5P2114503
5P2114904
5P2114905
SP2114306
5P2114907
SP2114908
SP2114931
5p2114933
5P2114944
SP2114545
SP2114984
SP2114987
SP2115019
SP2115027
5P2115048
SP2115049
SP2115050

REINF LONGIT LH
RUBRAIL RH

RUBRAIL LH

HOPPER SIDE BRACE
TOP SHEET HOPPER SIDE
HOPPER BRACE LH
SHOE ASSY

END PLATE SHOE
ROUND .50DIAX14.25
TUBE ASSY .75" X 117.25"
TUBE ASSY .75" X 68.5"

KIT CONTROL/ARMREST LH MACK MR

KIT ARMREST/CONTROL MTG LH
INSTALL "J" ARM TUBING

LATCH PLATE ASSY LH

LATCH PLATE ASSY RH

KIT PRESSURE GAUGE

BAR FLAT, .25x4x6.88L
HEADER FL ROOF

PLATE FORK CYL MTG

KIT G370-25 FIELD UPDATE
BRACKET PACKER POSITION SWITCH
LIGHT BRACKET TG OVAL

WEAR BAR CHASSIS MTG
BRACKET TIPPER SWITCH MTG
LONG ASSY REAR RH 40YD
LONG ASSY REAR LH 40YD
UNDST ASSY REAR 40YD
RUBRAIL LH 40YD
RUBRAIL RH 40YD

ANGLE FORMED PACKER RAIL 34YD
ANGLE FORMED PACKER RAIL 40YD
ANGLE GUIDE RAIL TOP 34YD
ANGLE GUIDE RAIL TOP 40YD
SHT .25X5.38X58.44 100K

SHT .25X5.38X76.44 100K

ROOF SHEET 44

ROOF SHEET 24.25

SHEET 10GA .135X2X118 50K
SHEET 10GA .135X2X35 50K
PLATE HOPPER LINER

KIT HOPPER LINER G370

HYD UNDERST 40/44YD

HYD HOPPER DOOCR 40/44YD
TUBE ASS5Y .50X217

TUBE ASSY .75X216.5
TUBE ASSY .75X36

$166.16
$140.02
$140.02
$175.58
$526.88
$45.22
$340.96
S8.70
$2.54
$174.04
$144.54
$1,880.94
$172.56
$4,262.88
$292.48
$292.48
$304.98
$6.96
$120.98
$206.54
$1,758.90
$14.26
$5.94
$105.20
$21.44
$999.72
$999.72
$2,187.99
$105.94
$105.94
$95.14
$214.74
$157.97
$282.70
$73.24
$118.28
$719.86
$393.72
$54.64
$11.68
$3,768.92
$4,265.40
$1,981.92
$649.80
$100.92
$162.70
$34.88



SP2115159
SP2115168
SP2115283
SP2115330
SP2115331
5P2115332
5pP2115410
5P2115411
SP2115412
5P2115626
SP2115627
5P2115714
5P2115928
SP2115999
SP2116349
SP2116350
SP2116359
SP2116588
SP2116602
SP2116606
SP2116657
SP2116661
SP2116718
SP2116726
SP2116727
S5P2116728
SP2116799
SP2116821
SP2116823
SP2116859
$P2116995
SP2117156
5P2117184
5P2117185
5P2117197
SP2117306
SP2117399
SP2117472
5P2117580
SP2117581
SP2117583
5P2117588
5P2117589
SP2117590
SP2117595
SP2117619
SP2117659

INSTALL HALF SUMP
BRACKET SOLENOID REG MTG
KIT, DUAL STROBE LIGHTS
KIT FILTER HP

TUBE AS5Y 1.25 X 36.812
KIT VALVE INLET NO FILTER
GUIDE TOP LEFT FRONT
GUIDE TOP RIGHT FRONT
GUIDE TOP

BODY PROP LEFT

BODY PROP RIGHT

HOPPER & FORK INTERLOCK OPTION

HOSE ASSY .50X29

BOSS PIN SWEEP CYL

LATCH PLATE OUTER

LATCH SUPPORT

LATCH SUPPORT BOTTOM

4 STATION AIR VALVE KIT
SPACER BAR, CAB SHIELD
INSTALL-FRONT CAB COVER
SWITCH MTG BRACKET/GAURD
SWITCH INSTALL
INSTALL-LADDER & EXT
BRACKET-LADDER PIN
BRACKET-LADDER MTG

QUICK PIN ASSY, SPRING LOADED
PLATE MNTG- BOLT ON STEP LH
FRONT POST, LH

REAR POST ASSY, LH
ASSEMBLY-SWITCH W/PLUG
DIRT ALARM ADAPTER
TUBINE-ASSEMBLY

SHEET-F/L UNDERSTRUCTURE
SHEET-F/L UNDERSTRUCTURE
BRACKET-LADDER MTG
ASSY-ARM BUMPER BRACKET
QUICK DISCONNECT

TUBE ASSY-1" 90DEG,6.5"x14.25"
ASSY-HOPPER DR PROX SW
ASSY-SWITCH & BRKT
BLOCK-PLT MTG

ASSY-SIDE DOOR SWITCH
KIT-INSTALL-PKR POS PROX SW
ASSY-PACKER POS PROX SW
ASSY-TG PROX SWITCH

FL ELECTRICAL KIT (PROX SW)
WELD ASSY-TUBE & SCREEN

$359.36
$3.36
$751.70
$1,711.12
$80.69
$152.72
$81.60
$81.60
$212.52
$255.16
$255.16
$21.76
$151.98
$74.62
$127.56
$18.08
$12.02
$1,538.60
$29.36
$2,650.76
$2.90
$247.34
$938.08
$0.42
$2.08
$98.62
$5.82
$226.74
$184.46
$102.10
$39.98
$13.98
$1,094.62
$524.40
$2.08
$49.28
$1,312.80
$42.42
$242.34
$222.92
$69.64
$274.30
$870.00
§241.14
$240.30
$4,730.44
$477.48



SP2117700
$P2117701
SP2117702
S5P2117703
SP2117739
SP2118034
SP2118263
SP2118368
SP2118369
SP2118370
SP2118372
SP2118397
5P2118399
S5P2118433
5P2118442
SP2118455
SP2118456
5P2118458
SP2118502
5P2118531
5P2118532
SP2118541
SP2118589
SP2118611
5P2118635
5P2118637
SP2118638
SP2118639
SP2118681
SP2118701
SP2118708
5P2118714
SP2118716
SP2118718
5P2118733
SP2118735
SP2118736
SP2118739
SP2118751
SP2118752
5P2118770
SP2118780
SP2118783
SP2118799
5P2118820
5P2118821
SP2118822

JOYSTICK-BRACKET MTG
BRACKET-JOYSTICK MTG
BRACKET-CTRL BOX MTG
BRACKET-CTRL BOX

WIRING INSTALL, GATE, PROX SW
PLATE-JOYSTICK MTG MACK
ASSYTG PROP

TUBE-BENT 5/8"

TUBE-BENT 5/8"

TUBE-BENT 5/8"

TUBE ASSY-LH SHORT

TUBE ASSY- 1" VLV TO PACKER
TUBE ASSY- 1" PACKER FEED
KIT-ASL ARM ASSY HOSE

PLATE, 1/4x2x92 LONG AR400
ASSY, CARRIAGE ASL

PIN, ASL LIFT ARM MAIN

SPACER

TUBE ASSY-3/4" HOSE TO VALVE
LH CAB SHIELD SIDE BRUSH MTG.
RH CAB SHIELD SIDE BRUSH MTG.
CAB SHIELD BRUSH MTG.

CAB SHIELD WELDMENT EXT
ASSY-CNG TANK MTG RH

TUBE ASSY- 1 1/4" HIGH PRESSUE
TUBE ASSY-1/2", ASL-GRIP-3
TUBE ASSY-1/2", ASL GRIP-1
TUBE ASSY-1/2", ASL-GRIP-1
GUIDE-SVC SALES USE 2118681
COVER ASSEMBLY

CAM MTG.

TUBE ASSY-ARM RTN VLV TO HOSE
TUBE ASSY-1/2", GRAB CYL BOT
TUBE ASSY-1/2"TIP GRAB CYL TOP
HINGE PIN

HINGE PIN

CAM LUG BRACKET RH

TAPPING PAD

TRIP CAM-GRAB-LEVEL

LOWER ARM PIN

KIT-REMOTE GREASE EJT & SHLD
KIT-ASL DECAL

KIT-INST'S CNTRL VLV W/3RD SPL
SPACER DUMP CYL

TUBE KIT-ASL ARM

KIT, 4" CAM FOLLOWER ASSY

KIT, 2" CAM FOLLOWER ASSY

$187.08
$124.20
$132.76
$135.02
$1,844.00
$110.22
$346.80
$109.17
$113.07
$110.25
$110.37
$0.00
$0.00
$865.87
$86.00
$9,597.65
$100.06
$7.68
$31.10
$17.20
$17.20
$36.62
$496.62
$70.24
$98.57
$77.48
$77.48
$67.33
$8.92
$686.10
$18.64
$45.32
$89.33
$89.33
$367.50
$317.64
$421.32
$5.30
$1.06
$155.60
$1,169.96
$202.78
$297.80
$7.50
$468.23
$396.24
$171.06



5P2118835
5P2118836
SP2118838
SP2118839
SP2118340
5P2118845
5P2118868
5P2118873
5P2118874
5P2118875
5P2118878
S5P2118879
SP2118887
5P2118892
5P2118526
SP2118990
SP2118991
SP2115003
5P2115006
5P2115008
SP2119009
SP2119049
$P2119086
SP2119095
5P2119110
SP2119120
SP2115121
SP2119127
S5P2115130
5P2119141
SP2119147
SP2119148
5P2119149
SP2115183
5P2119220
SP2119230
SP2119231
SP2119253
$P2119263
SP2119314
SP2119316
SP2119323
SP2119388
5$P2115406
SP2115450
SP21159509
SP2119517

TUBE ASSY-1/2" ASL-TIP CYL
UPPER ARM HARNESS FOR LIFT
CLEAN OUT DOOR WELD ASSY
TUBE ASSY-ROD END EXT CYL
TUBE ASSY-BASE END EXT CYL
TUBE ASSY -1" PACKER FEED
SEAL, ASL CLEAN QUT DOOR
ANGLE- HOPPER SIDE BRUSH MTG
BRUSH, HOPPER CONTAINMENT LONG
BRUSH- HOPPER CONTAINMNT SHORT
CHANNEL, BRUSH MTG-LONG
CHANNEL, BRUSH MTG -5SHORT
BRUSH SPILL GUARD ASSY-ASL
FRONT SIGN

TUBE-ASSY, 1 1/4" HIGH PRESS
FENDER FRONT

FENDER REAR

KIT-RRETURN LINE PLUMBING
TUBE ASSY-1 1/2"TRN LINE EXT
HOSE ASSY-1" 37DegMSTR&F45 ELB
HOSE-2" SUCTIONxX55"L
HARDLINE KIT-A300 TIPPER
GENERIC SET-ASL SIGNBOARDS
ASSY-EXHAUST DEFLECTOR

KIT-3 PC 1/4" HOPPER FL LINERS
PIN COLLAR

PIN, CYL LIFT-DUMP-GRAB
KIT-TRAP SIDE LIGHT

ADS-SPEC OILFILTER ELEMENT KIT
CAM LUG BRACKET LH

TUBE ASSY-1" PACKER FEED

TUBE ASSY-1" PACKER FEED
TUBE ASSY-A" ARM FEED

ASSY, PRESSURE SWITCH
CAMERA BRACKET

HOE BRACKET UPPER

HOE BRACKET LOWER
INSTALL-TUBES & CLAMPS

MTG PL-ASL, RELAYS UNDER SEAT
BRACKET, SPILL KIT

SPILL KIT ASSY

KIT, PARTIAL RAISE

RELAY COVER, ASL, MACK MRU
BAR- 1/4x1 1/2x92L

KIT, ASSY-GRAB ARM SENSOR
TAILGATE HEDDER

COVER PLATE, PIN

$89.37
$525.00
$334.60
$12.06
$40.30
$52.82
$79.58
$29.36
$55.84
$28.00
$24.00
$15.78
$244.58
$131.34
$455.53
$9.76
$13.62
$1,511.70
$232.08
$138.00
$155.76
$753.62
$198.26
$329.50
$2,139.00
$11.32
$7.14
$126.96
$1,042.82
$421.32
$41.40
$41.78
$64.40
$161.28
$108.70
$22.40
$20.16
$426.36
$11.14
$146.10
$462.36
$7.921.60
$18.08
$61.60
$178.29
$1,187.64
$7.82



5P2119649
SP2119661
SP2119823
SP2119923
SP2119980
SP2120009
5P2120053
5P2120254
SP2120317
SP2120323
SP2120367
SP2120460
SP2120567
SP2120902
5P4120021
SP4120022
5P4120032

PLATE-TOP SECTION COVER
BROOM KIT, FRONT LOADER
BRACKET-ADAPTOR RTN FILT

ASSY, PACKER RAIL, RH
INSTALL-CAB DEFLECTOR/AUTOCAR
IN CAB COVER

WEAR BAR, PACKER COVER

INSIDE HOPPER LADDER

CNG VALVE COVER

UPPER SUPPORT ASSY

HOPPER LADDER AND DOOR
ROLLER ASSY

ASL HYDRAULIC TUBE

KIT, HOPPER TRANSITION INSTALL
TUBE ASSY-1/2", ASL-GRIP-1

TUBE ASSY-1/2" ASL-TIP CYL
FORMED/MACH 81" ROLEX CHANNEL

$55.38
$476.10
$10.40
$1,193.52
$1,978.10
$92.98
$104.94
$1,954.32
$12.78
$193.54
$2,345.64
$126.77
$198.82
$983.12
$33.76
$31.10
$0.00



